A WORLD LEADER IN MECHANICAL PIPING COMPONENTS

SHURJOINT PIPING PRODUCTS

SIONAOYJ ONIdIJ INIONINHS

2008 General Catalog

N
o
=}
o
0
@
>
@
=~
o
Q)
QO
—
o
o
Q9

i :
SHURJOINT

www.shurjoint.com

o INIOfANHS &




Data chart

12

J2H XO|E

- o 1=

T2X| ZEHX|OMEHE]

37

7t ZE|

W & FYHONZ

57

62

KS/JIS 72AE THo|m B2 E128 7R
AlBAE!

Water Treatment, USA




Connect with the Best!

SHURJOINT

A world leader in mechanical piping components

PAST TO PRESENT: ti71Lizt Do AIAHS 204]7] Z4t H20lA
32 WHEIEU, LAY, SURBY, SYTUI 22 MYl nojx
RenAln} ge) l7hiZ Tl FEMAR 19 JIAYT 34 F9FS 018
si0f B0t 20 W2 ZeE 4 USLICL B4T YR Y| A4
BN I7HZ TOIT FlAlol M2 B2 AB[Hot} HNE Aelus
ABsoEM MED Chyst MZol e Hegls

Zt

0| ALE UASUCH

IOJE AJARIS 128 XOIE,

Qs 27| HiL
a0 U o x9lE,

ZRIE ZOIEC} HZHLIZ

ayi=)

mkm
N
=]
[=)
[=

Plain-end
ZOIETF ZEtE|o]

SS 304 potable water line

A WORLD LEADER : Shurjoint= 30 04| Z¥e=z m7tLz

Mol AAHI HE H dAQ MFFAZM YD UASLICL FAs EA
28, AH I°|El* ?‘EI PVC, HDP, HEIY FE5 Zelet 25007 0l&Q]
HEZE St AsLC

THE SHURJOINT MISSION: 2= 40l Mgt blmshe 24
3 12 MplAt g & AMPSl TASH HAol HMES BFskn UBLIC
Qe HEIE MU0 270 YUFO MET SHAHSl Haluug U
AI717] UM AR EXIZ Bt UL

Hamilton Health Science Center, Canada

SHURJOINT®

5 SHURJOINT®

Etisalat Tower, Dubai

Typical Applications

HVAC Reverse Osmosis
Fire Protection Desalination
Water Supply & Treatment Mining
Plumbing Marine
Municipal Gas
Food Processing Chemical
Pulp & Paper Oil
Agriculture Air

THE SHURJOINT CATALOG:

2 7= gAY YEHERl HMZES Alstn

olon| 2C} KIMSH X122 USHAIH SAte] B
O|X| www.shurjoint.co.krg &ZstA0 25
MAIHE gl -.‘?-A, AHHI0|E ME 52 ZiME)
= UBELCH ol2et FHHEYIE 6H 1
HM= At x1E3tE Zaddt otRE

WA =2l2h YU B

2
U

4> HI n> 0

o
ot



IGN FEATURES

“—

:\'\"’SHURJONT GROOVED PIPING SYSTEM

\ Shurjoint 222 7}0]3 A28 71§ HHH0]2,

FAF oI, W 5 gl HEF o] AEL T
Zo] WLk} 2EHE F AAA0] Tl E Pk
$Joll 712U ZSIES] 3L A} LA S
2 7 HlT, T2 BAE FJ5A] BES) YES
Anslz, 1451 2FFH

|

ZRUEE S YA Hlusty 3~Atl e = EX|
gurh. «idoiM= EEE glen SEAl 220 it
HedsHA| ot UL, LAR of g9l x|z B2
= ZQIEE ot JHe| #X| E=

T Frwwwr "
A
"'""ﬁ.':::
LA Al
e e,
e W e
wE e w o - :!:-. “
et gl b B8 ¥ S A
wir ¥ yy e T — -
Wi W oy e | -
wiw o wwpy reves E
'.;,.A-'.'- euwer- =

o - - P:::’ | "

-

gwert] |
'--I'—:.-',-: | -

-t r
= e

2l
>k
E
o O

it
g
oz

ZE2 HES ZEl0f
AHE MESIY L&
USLICL DRE AAES LA}
sixsks Aoz =aiet &0 7

SOl Ha2[ZUck

ol
rir
128

ol
=il
|'9.Er

ox 2
1o
M
[m
o
s
NE|m
N
val
u
ol

olr
9'|_|
2
=
e
oz
oY
e
=3
HT

I

.
.
1

l

- . D
— ..--f'v'.r' Bt = =
— P ——— T = wr L~ ¥i -
y e PO P " WY P -
"t—-;_-""'- _"'.!r!‘-'".-" 1
o | p— fﬁ'_'";.-t.' =l e | -
4!——-'?;:"1':: P, Do : o
1y ‘:-‘ 'r;::,rr':- :‘:":l —
] e A -
: e er” #;
B — w e TR ey, TV, gt A
{ ‘-‘ - p— o e

55
45
—
—_—

B
b
\




5 SHURJOINT®

Q! THO|T MBI - WE bl

A ARIE JREEY S3Eery Zx|Ered LIAFEFY

33| THO|ZE LIAR|A

)
ko
o
=

H|AB = Jjo| X E= | molm x|} Q7E.
g% A7t @7, mo|z 20| E7keo]
| e ZEQ LEQ| An | mat Xo| oy
HAL AlZH0| AH|E Mctst sl Q1=
=1 9]¢ 3 £t 7158 27158 27158 27158
AR TUNME mojzZo| M| 9|4g Q10| 2 Zax|et mo|T XIS S 4
- AAdF3t el STon SHETE Y3 | HRIS Y3t B2 = E28 B2i0| TR
- Host Klgimzio] WeE | 27| TR
- 1 N
i Ul HOIER Riefs)| 2y s r0|u Lol Al HOIER Refsy| | Mx| 3 mo|zo| elxof
- . g0[3t HOIE XI0| Of2fS 20/ HOIE XS 42
- ‘,. HA 6 A‘] o (=} L I:I o (=} L = .
g o B EH A QB LIAIERY LS 4]
e o o =1
=4M o Fzol g
e
-:—T:—i:t‘ =z [e) Eﬂ ] o Al =) =) =3
= e S R e 48 VEE UEE VEE
HOUO|LE TR HE | EIRUM BHAE HEE S22 M | iRl 43Tyt o7
Z23tg) o At 42 Mx| | BumIL 22E, U THAX7H 4R LAt
= e NEE AlZEo= SolE | X-Ray ZADH 27F
: SHA L K 0 e ofzig B Z2H20) SR | LEMERY, LRAKRAL
A 2 A 42, AlAglo] 255Y U HR 0D ofzie | mISH ZztoR ol
0 Lot
& , 23 47| © HI8TIL | Jholo) 8F 4¥t 27 4B ME MEZ0| 27K55tT,
&| 7] 8 u)g Wt 42, J2/1 el #5x QA007| G20 HZ xelo] ZWX 94 | BE xelo| XABoA
il . o AN M= MZR0| 7k | Relof s BosEIZE | 0l7| W20l Kol e | OIROIXI7| mhEof ey
_— , Lt TILst7 |7} Lt o that b7t et

= SHURJOINT®



IGN FEATURES

r\\ﬂucm OR FLEXIBLE?

\- Shurjoint 122 XQIEE= SEAt 1¥A
o= —E—TEr?:.*LIEf olo| CtE? |, o
L2 W&ol 28 llfOI”' ANABIS &
MAXILE HXIXIE st L8RLCH AAX

ct,
ojo[g et A|AZS| OI"*I—'} S EY
g A Yuo,

R
) =g

SAL S 71R] ERY

M ARSI

Olafiaor otz AlAH
it AXIXE 228

T UEE =9

Angular Axial displace- Rotational
movement ment movement
23l +& 4 | Mx|
R 2 A = =T
- mm 3™
7705,7706, 7707
O LAl ZO|lE > 10 , , ,
TS &Y= 21 16-3.2 Yes $5-8, SS-8X
g | <r <16 No 705, 707, C305
TAA]
34 T&G <r | <16 No | K9,7771, 557, XH-70
ZRAE
L BS
Butt-joint | <0.3°| <08 No R20
NOTE 1) 8"Lt & MO|=2| RFA! Z0IE9| F§l Ztz= 0.5 0|0{0F FL|ct

8"
2) 25 U BY

HolEl= & 2R mtolzof 2Lt

nEsINES]IS

(RIGID COUPLING)

L5d RUEE HFHR FHAH ARHL

Shurjoint 1A ZRIEE= HEHMQl TAHR|EIY, STEIY, LIAMEIY
o2 DEN MEWA eFE o MEste MEY 4 USLHCH
RE UPA ZRIEE J|AML dAet 1EEE MiSstE OFEA gis
A2l £ 220 25 /E517| B0l MYz o|IHX|HA 1o
o] FE2l= Aol gt Heds ERUSLICH nFA ZIE= HX|
2 3 #5 { UY, s B2 HoE » AsUch 1F
A Z0IEE 252 HEHez da| AZguUrt

%aucr Butt—]omt IXREfRIS 70@
IHNE HZshe mo|mo| LTS Ato|of
E H

ol BrUct,

I
0z
ob
Rl
5

#R-20 Butt-joint
Rigid Coupling

e YSWE FTXEIY: X0IE
ZOX|H ZO{ELE AR
A3mc HEHo| ool ¥
XHA Y2 322 BT
ogEUC

o T&G TEEHY : T&G (Tongue and
Groove) 2= %‘%Ré* ZEE "o
ot IHA RQIEM 7|AIM0|H OH
N AS FUE MSELC Shurjoint
o HUst £ 7|22 mo|myt MR|g
AS [ Metal-to-metal HEHIAIS 5

Butt-joint -ZEHY : Butt-joint &=
ofo|T UTHE Af0|2 ES HMHAIA
-.-|_||:|- ja1l:|§ —Tlan 2|x-|°5

(ML)
HotofLet 5 ¥ W9 A
EiE ofsi FLich mojmZe|
£ F= IR A o]
oo|ZE Sot RAM7t S8
LICH HX1E of RQE= &4
Metal-to-metal HgHAl &

B % 2lLick (Buti-joint 729 HEHS 27| SIsiMs Tojzi
IED BEe Koz Mo st

SEREIS

E (FLEXIBLE COUPLING)

Shurjoint R&A ZRAEE ZTzH A3S E4sin Xy 22
ZR0IM 2ol =&AL Eof ’51 0| 7IsiLitt, Rads =3
St A9l HE2 LIAEIY, SHXIEY, S8HEf 22 71&89
A HEtEH T H|wsto] O|RQLIC REA XRAER MAITUS of
IS SHS MOE=M AlAHN MES NEZEES & £ G
LIct. (Anchoring, hanging and supports= 66H0/X|S &z

5IAI7] HEELICH)

gl
n
il
~
M
rlo
50
ofn
1z
[
ro
m
mujn
10
ot
x
og
=2
B
i)
ful
09
ot
L
o
>
[>
m

SHURJOINT®



OLEA
mS=

NFPA 132 Of2fiet Z2 L8 w2t &

“SXiEl X0IEQ} MEIZE = 2 TWA

3|H mo|=off Z0] L{X]

T X OO,
BT HOIZ 1°0/40] FES 48 + YBLILL FF 8704
ofo|=ZojM Z&2 1°0/8k 0.5° & Zzj8ko] S1EELICt”

(NFPA 13-2007 3.5.4)

ol 7IZo0i| <2
O[X[oflA CHEEXQI

=] A
= T

ol

—

M-
0| HMKLHIAl
oo

xR
f= RN

o

B AAE

51 SHURJOINT®

ASHA|7| HEZLICE

E‘Ilgg kl7:”8|'0:|0|:

gitct. 62|

AZZ=P AJAHINIM, NFPA 132 RS54 ZQIEJH O{ZA ofCiof
ABEE AQUX| FHZQ! OlE MAISHH XTI HAYSZLRE] AlAH
S HESF A Ol ARHHS AtAE| =OorALIC M
2 H53 4 U= ABHS M EUBLICL AR MR 0 Foxie
Coupling
S Ax O] 1§ [5]]
ZEZE & &= U WA (P 7705 & 7707)
74 == 2 Wi - == 2 Wi
T+ 4 _ () T A - (8)
FEUT L= HeZE =l
EEMO|Z | 4FH2Z mmy/in Z9E oo|= HEZAOIZ | 42 Lo zoE oo|=
mm/in mm/in Degrees mm/in, in/ft mm/in mm/in Degrees mm/in, in/ft
20 26.7 16 18 150 159.0 3.2 40
6° - 46' 2°-18
0.75 1.050 0.0625 142 6 6.250 0.125 0.48
25 334 16 96 150 165.1 3.2 39
5°-30' 2°-14
1 1315 0.0625 116 6 6.500 0.125 0.47
32 42.4 16 76 150 168.3 3.2 38
-20' 2°-10"
1.25 1.660 0.0625 0.91 6 6.625 0.125 0.45
40 48.3 16 66 200]JIS 216.3 3.2 30
3°-48' -42
15 1.900 0.0625 0.80 8 8.516 0.125 0.36
50 60.3 1.6 53 200 219.1 32 29
3°-0tr 1 - 40'
2 2375 0.0625 0.63 8 8.625 0.125 0.35
65 73.0 16 44 250 JIS 267.4 3.2 24
2°-30' 1°-22
25 2.875 0.0625 0.52 10 10.528 0.125 0.29
65 76.1 16 42 250 273.0 3.2 23
20-24" 1°-20'
25 3.000 0.0625 0.50 10 10.750 0.125 0.28
80 88.9 1.6 36 300 JIS 318.5 3.2 20
2°- 04 r-uo
3 3.500 0.0625 0.43 12 12.539 0.125 0.25
90 101.6 16 31 300 3239 3.2 20
1 - 48 - 08
35 4.000 0.0625 0.38 12 12.750 0.125 0.24
100 108.0 3.2 59 350 355.6 3.2 18
3°-24' ©-02
4 4.25 0.125 0.71 14 14.000 0.125 0.22
100 114.3 3.2 55 400 406.4 3.2 16
3°-12 0°-54'
4 4.500 0.125 0.67 16 16.000 0.125 0.19
125 127.0 3.2 50 450 457.0 3.2 14
2°-53' 0° - 48'
5 5.000 0.125 0.60 18 18.000 0.125 0.17
125 133.0 3.2 48 500 508.0 3.2 13
20 - 46' 0°- 44
5 5.250 0.125 0.58 20 20.000 0.125 0.15
125 139.7 3.2 46 550 559.0 3.2 1
20-37" 0° - 38'
5 5.500 0.125 0.55 22 22.000 0.125 0.13
125 141.3 3.2 45 600 610.0 3.2 10
2°-36' 0° - 36'
5 5.563 0.125 0.54 24 24.000 0.125 0.13
NOTE: Z/th A 0| 7lsijE o o5 ¥ W2 izt ot
Fazizt FIE7} (et gl Z90) 518 4 9= Hellol Hckxlz EUc

SHURJOINT®



SHURJOINT 2 XOIE MOjH AJAE

§3o] BrFs 5L 22 B3H7] ofef2 Fpof oy

ol so]z Fepy ik

£ 2255 D0IZ 9IZ0] HXIHLE THOIE SRt Y
ZE &2l0] ofFSLich 147(350m)2ct 2 § 22E 1
OlZ= x5t =70 S|t ERSHH S0| Hafg 4 U
Lick 0.375°(9.5m)2ct £HS HiZ S To|ZE B
J2H9} HAKOE ] gELICE I3 Z2 Shurjoint
g ZOIE THOT AIAHS EHZsPY thHE + YBLIC

24 Y HMiSE g 2 mojz 2R XS YU s
mojz ZEHE 92 17 JIAAS g2 = 7AYo Z221E 512
S = 2 St =E°t HEES HMZyUCh 28E AlAH0
MEEE CY 7IA2 mo|Z 2ol EEXCz ZggLch &2
SHOILE SN BTE + UCH XQUE SRS AFEAM
HE2g 4 AL

Main Weld

v
S \{Qx‘w

o 2T E12 A B,C,D,E Tk G ACfEC o FFHQl 87

Shurjoint R-88 2 ZPIEL: 2lo| HaiRE0| 2 18ERC}
O 37| }20 & 2FE AAHD} H < AnstA HMZdE

Ltk Acht 8% g2 & 220 Fereio] 2na3s o 7 4 9

oHd o —
st

Ring Joint

Roll Groove

R>d

ZQIEE= ASTM F14762] Typell Class1
2 FEELO J2l0 AWWA C606<

o 2S¢ AE E= A Ao MBE +~ UsHC

MH

o EYY2 £ JRH RUEQ U=H-24bar(350psi), AFZ2UZ 350mn

~B00mn (14" ~24" )2t O 2 YHS &2 £ UBLICH

1o

3% £ IR RUEM 2 4 QU= To|Z EHY 87IFL =2
Al [¢]

SHURJOINT®



51 SHURJOINT®

SHURJOINT PLAIN-END 101" AJAE
228 el 83 B LhAERle) aTER o

[e]
3%

79 "Wildcat” ZQIE= AE mo|Zof H7L|Z Moz M7
UCh X0IEE moj=of 1Y sl 1 % Z2E HEE #n
87| MZA=l= Case-hardened* jaw0| EXIQILICY, CE JIAALS

7
ofo|z Eoll s8Xo= gL ch(* 14”(350mm) Ct 2 770]
Jaw= 17-4PH AHQI2|A AEZ OIS0 ZLCH

=y |

Hardened Steel Jaws ZQIE 3127
(7= 2¥9)

R NES

HDPAl2IZ ZQIEE= HDP (1 EZ|0iEd = Z2REH)
(F=: <HB 150) o

ojo|zof w21 A MXF M'ﬁl-ltf HILEA 7t3E ool

249 79 Plain—End RS E AE|== HDP mo|=of ATsH MZELLCH CH 7IAHS mlojz

Z2H0| 8oz MeEUr of2{st ZQIE= 17t & sl &H|,
t

7(
g0
Si2i0] Si= 28, 2SR 1Uko] OEt TR SLIC

* SDR 32.5~7.3, HDP W0|ZE HZFILIC

I= = = ARSI UEL|C
Hardened Steel Jaws * PVC E= |' IMHE -— °|'X| (1= | |'

(s 299 o F315/0f Q= HDP Tjo|mo| SDRo| YSZ0| X3t |o1 QuaLict
(HDP ZOIEL FBHE/0f Qi HDP T{o|ZECt T2l ZE 4 Qi
MA=IGALDH

* 2'~20"(50m~500mn)2| AIO|=S 018 4+ UELICH,
e HBIS0EL ZE=rt #2 AE MO|ZLO| AFES AL
2

o Z2tAE| HDP, £ EE Brile I0|ZE HASHK| &LICH Shurjoint 7721 22|12 7722 H7IL|Z El= ASTM 7I1Z* 9|
o 7201l w2t 750psi(52bar)2Ct 2 HDP mjo|=of AF8E 4 UABLICH
o 2'~20/ (50m~500m)2] AJO|=S 0|83 4 ik (*1SO 7IZ2] HDP moO|Zo= MGEIX| &Lic

e Hardened steel jaws(1Z= J82)E wst
= 2 olaLrt
=2 T M- .

SHURJOINT®



SIGN FEATURES

=
A\*—H o™ AJAE

\

Shurjoint 7 7|5 AILHE W7 7] 7]
H3ee U5 5 YER T Ao YR
o] go] Baglon To]g AAHE $7] s 4
et

Shurjoint H7ILIZ E| BY 7721 J2|1 7722= 2F0
el gA 2718%0| JIssot=s siELICh HA =gt 2o
TS £4LICL H7HLZ Ele Yol Y4 Zat gz x|

HAl ELC) ot SE7t A6t HEE
2, S ot FE THAAL oo thstol

0= =
0§ AxstA FetELch

on
I

r}i

3+ 1 =1
Ze sz

ke B

EECIEEE

= 594

Model 7721C

723 ME-3l HIFILIZ El= A
Z

AmE= =L Short risers, Drops
J2|1 AOIX|Q] &F HZof 0|42l

Outlet TIEF LTt

EEERETE

=g 723 &% WrhdZ H

ol
it
L

7| MEF

Shurjoint £ £7] 7G5 dElo] w2t 5% 2o
LAJERRL0 2 ZHHsHA B AR elE S o F4

Shurjoint 74 FLIH4 =7] D|E2 M1, Exjof He=of HIE
2 2% & WA A A0I=9| S HEATE EREUCE 74= 1/27,

ch
3/4" a1 1" A=Vt the 2 ARElE AYMAUS flof A=Y
gUC 0l23t 27|18 = +30ILt ASetE 82 EXE + UsUCh

o ULOI M|7|=m, FMoll 21 NFPA 132

27 A2 S5EL

e Shurjoint 2 22 EE £ 7{80f 0|82

4 st

J%E EtYYl ti7E HEA
= 71, 72C, 72R MZ0| At8 7t
gt

29 74 fUHY 8] W%

SHURJOINT®



51 SHURJOINT®

el
Ho
foxa}
4
rir
=2
N
Il
I~
[ia}
]
HE
ra
k=]
I
o
18]
]
=]
N
[>
S
1o
o=}
[oxT
=2
H1

HEIY FE: EE X0EQ 523t
#Hol24lo] MES ASTM A536 Gr.
65-45-120{ 2|7 HM=E=n QUELICH
Grade 65-45-12 HEIY F=9| 7|HH
HEE 65,000psi (448 Mpa)2| Q1%

g, 45,000psi(310Mpa)el =Z%E, 12% S XU, A
FE2 Soff 22 Soil AB=l= ASTM A395 Gr. 60-40-18¢]
HEtY F29| MEE HSELC

AHQI2|A AR PAk= ABKIY 2

M Ve Hoil mat Cish RRe| ARQIR|A AL

; l 4 t F22 MBstn YsUL BE X0E

/ o HO0|S4/9| A2 ASTM A7437|&

ol 2|7 CF8(304), CF8M(316) E=

CF3M(316L)2t 22 mMEo| SZELIc E5t 2205 Duplex 12|11

ASTM CK-3MCuN(UNS J93245), 254SMO2t S&SxZ(254SMO
£ Avesta Polarit AQBS| SEAH).

T HF ZOEQ Bo[S4lQ MER
= THEZA ASTM B584
7ol Qg ShurjointAte] HEHZ
= ANSI/NSF 619 780 2|7 ULOIA
Mot W4n +86°F(+30C)RE 24
+180F(+827C)0ll AIZELIC,

Q
ir
[oal
ofn

U20lE : BF XR0IEY HO[S4|9 FHS ASTM B-26 Alloy
No. 356-T62/A HMZ=ELIC,

ORIIAZ

1o

Shurjoint= AFEAIS| CiYst 271 SH40| £335t0]
12 JtAE BAst ER AIEE AA HMEstn §
U St SE st 2o

|

mo|zo| HY=TAM 712 712

TIAZZ AHH| H2olA 7|

WSELIE D A0

>

[

0x
Boor o
un mo rov

SHURJOINT®

=

ST SI9AEU DRAS WY Yoz olgEs 22
S 7

= — = =
D8 JtANS| Q0| 18 ZEE0 ASHCE 2 Y Y
TS LBoHA| BfUCt Eot His =@ g uf WYSt= 254m

=E¢ HE

Shurjoint2] MZH AL

Se BES MU0
o £ geot 17w 8 A

2t LEE 7|20 Heistn C@}
QELLL EFX 2EO| MES e —

|

LP/W \
ASTM A183 Gr. Bol Zsiti 2 s
AQIMZEE 110,000psi(758MPa)

Utk ZEE Oxel ayn IS st UsU £t 880t
dEg 2E - UEE AKES Bel2 HBst s, 2= =22
S0 HAE SRS Ut ZEQ Yol B A0 HR|/ATH
2 52 4 U2 so] ABAl BAIS SIaEAL

Shurjoint| AH|QIZ|A ZIEN= AH|
212|A 304 12| 316 EY ZEQ HE
7b MZELCh 304xEe EE= ASTM
A193 B-8 2|1 304 MAEQ HEE=
ASTM A194 B8oll 2/7 MZE. 316 SE2
ME2 ASTM A193 B-8M 316 HEYQ
THEE2 ASTM A194 BBMOI| 2|A X,

A stainless steel bolt
fastened with a silicone
bronze nut

Blel ABJOIZIA BhRIO SUOA F7I
o2 3ot 20| 0120{RI= ZRE EBEY HE| O o3t
SH7L 55 SMBLICL TN 0f2f3t ZR0l= HAZ HEX LE

£ MEgeezM siZ7IsELct,

=2

Shurjoint? &&xds 2
okol MZEIZM NSF2
HMELct 2

i
0%

EI;'(|
T Tl
[}
=

rlo 4o
kI ro

rin Ok 40 O

3

N
5 e
1o
HT
ol
rr
> [0
rhu
o
o
e rir
>

Ho
o
e
+
12
re

FOIL' al

rlo
N
|>
[m >3
]
0 2
A 1o
o Ex
o rlo
o X
TR

om o9 18 Mo
o ox Mo
i)
4
ro

18

jLct



A o o

Shurjointe] MZ ¥ 20|= EXQIE(LIoyd's Register Quality AmElg
Assurance)?| 1ISO 9001 T80l o7 MAtzD QUELICE Of2{sh Ait Amaga]| #g
HMZ2 UL, cUL, FM, Vds, LPCBOIE CISE|0| Qlom Eot 0= Akt I5= HELCE
&m CANADIAN STANDARDS
ABS CcsA 7

American Bureau of Shipping

Canadian Standards Association B-242

AFSA
American Fire Sprinkler Association

AMTA
American Membrane Technology Association

(anst
ANSI
American National Standards Institute

AN

ANSIVAWWA
American Water Works Association
C606-04

ASHRAE
American Society of Heating, Refrigerating
and Air Conditioning Engineers

ASME

American Society of Mechanical Engineers
e Power Piping, B31.1

o Building Services Piping, B31.9

ASTM

American Society of Testing and Materials
¢ F 1476-01 Couplings

e [ 1548-01Fittings

o F 1155 Shipbuilding

CAGBC
Canadian Green Building council

@2

e S

DLEG
State of Michigan Board of Mechanical Rules

APPROVED
FM
Factory Mutual Research Corp. -
Approved for fire protection services

(arifo)

IAMPO
International Association of Plumbing &
Mechanical Officials

&

IFSA
International Fire Sprinkler Association

FESC
Japan Fire Equipment Safety Center

2 2(AFSA), S A4 §2I(NFPA), HLCH LEE

(CASA) 12|71 =ZH| Al Amal=a 33 Sojx

é’ﬁ SJ'F/Q’

WATER QUALITY
NSF

ANSI/NSF 61Drinking Water System
Components-Health Effects

:BUILDINGS

NYC MEA

New York City Department of Buildings,
Material & Equipment Acceptance

M NewYork Pow
< Aﬁmuririy o

NYPA
New York Power Authority

PED
Pressure Equipment Directory 97/23/EC

G@US
LISTED
UL
Underwriter's Laboratories, Inc.-UL213

ULC
Underwriter's Laboratories of Canada

LLOYD
Lloyd's Register Quality Assurance
1SO-9001:2000

LPCB
Loss Prevention Certification Board
I1SO -9001:2000

LPS-1219

NATIONAL.

FIRE

SPRINKLER
ASSOCIATION, INC..

NFSA
National Fire Sprinkler Association, Inc.

<7/ ASSOCIATION

CASA

Canadian Automatic Sprinkler
Association

[»]
NFPA
NFPA
National Fire Protection Association

NFPA 13

SHURJOINT®

USGBC
US Green Building Council

T5LS

TSUS
Technick a skdobn Gstav stavebn, n. o.

Vds
VdS Schadenverhuetung - VdS 2100-6 :
2003-5 (01)

Water Environment

'
Preservi & ek,
e o e e

ASSUCIALE MEMBLR

WEF
Water Environment Federation

WRAS

WRAS Water Regulation Advisory
Scheme




DATA CHART B SHURJOINT®

DATA CHART NOTES

3 7 mmi 3|R°é|j o :: e B T &4 EE 2E |zg
= 2= = =
mm/in 2 < St8e Zth= mm/in ERESS ooz A B c Af0| = Kgs/Lbs
mm/in Bar/PSI Kn/Lbs mm/in mm/m, in/ft | mm/in | mm/in | mm/in N-m/Lbs-Ft
m B B O ® ] ] © [
(1] 724 Shurjointl Zt& ZOIEQ} H0|24l= B IPS H0|Zo) 5] 3t/ : E OFE 71202 XOIE HZA| YMzlE oio|z
QIX| = U2[O|E| AIO|=S| #ZAS WHELICH Z2Hol {4
Ojo|Z Q|A : AA mo|mo| QIX| 2|1 LUz(ojE At0|XE (6] B2k 2 12 2 7|F0=2 mMo|Z ZMMOIM ZojX|=
HAIRILICH ZOIEQ| |l 58 =&, HE OFHO| 32 did #X|9 F
7t
Z|tH5I2YUE : d47|= Aoi6lE Y £ ROEE JtA0|
&i&st= WL ZCisi® =S ANSI/AWWA C606-97 FA: A B CCE3t 20| By|E 20| x4 Ualn|Eg}
T st E ORE L= HE IFE WA9 5F mo|Z oIz 7|=
SPP 42 Ei= Sch 409 AR O|ZE 7|F02 MEE £X|
gHE. 2 2= UL, ULC, M HIAS JE 22 5 Hol= EEAO|X : QIx|Et9lo] ANS| ZE Aj0|x, Z0|2 £|
AEfol et HEE -’F A& 7|Et &5 HolE ¥ mol=
Sl M2 MY 2 YA 29| Higiith 9] BEER3: R0IEJ} 0|Axo2 HZAE|7| Y3t Lbs-Ftet N-m
Note: 13l0f Bl ARl BRI AFBSH= E|AE f2iS Hlo|g HRR ENE ERI U
HO|M LIEtL= ZQIEQ| ALZRI2{O] 1 5HH7X| A& 4 QUELICE

5% Wd 522 25 UE, 1 JANS TG F0E
B XE0N B7IE AiE26) Ful Set2 of 7|%, 22

RIS : xolE9| Go| 231t Pound £

2 7|E 128 Ee= E J2E SN s 7I8E BEFAQ

Z# E= Sch 40 ZHS 7IE22 ANSI/AWWA C606-97

Tl oA ZQIEJ 518k B9 W - AH JhsiXl= &

g X8
Fomot
35 TEI 2 X0EQ ZF 2N 29| th= ZOIE U ol ZlEt200f R4, 2A|, X HOlE, J2|1 £ CHE MBI
ol ARz 7tAZO| olsto] 2 RHEELICL Shurjoint 71AZ M HAIZ0f UELICL Shurjoint= AGIRG0] 7ICHR29] HE AR
B 7t0|=0f & 7IRH=I0f QELICE 2 WY HElE JIX|T JUFUC
ALBEE : Shurjoint 128 ZOIE= BF i Sch 40 A2 T Ol FTI2I0) JIRIE aks MEQl 80| gLt 1SS
0|25 AtE3t0 MAELICHYR DRI HM<2l). Shurjoint 7ICHET AHQ0| 0| YA 517|250 TREH THRALICH 0|5
OlM E0iFR0] EItE ASYE WM AISE 4 UAsUCh 0l9= malst0l MEQ XIZ AFR517| st OfE Al T12{5t ¢

°*01| Xﬁ H 4 e J2is ME822RE Lillst= ofmdh Zutol

FIk21 Aol ABYURIS CWP,
74 E= S, gol A, £

o
0=
4y
2
0>
s}
1o
a2
il
e
L
im}
El
=)
[El
_I_
J

ru

= MAUS Mop & AYUCh

| ZOIE Mo|X0| 30| $HE 4
Q&L Sch 10S J2/1 552 22 e AgolalA AL mjojz
S N8E 22 SHs| Foor LI o Y2 molmo| Mg

Alol= MS ojofEf7t EQELIC

SHURJOINT®



L airfel dxl= ANSI B31.9, B31.9
& NFPA 132] #3oll ZELICt Shurjointe 2 7072 #E 7t
A% C'Y ElY = Gapseal 7MAZIS REHSIO] CHYSH ZZA0MIA]

=
MEE 4 U=E SFoi USUCE

- C
[
c
A2ALOIZ 1 32mm—600mm/ 1-1/4"-24"
A3 : 52bar / 750psi 0|4
1-1/4" ~ 12" 20" ~ 24"
74 | momey | A E zoe 2 L 53
- : 2 Z|cH=H Al A B C )
mm/in mm/in Bar/PS| kN/Lbs mm/in mm/in mm/in mm/in | NO- mm/in Kgs/Lbs
32 422 52 7.21 0~12 68 105 47 M10 x 55 0.7
125 1660 750 1620 0-005 268 413 185 2 3/8 x 2-1/8 16
40 483 52 9.48 0-12 74 5 47 M0 x 55 09
15 1900 750 2130 0-005 291 453 185 2 3/8 x 2-1/8 20
50 603 52 478 0-17 36 120 8 MI0 x 70 ]
2 2375 750 3320 0-0.07 3.39 472 1.88 2 | 3/8x23/4 2.4
65 730 52 2171 0-17 100 140 48 MI0 x 70 iR
25 2875 750 4875 0-007 394 5.50 188 2 | 3/8x2:3/4 2.4
65 761 52 23.60 0-17 102 146 8 MI0 x 70 2
25 3.000 750 5300 0-0.07 400 575 188 2 | 3/8x2-3/4 26
80 88.9 52 2.4 0-17 5 157 18 M2 x75 4
3 3.500 750 7215 0-0.07 453 6.18 188 2 1/2x3 31
100 14.3 52 53.11 0-~41 147 199 54 M12x75 2.0
4 4500 750 11925 0-016 578 7.83 213 2 1/2x3 44
25 1397 52 74.05 0- 41 75 235 54 M6 x 90 30
5 5.500 750 16625 0-0.16 6.88 9.5 213 2 5/8 x 3-1/2 6.6
25 413 52 Bl 0- 41 77 235 54 M16 x 90 30
5 5.563 750 18225 0-016 6.97 9.25 213 2 5/8 x 3-1/2 6.6
150 651 78 103.44 041 200 259 54 M6 x 90 32
6 6.500 700 23225 0-016 7.87 10.20 213 2 5/8 x 3-1/2 71
150 683 78 107.48 0- 41 203 263 54 M6 x 90 32
6 6.625 700 24130 0-016 8.00 1035 213 2 5/8 x 3-1/2 71
20085 216.3 42 54.25 0-32 264 340 64 M20 x 120 69
8 8.516 600 34158 0-0.13 1039 13.39 250 2 | 3/4x4-3/4 15.2
200 2191 42 155.89 0-~4.8 268 342 64 M20 x 120 71
8 8.625 600 35000 0-019 1055 13.46 PIED) 2 | 3/4x4-3/4 157
25015 267.4 3 196.45 0-32 321 397 65 o
10 10528 500 43504 0-013 12,63 15.63 256 2 7/8 x 6-1/2 24.2
250 2730 35 20221 0-32 327 431 65 103
10 10750 500 45400 0-013 12.86 16.98 2.56 2 7/8 x 6-1/2 229
300 JIS 318.5 28 22297 0-~32 372 452 65 --- 12.0
2 12539 400 49369 0-013 1465 17.80 256 2 7/8 x 6-1/2 26.4
300 3239 28 22715 0-32 377 780 65 18
2 12750 400 51000 0-013 14.86 18.88 256 2 7/8 x 6-1/2 26.0
350 3556 7 7120 0-32 208 505 73 49
14 14.000 250 38485 0-013 16.06 19.89 287 3 7/8 x 5-1/2 328
400 406.4 7 223.60 0-~32 467 554 73 --- 18.7
16 16.000 250 50265 0-013 1839 2184 287 3 7/8 x 5-1/2 412
450 7572 7 283.00 0-32 525 607 76 246
18 18.000 250 63615 0-013 20,68 23.89 3.00 3 7/8 x 5-1/2 54.2
500 508.0 i 34930 0-32 582 698 76 305
20 20.000 250 78540 0-013 2293 27.47 3.00 4 1x3-1/2 67.2
500 609.6 7 50330 0-32 667 803 78 346
24 24.000 250 113000 0-013 27.05 3161 3.06 4 1x3-1/2 46.2

SHURJOINT®



51 SHURJOINT®

ZOIE ZA| HHHZS SaAM MZat
b 0| UELICH MZEL} A
NFPA 13 Sprinkler Systems2| &0 [ E LIC, °f el EE MA
Z W21 42 Swing-over HX|E & 4 UBLICH

AF2ALO|Z= 1 32mm—-200mm/ 1-1/4"-8"
AL2e3 : 24bar/ 350psi 0|4

o

WZ == WEDT AR Swing-over HXIE
=13 _/'\_ o]

QA AAAS LT

=2

7 4 Tolz 9/ - E.. 282 S ge 7] 5 g
; ; 18 a-||:H ==a1 Z|tiRA A B C )
mm/in mm/in Bar/PS| KN/Lbs mm/in mm/in mm/in mm/in mm/in Kgs/Lbs
32 42.2 24 3.37 0-12 66 102 46 M10 X 55 0.6
1.25 1.660 350 757 0~ 0.05 2.60 4.00 1.81 3/8 x 2-1/8 1.4
40 48.3 24 4.42 0-~12 72 109 46 M10 X 55 0.7
1.5 1.900 350 990 0~ 0.05 2.83 4.29 1.81 3/8 x 2-1/8 i3
50 60.3 24 6.90 0-~17 85 nz 47 M10 X 70 0.8
2 2.375 350 1550 0~0.07 3.35 4.61 1.85 3/8 x 2-3/4 1.7
65 73.0 24 10.11 0-~17 98 132 47 M10 X 70 0.9
2.5 2.875 350 2270 0-0.07 3.86 5.20 1.85 3/8 x 2-3/4 2.1
65 76.1 24 1.01 0-~17 100 136 47 M10 X 70 1.0
2.5 3.000 350 2475 0~0.07 3.94 5.35 1.85 3/8 x 2-3/4 2.2
80 88.9 24 14.99 0-~17 113 148 48 M10 X 70 1.2
3 3.500 350 3365 0-0.07 4.45 5.83 188 3/8 x 2-3/4 2.6
100 108.0 24 221 0-~41 142 176 54 M10 X 70 1.6
4 4.250 350 4963 0-~0.16 5.59 6.93 2.13 3/8 x 2-3/4 3.6
100 4.3 24 2477 0-~4.1 146 182 53 M10 X 70 19
4 4.500 350 5565 0~ 0.16 5.75 7.17 2.09 3/8 x 2-3/4 4.1
125 133.0 20 28.91 0-~41 170 224 54 MI12 X 75 23
5 5.250 300 6491 0~ 0.16 6.69 8.82 2.13 1/2x3 5.1
125 139.7 20 3172 0-~4.1 173 227 53 MI12 X 75 2.6
5 5.500 300 7125 0~ 0.16 6.81 8.94 2.09 1/2x3 5.7
125 141.3 20 32.45 0-~41 175 229 53 MI12 X 75 2.6
5 5.563 300 7290 0-~0.16 6.89 9.02 2.09 1/2x3 5.7
150 159.0 20 40.98 0-~4.1 198 250 54 MI12X75 2.8
6 6.250 300 9199 0~ 0.16 7.80 9.84 2.13 1/2x3 6.1
150 165.1 20 44.30 0-~41 200 246 54 MI12 X 75 3.1
6 6.500 300 9955 0-~0.16 7.87 9.69 2.13 1/2x3 6.8
150 168.3 20 46.02 0-~4.1 203 249 54 MI12X75 3.1
6 6.625 300 10340 0~ 0.16 8.00 9.80 213 1/2x3 6.8
200 219.1 20 78.00 0-48 264 330 64 M16 X 135 6.1
8 8.625 300 17525 0-~0.19 10.40 12.99 2.52 5/8 x 5-5/16 13.4
200JIS 216.3 20 76.08 0-~4.8 260 340 64 M20 X 120 7.4
8 8.516 300 17079 0-~0.19 10.24 13.39 2.50 3/4 x 4-3/4 16.2

SHURJOINT®



OOVED COUPLINGS

T 77 e HF J|AAY, A R 2 E HEE =
510 ZH0| 27&= A T&G(
groove) EtY EEY 1Al ZOIEQIL

Al
2 oksol Afls DFA HZYH

5t
[=}

&
=
=
=
—

AF2ALO|Z= : 40mm-600mm/ 1-1/2"-24"
AL2YE : 52bar/ 750psi 014

C
P
- C -
114" ~ 12 20" ~ 24"
5 o c| Z0IE x|
74 (|momez| Id z 2 zoE H ge 37] 53
; : siger Hgas e A B c i
mm/in mm/in Bar/PSl KN/Lbs mm/in mm/in mm/in mm/in mm/in Kgs/Lbs
20 483 52 9.52 0-16 74 10 6 M0 x 55 07
15 1900 750 2130 0-0.06 291 433 181 3/8 x 2-1/8 15
50 60.3 52 14.84 0-16 85 126 46 M0 x 55 0.9
2 2375 750 3320 0-0.06 334 4.96 181 3/8 x 2-1/8 19
65 73.0 52 2175 0-16 99 148 46 M0 x 55 12
25 2875 750 1870 0-0.06 3.89 5.82 181 3/8 x 2-1/8 26
65 76.1 52 23.64 0-16 102 150 46 M0 x 55 12
25 3.000 750 5300 0-0.06 4.00 5.90 181 3/8x 2-1/8 26
80 88.9 52 32.26 0-16 15 170 46 M2 x 75 15
3 3.500 750 7210 0-0.06 4.52 6.69 181 1/2x3 33
100 108.0 52 47,61 0-4.1 141 193 51 M2 x 75 22
4 4.250 750 10630 0-0.16 5.54 7.59 2.00 1/2x3 28
100 4.3 52 5333 0-4.1 148 198 51 M12 x 75 22
4 4.500 750 11920 0-0.16 5.82 779 2.00 1/2x3 28
125 133.0 48 66.65 0-4.1 168 247 51 M6 x 90 27
5 5.250 700 15150 0-0.16 6.61 972 2.00 5/8 x 3-1/2 6.0
125 139.7 28 73.54 0-4.1 173 249 51 M6 x 90 29
5 5.500 700 16620 0-0.16 6.80 9.80 2.00 5/8 x 3-1/2 6.4
125 1413 28 815 0-4.1 175 250 51 M6 x 90 29
5 5.563 700 17610 0-0.16 6.88 9.84 2.00 5/8 x 3-1/2 6.4
150 159.0 28 95.26 0-4.1 194 272 51 M6 x 90 36
6 6.250 700 21460 0-0.16 7.63 10.70 200 5/8 x 3-1/2 8.0
150 165.1 28 102.71 0-4.1 200 280 51 M6 x 90 35
6 6.500 700 23220 0-0.16 7.87 102 2.00 5/8 x 3-1/2 77
50 168.3 28 106.73 0-4.1 205 280 51 M6 x 90 35
6 6.625 700 24120 0-0.16 8.07 102 2.00 5/8 x 3-1/2 77
200J1S 216.3 ] 150.58 0-4.1 254 346 61 M6 x 135 6.9
8 8,516 600 34160 0-0.16 10.00 3.62 2.40 5/8 x 5-5/16 15.2
200 219.1 4 154.50 0-4.1 261 346 61 M6 x 135 6.9
8 8.625 600 35040 0-0.16 10.27 3.62 2.40 5/8 x 5-5/16 15.2
25015 267.4 35 196.45 0-4.1 310 386 64 M20 x 120 9.0
10 10.528 500 43500 0-0.16 12.20 15.20 2550 3/4 x 4-3/4 19.8
250 273.0 35 204.77 0-4.1 316 414 64 M20 x 120 9.0
10 10.750 500 45360 0-0.16 12.44 16.29 2550 3/4 x 4-3/4 19.8
30015 318.5 28 222.97 0-4.1 354 444 64 B.2
2 12.539 400 49370 0-0.16 13.94 17.48 2550 7/8 x 6-1/2 29.0
300 3239 28 230.59 0-4.1 360 468 64 3.2
) 2.750 400 51040 0-0.16 i4.17 18.42 2550 7/8 x 6-1/2 29.0
350 355.6 20 198.53 0-3.2 213 502 76 4.5
14 14.000 300 46160 0-0.13 16.25 19.76 3.00 7/8x 4 319
200 406.4 20 259.30 0-3.2 460 565 76 16.0
16 16.000 300 60290 0-0.13 18.11 2204 3.00 7/8x4 35.2
450 457.2 20 32818 0-3.2 521 619 79 7.0
18 18.000 300 76300 0-0.13 2051 24.37 3.1 7/8x 4 37.4
500 508.0 20 405.16 0-3.2 581 683 79 24.0
20 20.000 300 94200 0-0.13 22.87 26.88 3.1 1x3-1/2 52.8
550 558.8 7 41671 0-3.2 622 720 79 265
22 22.000 250 94985 0-0.13 24.49 2835 3.1 1% 3-1/2 583
600 609.6 % 295.92 0-3.2 689 784 79 27.0
24 24.000 250 113040 0-0.13 27.12 30.86 3.1 1% 3172 59.4

SHURJOINT®



51 SHURJOINT®

_|
Qo
92

S| e ot tongue & groove)

| BEY 0FA RQEQLCE 1Y oY ILEI T&G M7ILIE
il
E

3
@
[S}
A
ol
0E
1=
mjo
Qi
0l
o
-
o
|'|.|_|.
M
4o
=°||='
|.|-|-|
o
]
o
i
i
E
ko
ol
Rl

oLIC,

DN150 12|12 DN200 K-9H Z=QIE 0|Ae] ZE DIN ANO|=
K-9 ZQIE& Vds, cULus 12|1 FMO| £QI=A&LICt,

ALZALOIZ : 32mm-200mm / 1-1/4"-8"
AL2e3 : 20bar / 300psi 0|4

\— No interference

grofL} &2 F1Z9l A ILEII'_ E|01|
K- E

ol
=
MR 24 K-9= 2E TEQ
o247t gaLct
% z EOIE X%
7 momey| A Sl SeE - = 5 2 37| 5 u
mm/in mm/in Bar/PSI kN/Lbs mm/in mm/in mm/in mm/in mm/in Kgs/Lbs
32 42.2 20 2.80 0-1.6 65 102 45 M10 X 45 0.6
1.25 1.660 300 650 0~0.06 2.56 4.00 177 3/8X1-3/4 13
40 48.3 20 3.66 0-1.6 71 108 45 M10 X 55 0.6
1.5 1.900 300 850 0~0.06 2.80 4.25 177 3/8 X 2-1/8 13
50 60.3 20 5.71 0-1.6 83 124 45 M10 X 55 0.7
2 2.375 300 1330 0-~0.06 3.27 4.88 177 3/8 X 2-1/8 1.5
65 73.0 20 8.37 0-1.6 938 137 45 M10 X 55 0.8
2.5 2.875 300 1950 0~0.06 3.86 5.39 177 3/8 X 2-1/8 1.8
65 76.1 20 9.09 0-1.6 102 140 45 M10 X 55 0.8
2.5 3.000 300 2120 0~0.06 4.00 5.51 177 3/8 X 2-1/8 1.8
80 88.9 20 12.41 0-1.6 114 151 45 M10 X 70 1.2
3 3.500 300 2880 0~0.06 4.50 5.94 177 3/8 X 2-3/4 2.7
100 108.0 20 18.31 0-3.2 137 219 51 M10 X 70 17
4 4.250 300 4250 0-0.13 5.38 7.00 2.00 3/8X2-3/4 3.6
100 4.3 20 20.51 0-3.2 143 184 51 M10 X 70 1.7
4 4.500 300 4770 0-0.13 5.63 7.25 2.00 3/8 X 2-3/4 3.6
125 133.0 20 27.77 0-3.2 166 219 51 M12 X 75 2.1
5 5.250 300 6490 0-0.13 6.52 8.61 2.00 1/2X3 4.6
125 139.7 20 30.64 0-3.2 172 225 51 M12 X 75 21
5 5.500 300 7120 0-0.13 6.77 8.86 2.00 1/2X3 4.6
125 1413 20 3135 0-3.2 175 228 51 M12 X 75 21
5 5.563 300 7290 0-0.13 6.89 8.98 2.00 1/2X3 4.6
150 159.0 20 39.69 0~3.2 191 246 51 M12 X 75 2.0
6 6.250 300 9200 0-0.13 7.50 9.67 2.00 1/2X3 4.4
150 165.1 20 42.80 0-3.2 197 252 51 MI12 X 75 2.4
6 6.500 300 9950 0-0.13 7.75 9.92 2.00 1/2X3 5.3
150 168.3 20 44.47 0-3.2 200 255 51 M12 X 75 27
6 6.625 300 10340 0-0.13 7.87 10.04 2.00 1/2X3 5.9
200 219.1 20 75.37 0-3.2 258 355 61 M16 X 90 4.4
8 8.625 300 17520 0-0.13 10.16 13.98 2.40 5/8 X 3-1/2 9.7
200 (K-9H) 219.1 20 75.37 0-3.2 261 339 63 M 20 X 120 7.2
8 8.625 300 17520 0-0.13 10.29 13.34 2.48 3/4X 4-3/4 15.8

SHURJOINT®



2Y XH-702 HAA
ZOIERM 1000psi(70Kgi/ar)o] 2t2ihzto]
XH-70 He] S T2 semet
TFHELT XH-702 Grade E(EPDM) E= G

Hg AISE 4 UL,

xO|EL

4=

20 mojmo) AR

rade T(Nitrile) 7tA

= 19 A
Aggld, e

£ gE Uez

2z mo|= £ # LW = ZQIE X|$ g E 2E EQ3 —
r?m/in }mlm/iilg S e 2= i A B c No. T34 N-m Kgss/Lclis
Bar/PSI kN/Lbs mm/in mm/in mm/in mm/in in Lbs/Ft
50 60.3 70 2.00 0-36 89 150 49 50 - 68 15
2 2.375 1000 4430 0-~0.14 3.50 5.90 1.92 2 5/8 x 2-3/4 37 - 50 33
65 73.0 70 295 0-36 102 178 51 - 50-68 1.8
25 2.875 1000 6490 0-~0.14 4.00 7.00 2.00 2 5/8 x 2-3/4 37 - 50 4.0
80 88.9 70 4.36 0-36 122 188 51 - 50-68 2.2
3 3.500 1000 9620 0-0.14 4.80 7.40 2.00 2 5/8 x 2-3/4 37 - 50 4.8
100 114.3 70 7.21 0-6.4 157 222 54 50 - 68 4.0
4 4.500 1000 15900 0-~0.25 6.18 8.74 213 2 3/4 x 4-3/4 37 - 50 8.8
150 168.3 70 15.63 0-~6.4 218 248 57 --- 80 - 120 8.0
6 6.625 1000 34450 0-~0.25 8.58 9.76 2.25 2 7/8 x 5-1/2 60 - 90 17.6
200 219.1 55 21.20 0-6.4 273 359 65 - 100 - 135 1.0
8 8.625 800 46720 0-0.25 10.25 14.15 2.56 2 1x 5-1/2 74 -100 24.2
250 273.0 55 3294 0-~6.4 336 431 70 - 170 - 275 14.0
10 10.750 800 72570 0-~0.25 13.23 16.98 275 2 1x 5-1/2 125 - 205 30.8
300 3239 55 46.26 0-~6.4 392 480 73 --- 275-400 16.7
12 12.750 800 102090 0-~0.25 15.43 18.93 2.88 2 1x 5-1/2 205 - 300 36.7
o XH-70 ZOAS DFA ZQIE-EP
AN
/ \
2 XH-70EPE= ZEZH = AlE=j0lE ZEEHA AL B Gkt
SELC E5t Sch 40 E= 809 AHQIA ZHT A 7t ~C-
SiLICH XH-70EPS] A% HMA OZH Ji3E Dio|Zot AHZA| ’]I
2500psi(175kgf/af)B=2| A=0l|lM AR 7HESEILICE EP 7tASIE
mo|Z HRo| ZYEE 2ES JIAN S YaE ESEE F4n @
M2 TN MAE: S AR NSl fAS 2HE N=y
size 4 Lo
oy FIA =
mm/in mm/in Bar/PS| kN/Lbs mm/in mm/in | mm/in mm/in | No- i Lbs/Ft | Kgs/Lbs
50 60.3 175 5.03 0-~48 89 150 49 - 50 - 68 15
2 2.375 2500 11070 0-~0.19 3.50 5.90 1.92 2 5/8 x 2-3/4 37 - 50 3.3
65 73.0 175 7.37 0-48 102 178 51 - 50-68 1.8
25 2.875 2500 16220 0-0.19 4.00 7.00 2.00 2 5/8 x 2-3/4 37-50 4.0
80 88.9 175 10.93 0-48 122 188 51 - 50 - 68 2.2
3 3.500 2500 24040 0-~0.19 4.80 7.40 2.00 2 5/8 x 2-3/4 37 - 50 4.8
100 4.3 175 18.06 0-~48 157 222 54 - 50 -68 4.0
4 4.500 2500 39740 0-~0.19 6.18 8.74 2.13 2 3/4 x 4-3/4 37 - 50 8.8
150 168.3 140 3132 0-6.8 218 248 57 80 - 120 8.0
6 6.625 2000 68910 0-~0.27 8.58 9.76 2.25 2 7/8 x5-1/2 60 - 90 17.6
200 219.1 105 39.82 0-6.8 273 359 70 - 100 - 135 1.9
8 8.625 1500 87595 0-~0.27 10.25 14.15 275 2 1x5-1/2 74 -100 26.2
250 273.0 85 5194 0-~7.1 336 431 76 - 170 - 275 14.9
10 10.750 1250 113395 0-0.28 13.23 16.98 3.00 2 1x5-1/2 125 - 205 30.8
300 323.9 85 72.51 0-7.1 392 480 76 - 275 - 400 210
12 12.750 1250 159515 0-~0.28 15.43 18.93 3.00 2 1x5-1/2 205 - 300 46.0

Pressure based on Sch. 80 EP cut-groove pipes.

SHURJOINT®




5 SHURJOINT®

=
ool gt Sl 2lstod FaiEL

[
S o
2 |
Bl
Wﬁ ro
>~
rr
0
L
™ Kl
L2 50
o mrEu_ rir
o
= 5
>
9|E
Q'E
=2
4n
um
o
=
um
o
ng
0lo
o]
>
0 Of

jtl
=]
rz B
= 00
njo
fim|
>
4>
30
rr
40
on
0x
k<)
Am
o)}
1o
in}
H
e
:1
O
<
10
>
0

LIct, 62H|0|X|A FS4A! Z2IEQ]
fLck,

o
mjo
MUz
X
ok
1>
o 30
o>

o
i
12
)
k)
0fo
)
i
>
Eﬂ
>
~
o

AF2ALOIZ : 20mm-200mm / 3/47-12"
AL2e3 : 69bar/ 1000psi 0|4

3/4"~12"
N com] 3 O] B E | apen EEE =OE 717 g = - -
o | Mon? | degE | s | TS g Tmem [ A T B [ C [ no | R | ko
Bar/PSI kN/Lbs (") in/ft mm/in mm/in mm/in . mm/in
20 26.9 69 379 16 118 54 95 46 M10 X 45 0.6
0.75 1.050 1000 865 0.0625 | ©°-4¢ 142 213 374 181 2 | 3/8x13/4 13
25 337 69 6.15 16 % 61 99 46 MT0 X 55 0.8
1 1315 1000 1360 0.0625 | °°~30' 116 2.40 3.90 181 2 | 3/8x21/8 17
32 424 69 9.64 16 76 70 108 46 MT0 X 55 10
125 1660 1000 2160 0.0625 | 4°-20 0.91 276 4.25 181 2 | 3/8x21/8 2.
40 483 69 12.64 16 66 76 124 45 M12 X 60 10
15 1900 1000 2830 0.0625 | 3748 0.80 3.00 4.88 181 2 | 1/2x2-3/8 2.
50 603 69 19.69 16 53 90 133 46 M12 X 75 12
2 2375 1000 4430 0.0625 | 3°-0T 0.63 3.50 5.24 181 2 1/2X3 26
65 73.0 69 28.86 6 44 102 165 46 M12 X 75 13
25 2.875 1000 6490 0.0625 | 2°-30' 0.52 4.00 6.50 181 2 1/2X3 29
65 76.1 69 3137 16 42 103 167 46 M12 X 75 13
25 3.000 1000 7065 0.0625 | 2°-24 0.5 4.06 6.56 181 2 1/2X3 29
80 88.9 69 42.81 16 36 124 71 48 M12 X 75 15
3 3.500 1000 9620 0.0625 | 2704 0.43 4.88 6.73 1.89 2 1/2X3 33
100 4.3 69 7076 32 55 157 213 54 M16 X 90 21
4 4.500 1000 15900 0125 | 312 0.67 6.18 8.38 213 2 |s/8x31/2 | 46
125 1397 69 105.71 32 46 186 241 54 M16 X 90 31
5 5.500 1000 23750 0125 | 2°-37 0.55 7.32 9.50 213 2 | 5/8x3-1/2 6.8
125 1413 69 108.14 32 45 186 241 54 M16 X 90 33
5 5.563 1000 24295 0125 | 2°-36 0.54 7.32 9.50 213 2 | 5/8x3-1/2 7.2
150 165.1 69 147.64 32 39 211 286 54 M20 X 120 36
6 6.500 1000 33170 0125 | 2™ 0.47 8.11 171.26 213 2 |3/4x43/4| 79
150 168.3 69 153.42 32 38 214 289 54 M20 X 120 37
6 6.625 1000 34455 0125 | 2710 0.45 8.24 1138 213 2 |3/4x4-3/4| 81
200J1S | 2163 55 202.00 32 30 276 356 62 M20 X 120 6.6
8 8.516 800 45545 0125 | I°-42 0.36 10.86 14.00 244 2 |3/4x4-3/4| 145
200 219.1 55 207.26 32 29 276 356 62 6.6
8 8.625 800 46720 0125 | I°-40 0.35 10.86 14.00 244 2 | 7/8x5-1/2 | 145
250)1S | 267.4 55 30871 32 24 337 420 64 10.2
10 10.528 800 69610 0125 | °-22 0.29 13.27 16.54 2.52 2 | 7/8x6-1/2 | 224
250 273.0 55 32178 32 23 343 425 64 10.2
10 10.750 800 72575 0125 | 1°-20 0.28 13.50 16.73 2.52 2 1X 6-1/2 22.4
300J1S | 3185 55 437.98 32 20 389 478 64 6
12 12.539 800 98740 o125 | -0 0.25 15.31 18.81 2.52 2 | 7/8x6-1/2 | 255
300 3239 55 452.95 32 20 390 467 64 12.0
12 12.750 800 102090 0125 | 1°-0¢ 0.24 15.35 18.39 2.52 2 1X 6-1/2 26.4

SHURJOINT®



F\\fﬂﬂ- 7707 72 D=y 9S4 X0IE

\‘- 350mm-1050mm/14"-42" Afo|xo| B& 7707 LH;%
A= LH-_r171 IPS llf0|“01| PNl

o|lE
L=

ES
=Xy

£ & OREE 4x/¢ N

=
[

2= ~87H9| $§9§ 2kl

nx
>~
n
32
>
i
iul
HI
rin
+ ’
Im
- FII’
ial
ol
e 0
re
uy
=
FE
ok
g"'
HT
0
mn
rmoaN

AEALO|= 1 350mm=-1050mm / 14" -42"
Ar2e3 : 20bar / 300psi 0|4

16"~ 24"
C
30" chilled waterlines
26"~ 36" 40"~ 42"
74 |gomez| B B | B B oqyey | FEE DA Lo 53
mm/in mm/in SIS e = mm/in SAE jo|= ) B c No. A Kgs/Lbs
Bar/PSI kN/Lbs () in/ft mm/in mm/in mm/in in
350 355.6 20 206 32 18 423 508 73 16.8
14 14 300 46158 0125 | 1°-02 0.22 16.65 20.00 2.87 3 7/8 X 4 37.0
200 206.4 20 269 32 16 483 568 73 19.0
16 16 300 60288 0125 | 0°-54 0.19 19.00 22.36 2.87 4 1X 3-1/2 418
450 457.0 20 340 32 14 540 619 76 20.8
18 18 300 76302 0125 | 0°-48 0.17 21.25 2437 3.00 4 1X 3-1/2 458
500 508.0 20 420 32 3 597 698 76 249
20 20 300 94220 0125 | 0°-44 0.15 23.50 27.48 3.00 4 1X 3-1/2 54.8
550 559.0 7 508 32 1 618 742 80 28.5
22 22 250 113982 0125 | 0°-38 0.13 24.31 29.21 315 4 1X 3-1/2 62.7
600 610.0 7 503 32 10 702 797 80 29.0
24 24 250 113040 0125 | 0°-36 0.13 27.64 3138 315 4 1X 3-1/2 63.8
650 660.4 7 591 32 756 860 27 66.0
26 26 250 132665 0.125 29.80 33.90 5.00 12 7/8X 4 145.0
700 711.2 7 685 32 313 920 27 82.0
28 28 250 153860 0.125 32.00 36.30 5.00 12 7/8X 4 180.0
750 762 7 787 32 864 972 27 95.0
30 30 250 176625 0.125 34.00 38.30 5.00 12 7/8X 4 209.0
800 812.8 14 895 32 914 1022 27 85.0
32 32 200 | 200960 | 0.125 36.00 | 4030 5.00 12 7/8X 4 187.0
850 863.6 14 308 32 974 1066 27 90.0
34 34 200 181492 0.125 38.30 42.00 5.00 12 7/8 X 4 198.0
900 9144 14 906 32 1016 124 27 96.0
36 36 200 | 203472 | 0125 40.00 | 4430 5.00 12 7/8X 4 211.0
1000 1016 10 839 32 1105 1245 146 123.0
40 40 150 188400 0.125 43.50 49.00 5.80 16 | 1x3-1/2 | 2710
1050 | 1066.8 10 925 32 1156 1295 146 140.0
42 42 150 20771 0.125 45.50 5150 5.80 16 1X 3-1/2 308.0
BE E 028 BAZLB BESH 00| (0.375'/9.5mm thick)S 274510] HAIGIRELIC
D2 UE Y=Ho| gl =Sk ZQIET} 5188 4+ U= A[thRIYLICH

SHURJOINT®




5 SHURJOINT®

DY 7705 HHE S0l UHHOl TOIY AAHS Tl
H AIg3H| Slet BEY REA OIS, BY 7705 KIS
xzlo| w0l xfgfst] HISY, HISY, ¥, A 12m ASS
T8 4 Sis RE40l ST 28 77059 AT 2M 4
BZ WA 4 UBLCL 20X REA ZIEQ UKol

AF2ALOIZ : 25mm=300mm/ 1"-12"
Ar2etE : 35bar/ 500psi 04

_ Y 2 o i e ZOIE R|H =2 = ~
72 momey | Hood | fuaf | B o FTooo A c 7 S B
mm/in mm/in Bar/PSI kN/Lbs mm/in (°) in/ft mm/in mm/in mm/in mm/in Kgs/Lbs

2 337 35 3.0 6 = a0 9% 57 100 6 M0 X 45 06

1 1315 500 680 0.0625 116 224 3.94 1.81 3/8 X 1-3/4 13

32 42.4 35 4.9 16 o 76 66 103 46 M10 X 55 07
125 1660 500 1080 00625 | 4720 | oo 26 4.06 1.81 3/8 X 2-1/8 15
40 483 35 63 16 N 66 72 108 46 M10 X 55 07
15 1900 500 1420 00625 | 34| 080 2.83 4.5 1.81 3/8 X 2-1/8 16
50 60.3 35 9.9 16 . 53 84 129 48 M10 X 55 0.8

2 2375 500 2210 00625 | 3701 0.63 331 508 1.89 3/8 X 2-1/8 18
65 73.0 35 14.4 16 - 44 99 142 48 M10 X 55 09
25 2.875 500 3240 | 00625 | £739| o5 3.9 5.59 1.89 3/8 X 2-1/8 20
65 76.1 35 1557 16 - 42 102 147 48 MIO X 55 10
25 3.000 500 3530 00625 | > | o050 4.02 579 1.89 3/8 X 2-1/8 21
65 88.9 35 214 16 - 36 16 169 48 MI2 X 75 13
25 3.500 500 4810 00625 | 2794 043 457 6.65 1.89 1/2X3 28
90 1016 35 28.0 16 s 31 129 200 52 M2 X 75 15
35 4.000 500 6300 | 00625 | "4 | o038 507 7.9 2.05 1/2X3 33
100 108.0 35 315 32 - 59 138 192 52 M2 X 75 9
4 4.250 500 7090 ons | 72| o7 5.43 7.56 2.05 1/2X3 4.1
100 1143 35 35.4 32 o 55 145 197 52 M2 X 75 19
4 4.500 500 7950 0.125 - 0.67 571 776 2.05 1/2X3 4.1
25 133.0 31 33 32 - 48 165 231 52 M16 X 90 23
5 5.236 450 9740 0.125 27746 g5 6.5 9.09 2.05 5/8 X 3-1/2 5.1
25 139.7 31 76 32 . 46 70 233 52 M6 X 90 26
5 5500 450 10690 0.125 2°-37" 1 55 6.69 9.17 2.05 5/8 X 3-1/2 57
25 1413 31 486 32 - 45 72 234 52 M16 X 90 26
5 5.563 450 10930 ons | 2730 o54 6.77 9.21 2.05 5/8 X 3-1/2 57
150 159.0 31 614 32 v 20 190 253 54 M6 X 90 3.0
6 6.250 450 13800 0.125 0.48 7.48 9.96 213 5/8 X 3-1/2 6.6
150 165.1 31 66.4 32 1 39 196 261 54 M6 X 90 3.1
6 6.500 450 14930 0.125 0.47 772 10.28 213 5/8 X 3-1/2 6.8
150 168.3 31 69.0 32 o 38 200 268 62 M6 X 90 32
6 6.625 450 15500 0.125 0.45 7.87 10.55 2.44 5/8 X 3-1/2 7.0
20015 216.3 31 114.00 32 - ay 30 254 348 62 M20 X 120 5.8
8 8.516 450 25620 0.125 0.36 10 137 244 | 3/ax4-3/4| 128
200 219.1 31 116.9 32 - a0 29 260 350 64 M6 X 90 5.8
8 8.625 450 26280 0.125 035 10.24 1378 2.52 5/8X31/2 | 128
200 219.1 31 116.9 32 — 29 266 343 63 M20 X 120 7.5
g V705K ggo5 450 26280 0.125 17-40 035 10.47 13.50 2.48 3/4X4-3/4] 165
250015 | 2674 24 346 32 - 24 337 220 64 M20 X 120 8.0
10 10.528 350 30450 0.125 17-22 0.29 13.27 16.54 252 | 3/4x4-3/4| 16
250 2730 24 1413 32 . 23 343 425 64 M20 X 120 8.2
10 10.750 350 31750 0.125 "-2001 oo8 135 16.73 252 | 3/4X4-3/4| 180
300JiS 3185 24 192.2 32 o 20 389 478 64 0.4
12 12.539 350 43200 0.125 0.25 15.31 18.81 2.52 7/8X6-1/2 | 229
300 3239 24 198.8 32 - 20 390 467 64 108
12 12.750 350 44660 0.125 -08" 1 g4 15.35 18.39 252 7/8X6-1/2 | 238

FHYL U2 =10] gl XS0 FOET} oS 4 U= AP
X0 i
x

DN150 Af0|= 0|9 2E DIN AtO|= 7705 2|1 DN200 7705H ZQIE= Vds ¥ cULus, FMOI| 2I5E HMIZ LT

SHURJOINT®



12 JIAHE 0|86t0] =40 T2 ooz S 2 METCeR 2
Asto] AR 7HsSEiLIC
j C
_ = o 2| A
o 7—.‘ njo|= 2]’3 ;J-ggrgii %Eﬂég EIEH%Z-‘ e EAL o= A Edi s - E 5 8
mm/in mm/in Bar/PSI kN/Lbs mm/in = mm/in in/ft | mm/in | mm/in mm/in mm/in Kgs/Lbs
40 x 32 48.3 x 42.2 24 2.80 0-~32 R . 33.0 72 108 46 M10 X 55 09
1.5 x 1.25 1.900 x 1.660 350 990 0-~0.13 37-48 0.40 2.83 4.25 1.81 3/8 x 2-1/8 2.0
50 x 40 60.3 x 48.3 24 4.40 0-32 N : 26.0 85 122 48 M10 X 55 0.9
2x15 2.375 x 1.900 350 1550 0-0.13 3-02 0.31 3.35 4.80 189 3/8 x2-1/8 2.0
65 x 50 73.0x60.3 24 6.85 0-~32 . ! 22.0 96 144 48 M10 X 55 1.2
25x2 2.875x 2.375 350 2270 0-0.13 27-30 0.26 3.78 5.67 189 3/8 x 2-1/8 2.6
65 x 50 76.1x 60.3 24 6.85 0-~32 R . 21.0 102 138 48 M10 X 55 1.2
25x2 3.000 x 2.375 350 2480 0-~0.13 224 0.25 4.02 5.43 1.89 3/8 x 2-1/8 2.6
80 x 50 88.9 x60.3 24 6.85 0-32 . ) 18.0 116 168 48 M12 X 75 1.5
3x2 3.500 x 2375 350 3370 0-~0.13 22-04 0.22 4.57 6.61 189 1/2x3 3.3
80 x 65 88.9x73.0 24 10.04 0-~32 2 - o 18.0 116 168 48 M12 X 75 17
3x25 3.500 x 2.875 350 3370 0-0.13 0.22 4.57 6.61 189 1/2x3 3.7
80 x 65 88.9 x 76.1 24 10.91 0-~32 . : 18.0 116 168 48 M12 X 75 17
3x25 3.500 x 3.000 350 3370 0-~0.13 27-04 0.22 4.57 6.61 1.89 1/2x3 3.7
100 x 50 114.3 x 60.3 24 6.85 0-48 . . 210 146 198 52 M12 X 75 2.4
4x2 4.500 x 2.375 350 5560 0-~0.19 22-04 0.25 575 7.80 2.05 1/2x3 5.3
100 x 65 14.3x73.0 24 10.04 0-4.8 R . 21.0 146 198 52 M12 X 75 2.6
4x25 4.500 x 2.875 350 5560 0-0.19 224 0.25 5.75 7.80 2.05 1/2x3 5.7
100x65 | T114.3x76.1 24 10.91 0-438 o 210 146 198 52 M12X 75 26
4x25 4.500 x 3.000 350 5560 0-~0.19 224 0.25 5.75 7.80 2.05 1/2x3 5.7
100 x 80 114.3 x 88.9 24 14.89 0-48 N . 210 146 198 52 M12 X 75 2.4
4x3 4.500 x 3.500 350 5560 0-~0.19 2024 0.25 575 7.80 2.05 1/2x3 5.3
125 x 100 1413 x 114.3 24 24.61 0-6.4 . . 23.0 160 250 52 M16 X 90 3.8
5x4 5.500 x 4.500 350 8310 0-0.25 2736 0.27 6.30 9.84 2.05 5/8 x 3-1/2 8.4
150x80 | 165.1x88.9 24 14.89 0-6.4 o 20.0 202 269 52 M16 X 90 46
6x3 6.500 x 3.500 350 11610 0-~0.25 2714 0.23 7.95 10.59 2.05 5/8 x 3-1/2 10.1
150 x 80 168.3 x 88.9 24 14.89 0-6.4 R ) 19.0 208 275 52 M16 X 90 4.6
6x3 6.625 x 3.500 350 12060 0-~0.25 22-12 0.23 8.19 10.83 2.05 5/8 x 3-1/2 10.1
150 x 100 165.1x 114.3 24 24.61 0-6.4 . . 20.0 202 269 52 M16 X 90 4.5
6x4 6.500 x 4.500 350 1610 0-0.25 24 0.23 7.95 10.59 2.05 5/8 x 3-1/2 99
150 x 100 | 168.3 x 114.3 24 2461 0-6.4 o 19.0 208 275 52 M16 X 90 45
6x4 6.625 x 4.500 350 12060 0-0.25 -2 0.23 8.19 10.83 2.05 5/8 x 3-1/2 99
200 x 150 219.1x 168.3 24 53.35 0-6.4 . : 15.0 260 334 57 M20 X 120 7.6
8x6 8.625 x 6.625 350 20440 0-0.25 17-40 0.18 10.24 13.15 224 | 3/4x4-3/4| 167
200 x 150 219.1x 165.1 24 5135 0-6.4 P a0 15.0 260 334 57 M20 X 120 7.6
8x6 8.625 x 6.500 350 20440 0-0.25 0.18 10.24 13.15 2.24 3/4 x4-3/4 16.7

Fae ue ¥ ¢

rir

Zstof ZQUETH

SHURJOINT®




]
5 SHURJOINT®

_ S L= 15 = =l St= o {

G 28 °|_|X|_|‘_“"H'| —{Ol_lgl_ HHI'E 7E=h_ll' _EOHE ERE 0|'|_ 20" Al’g’a E“H‘i ?ﬁ%% cl)_p;l_% _(I)_lél_():i \’
LIc}. 5190] 3IX2 ZBHlof Q0] 2iHE |T ol Hoz i) 2301 Aml 52
HES & & UABLICHL ESH FMEIO] QL0 LLHQI SHHIE LXIFLICH ELCt, AAHM mio|

Split pin

28t OTIMEX] ABY

= - I?_IE T A _

74 | momeay | Hd Ehe - - = 2usg 2= 53y
mm/in mm/in Bar/PSI kN/Lbs mm/in mm/in mm/in ) Kgs/Lbs
40 48.3 20 0-16 75 18 47 3048 1.0
1.5 1.900 300 0 —0.06 2.95 4.65 1.85 2.2
50 60.3 20 0-16 86 121 48 3-01 11
2 2.375 300 0 -0.06 3.39 4.76 1.89 2.4
65 73.0 20 0-16 92 150 48 . 14
2.5 2.875 300 0 - 0.06 3.62 591 1.89 3.1
65 76.1 20 0-16 92 150 48 204 1.4
2.5 3.000 300 0 —0.06 3.62 5.91 1.89 3.1
80 88.9 20 0-16 119 163 48 20 14 1.8
3 3.500 300 0-0.06 4.69 6.42 1.89 4.0
100 114.3 20 0-3.2 165 205 52 3.1 2.7
4 4.500 300 0-0.13 6.50 8.07 2.05 5.9
125 139.7 20 0-32 189 253 52 20 - 37 49
5 5.500 300 0-0.13 7.44 9.96 2.05 10.8
125 1413 20 0-3.2 189 253 52 2036 49
5 5.563 300 0-0.13 7.44 9.96 2.05 10.8
150 165.1 20 0-3.2 213 278 52 20 14 5.8
6 6.500 300 0-0.13 8.39 10.94 2.05 12.8
150 168.3 20 0-32 216 281 52 2 - 10" 5.8
6 6.625 300 0-0.13 8.50 11.06 2.05 12.8
200 219.1 20 0-32 1 - 40 9.3
8 8.625 300 0-0.13 20.5
250 273.0 20 0-3.2 20" 12.5
10 10.750 300 0-0.13 28.0
300 3239 20 0-32 08' 28.2
12 12.750 300 0-0.13 62.0

2 77717 EMX|E RQIE= |PS MO[Z AIO|Z0A JIS AlO]=

TE=S0| 3 ol ZOIER HEE 4 YBUr EE HES Metal e TN
{ N
to metal HELAIS JHsap Slof 25t DHNS LA 47 ‘-\.)
CIRELICE oA ATHA M= IPS o JIS o Hets| HE S
- eppe
EIEE EHZ,:,'SL| |:|' Design
ojo|= 2/F 5 o oo
a2 3 EJQO EH "TIEH"‘IE_‘ =E A0|= 5 ¥
mm/in IPS JIS =i sy i B mm Kgs/Lbs
mm/in mm/in Bar/PSI kN/Lbs mm/in mm/in mm/in mm/in 9
150 168.3 165.1 2.4 25 6.4 200 270 53 MI6 X 90 4.5
6 6.625 6.500 350 12060 0.25 7.87 10.63 2.09 9.9
200 219.1 216.3 2.1 79 3.2 259 335 63 M16 X 135 7.0
8 8.625 8.515 300 17520 0.13 10.20 13.19 2.50 15.4
250 273.0 267.4 21 123 3.2 316 386 63 M20 X 120 9.0
10 10.750 10.528 300 27190 0.13 12.46 15.20 2.50 19.8
300 3239 318.5 2.1 173 3.2 367 448 63 M22 X 165 1.0
12 12.750 12.539 300 38264 0.13 14.45 17.64 2.50 24.2

SHURJOINT®



TLET COUPLINGS

(=]}

=

24 -7 27| ZYEE il 7705 12 X9IEQ 7ol 12H
ES thlsts HMEoz 12H JIZE molns HFEm SAl
2718 & 4 AgUc 2 7721, 7722 W|7tL|Z E| Z0| mo|=0l
TS o WLl MH Eyl50l 5 4 0| G2 HHH Hzol
JRsELIC

YT LAY EFQ! 271R17}

SN —

S Efgat
2l AFZ0| 7kt

A4 Bl 27

w4 i o ZOE @ o ZQIE x| ~
=7 5 3o * E 37| s
Zgt e EoieA =3 T A B © mm/in Kgs/Lbs
mm/in FPT Gr/MPT Bar/PSI mm/in kN/Lbs mm/in mm/in mm/in mm/in
mm/in mm/in
15 20 20-22 52 114 70 1.2
1/2 300 0.81-0.88 2.06 4.50 275 26
40 20 20 20-22 37 52 114 70 MI0 X 55 12
15 3/4 300 0.81-0.88 850 2.06 450 275 |3/8x2-1/8 26
25 20 20-22 49 114 70 13
1 300 0.81-0.88 194 4.50 275 29
15 20 20-22 59 127 70 14
1/2 300 0.81-0.88 232 5.00 2.75 31
50 20 20 20-22 57 59 127 70 M10 X 55 1.4
2 3/4 300 0.81-0.88 1330 232 5.00 275 |3/8x2-1/8 3.1
25 33.4 20 20-22 56 89 127 70 15
1 1 300 0.81-0.88 2.20 3.50 5.00 275 33
15 20 32-38 56 161 83 22
1/2 300 1.25-1.50 2.20 6.33 3.25 48
20 20 32-38 65 161 83 2.1
3/4 300 1.25~1.50 2.56 6.33 3.25 46
65 25 20 32-38 8.4 62 161 83 M12 X 60 22
2.5 1 300 1.25~1.50 2120 2.44 6.33 3.25 1/2x2-3/8 4.4
32 42.2 20 32-38 94 161 83 23
1-1/4 1-1/4 300 1.25-1.50 3.70 6.33 3.25 5.1
40 48.3 20 32-38 94 161 83 2.4
1-1/2 11/2 300 1.25~1.50 3.70 6.33 3.25 5.9
20 20 32-38 72 175 83 27
3/4 300 1.25-1.50 2.83 6.87 3.25 5.9
80 25 33.4 20 32-38 12.4 70 102 175 83 M12 X 75 2.8
3 1 1 300 1.25-1.50 2890 275 4.00 6.87 3.25 1/2x3 6.2
483 20 32-38 102 175 83 29
1-1/2 300 1.25-1.50 4.00 6.87 3.25 6.4
20 20 41-46 94 211 93 4.2
3/4 300 1.63-1.81 3.70 8.31 3.66 9.2
25 33.4 20 41-46 91 211 93 43
100 1 1 300 1.63-1.81 20.5 3.58 8.31 3.66 M16 X 90 9.5
4 40 483 20 41-46 4770 124 21 93 [5/8x31/2 43
1-1/2 11/2 300 1.63-1.81 4.88 8.31 3.66 9.5
60.3 20 41-46 124 211 93 45
2 300 1.63-1.81 4.88 8.31 3.66 9.9
20 20 41-46 121 276 94 6.0
3/4 300 1.63-1.81 4.76 10.86 3.70 13.2
25 20 41-46 44.5 121 276 94 M16 X 90 6.0
150 1 300 1.63-1.81 9950 4.76 10.86 370 |5/8x3-1/2 13.2
6 40 48.3 20 41-46 121 154 276 94 6.2
11/2 11/2 300 1.63-1.81 476 6.06 10.86 3.70 13.6
60.3 20 41-46 154 276 94 6.5
2 300 1.63-181 6.06 10.86 3.70 14.3
FPT: QUIAF EFRL 27 Gr: I2E ERQ 27| MPT: 2LIAFERY 271 T: o3 Mol 27|80 BEix|ol X4 AR, AL 290 e

3

C

SHURJOINT®




FLANGES AND FLANGE ADAPTERS SHURJOINT®

28 7041-A TaX] - ANSI CLASS 125/150
2 7041-A ZAX= ANS| Class 125/150 Z2#|

Elelo] Hulof 1RE AlARO] K e1Zo| JHsEL,
2~8'0 7041-A DURE Sl ZEHZ HMZE=
uiol of 2 Aj0|ZE of] BEoz TN

% o ot ZOIE X|3 PEEL] £ E
74 (momey| I Al s _E = 5z
mm/in mm/in = o A B D E T 3 No Kgs/Lbs
Bar/PSI kN/Lbs mm/in mm/in mm/in mm/in mm/in in . 9
50 60.3 20 5.7 152 121 19 60 87 2.0
2 2.375 300 1330 6.00 4.75 0.75 236 3.42 5/8 4 4.4
65 73.0 20 8.4 178 140 22 73 102 2.5
25 2.875 300 1950 7.00 5.50 0.87 2.87 4.00 5/8 4 5.5
80 88.9 20 12.3 190 152 24 89 116 3.4
3 3.500 300 2890 7.50 6.00 0.94 3.50 4.56 5/8 4 7.5
100 114.3 20 20.5 229 191 24 14 141 4.0
4 4.500 300 4770 9.00 7.50 0.94 4.50 5.56 5/8 8 8.8
125 1413 20 313 254 216 24 141 171 4.5
5 5.563 300 7290 10.00 8.50 0.94 5.56 6.73 3/4 8 9.9
150 168.3 20 44.5 279 241 25 168 198 s 5.5
6 6.625 300 10340 1.00 9.50 1.00 6.62 7.79 3/4 121
200 219.1 20 75.3 343 298 28 219 254 s 8.0
8 8.625 300 17520 13.50 175 112 8.62 10.00 3/4 17.6
250 273.0 20 117.0 406 362 30 273 308 B 13.8
10 10.750 300 27210 16.00 14.25 118 10.75 1212 7/8 30.4
300 3239 20 164.7 482 432 32 324 359 B 19.0
12 12.750 300 38280 19.00 17.00 1.25 12.75 14.13 7/8 418
350 355.6 20 198.5 533 476 37 356 416 B 31.8
14 14.000 300 46160 21.00 18.75 144 14.0 16.40 1 70.0
400 406.4 20 259.2 597 540 37 406 467 » 41.4
16 16.000 300 60290 23.50 21.25 144 16.0 18.40 1 910
450 457.2 20 328.2 645 578 40 457 508 " 445
18 18.000 300 76300 25.50 2275 1.56 18.0 20.00 1-1/8 98.0
500 508.0 20 405.2 699 635 43 508 572 20 523
20 20.000 300 94200 27.50 25.00 1.69 20.0 22.50 1-1/8 115.0
600 609.6 20 583.5 813 749 49 610 706 2 75.0
24 24.000 300 135650 32.00 29.50 194 24.0 27.80 1-1/4 165.0
X z
d 7043 T#X] - ANSI CLASS 300
DY 7043 ZHX|= ANSI class 300 Z#X| E= ZEHX| EfY ZH] DE Y
o] 2RE AJAHO| 2 91F0| JHYLIk 2'~8"2| 7043 ZAUX|E
ofLtel ZBHE M= U O 2 A0|== o2 2Ro= TAFLC
= = o A Al =
74 (momem| A M - ZEE AT C = = 53
/in mm/in = A B ; ' : 4 No Kgs/Lbs
o Bar/PSI Kn/Lbs mm/in mm/in mm/in mm/in mm/in in .
50 60.3 50 13.7 165 127 24 60 87 s 2.2
2 2.375 720 3190 6.50 5.00 0.94 2.38 3.41 5/8 4.8
65 73.0 50 20.1 191 149 27 73 99 8 3.4
2.5 2.875 720 4670 7.50 5.88 1.06 2.88 391 3/4 7.4
80 88.9 50 29.8 210 168 30 89 115 8 4.1
3 3.500 720 6925 8.25 6.63 1.19 3.50 4.53 3/4 9.1
100 14.3 50 49.2 254 202 33 114 140 8 7.0
4 4.500 720 11445 10.00 7.95 1.31 4.50 5.53 3/4 15.3
125 1413 50 75.3 279 235 37 141 171 8 8.0
5 5.563 720 17500 11.00 9.25 144 5.56 6.72 3/4 17.7
150 168.3 50 106.7 318 270 38 168 198 2 10.6
6 6.625 720 24805 12.50 10.63 1.50 6.63 7.78 3/4 23.4
200 219.1 50 180.8 381 330 43 219 252 12 15.6
8 8.625 720 42045 15.00 13.00 1.69 8.63 9.94 7/8 343
250 273.0 50 280.9 445 387 49 273 313 1 22.0
10 10.750 720 65315 17.50 15.25 1.94 10.75 12.31 1 48.3
300 3239 50 395.2 521 451 51 324 364 1 320
12 12.750 720 91880 20.50 17.75 2.00 12.75 14.31 1-1/8 70.5

SHURJOINT®




H Elo| mbo|me}
1% AL mkx]

UA=ZE L

28 7041-B Z:MX|l= MOI= 147-24"(350-600mm)7HX| 4742
BRoz INE UBLC,

e

-

P w—

i
= = I?_'E T A Alal E =)
F 4  |moz ey | o x BX'T = = s = = N
mm/in mm/in Bar/PS| KN/Lbs mm mm mm mm mm 34 No. Kgs/Lbs
50 603 16 46 23
2 2375 225 1000 165 125 22 60 87 Mi6 4 5.1
65 76.1 16 73 28
by AR s o0 185 145 22 76 105 M16 4 e
80 88.9 16 9.9 34
- ST — PEE 200 160 24 89 116 M16 8 o
100 143 16 16.4 36
” N P Ao 220 180 24 114 141 M16 8 =
150 165.1 16 342 46
= ST 295 T 285 240 24 165 195 M20 8 T
150 168.3 16 356 46
= e o ) 285 240 24 168 198 M20 8 o
200 219.1 16 60.3 8.4
H G605 295 2140 340 295 24 219 254 M20 12 b
250 273.0 16 936 n7
= FEE 295 S 405 355 26 273 308 M24 12 e
300 3239 16 1318 77
12 12.750 225 28710 S 410 28 324 359 M24 12 38.9
350 3556 16 158.8 23.0
" 1000 295 31620 520 470 30 356 416 M24 16 06
400 406.4 16 207.4 28.0
16 16.000 225 45220 580 525 32 406 467 M27 16 616
450 457.2 16 26215 445
' 8600 295 52930 640 585 36 457 508 M27 | 20 970
500 508.0 16 324.0 45.0
20 20000 2o 20650 715 650 36 508 572 M30 | 20 090
600 609.6 16 466.7 73.0
24 24.000 225 101740 840 770 40 610 706 M33 | 20 160.6
B /?-1 D }5 E/_
mm/in mm/in mm/in
oIt =
D 49 MELIX] EHI0IE 50 95 54
2 3.74 213
o 65 118 67
2 7041 ZHUX|= JIAO| = BES HHSH St 7tAZQ| 25 4.65 2.64
= 80 130 81
LsE I/ 67| sk MEBELC SYMoZ WH Fo| HHS 3 S0 BT
E71| M JtAZO| HAE= B 10{ gt 100 158 105
4 6.22 4.13
LIC} olmf 7pAAIO] AlQlg|=
[C}. olmf 7tAZUO| MelEl= 25 188 8
_ 5 7.40 5.00
222 EMEC2 milstA 50 216 155
EHEQEA-I Ef_l- Alilgol 9}! T TITTOLY 280 825? g(}g
L o] 7psEiLcH 8 10.67 8.07
: 250 326 258
10 12.83 10.15
K& : Mild—-steel, X7|0tH 300 381 305
=3, R24N sEaAY A v | e | ouw
Ql3]A 304 T 316 M) 14 1630 1201

SHURJOINT®



5 SHURJOINT®

22 7180 RUHA THI] OfEH

24 7180 {LHA ZX| OIEEE= 0| MBT 7IX| ANSI
72 125/150, PN10, PN16 12/1 KS 10KSQ| MZ1} 58t0|
L= NEC2AN TN Ciyst Hefe| 729 MEnt A of

88 MS YL

Y: ZEix| 2 2E37|
+ 3 |z 2/ L X ANSI PN 1S Z = |
mm/in mm/in mm/in mm/in 125/150 10, 16 10K mm/in e No. Kgs/Lbs
mm/in mm/in mm/in mm/in
50 60.3 64 165 121 125 120 16 M16 4 23
2 2.375 2.50 6.50 4.75 4.92 4.72 0.63 5/8 4 5.1
65 73.0 70 185 140 145 140 16 Mi16 4 29
2.5 2.875 275 7.28 5.50 5.70 5.50 0.63 5/8 4 6.4
65 76.1 70 185 140 145 140 16 Mi16 4 29
2.5 3.000 2.75 7.28 5.50 5.70 5.50 0.63 5/8 4 6.4
80 88.9 70 200 152 160 150 16 Mi16 8 3.4
3 3.500 2.75 7.87 6.00 6.30 5.90 0.63 5/8 4 7.4
100 114.3 76 229 191 180 175 16 Mi16 8 39
4 4.500 3.00 9.00 7.50 7.09 6.89 0.63 5/8 8 8.5
125 139.7 89 250 216 210 210 22 M16/M20 8 6.0
5 5.500 3.50 9.84 8.50 8.27 8.27 0.87 5/8/3/4 8 13.2
125 1413 89 250 216 210 210 22 M16/M20 8 6.0
5 5.563 3.50 9.84 8.50 8.27 8.27 0.87 5/8/3/4 8 13.2
150 165.1 89 291 241 240 240 24 M20 8 6.3
6 6.500 3.50 11.46 9.50 9.45 9.45 0.94 3/4 8 13.9
150 168.3 89 291 241 240 240 24 M20 8 6.3
6 6.625 3.50 11.46 9.50 9.45 9.45 0.94 3/4 8 13.9
200 219.1 102 343 298 295 290 29 M20 8/ 12 13.7
8 8.625 4.00 13.50 11.75 11.61 11.42 114 3/4 8/ 12 30.0
200 JIS 216.3 102 343 298 295 290 29 M20 8/12 13.7
3 8.516 4.00 13.50 11.75 11.61 11.42 1.14 3/4 8/ 12 30.0

08 7181 RUHA DHI| Y7y DI
Or=H

2d 7181 |UBE 2FY ZUX| OfEEl: ZAUX| EFJ0IA
1228 EfoR FM #RA g0l § & B AoI=S F0/TA
g & UgUch ZUX FYS ANS| 125/150, PN10/16,
BS-10E 22|21 JIS 10K HefstA IS t&LL

Y : Zelix] 72 E2E37|
74 | moz o L X z ANSI PN JIS 2 pre ==
mm/in mm/in mm/in mm/in mm/in 125/150 10, 16 10K mm/in e No. Kgs/Lbs
mm/in mm/in mm/in mm/in
80 x 50 88.9 x60.3 75.0 208.0 16.0 152 160 150 60.3 M6 8 3.4
3x2 3.500 x 2.375 295 8.19 0.63 8.00 6.30 5.90 2 5/8 7.4
100 x 80 114.3 x 88.9 75.0 225.5 16.0 191 180 175 88.9 M6 3.9
4x3 4.500 x 3.500 295 8.88 0.63 7.50 7.09 6.89 3 5/8 8 8.5
150 x 100 168.3 x 114.3 75.0 291.0 24.0 241 240 240 114.3 M20 8 6.3
6 x4 6.625 x 4.500 2.95 11.46 0.95 9.50 9.45 9.45 4 3/4 139

SHURJOINT®



| = AFY

Shurjoints 24"(600m)7Hx] Chesst F2ie] BolSAS HZstn
Rlom e Elo|, HFAE Eas0] S45t Hele] HEE 1ol @

7ol ofsl Yitstn USLC

Shurjointe] SHEIY JFE #0[Z4= ASTM F1548-01 & ANSI/
AWWA C606-970 g0l W= e, o3t HE2 ULSE

AQE MZH YEHMO=Z S8 ARZ0| JtsELICH Eot I Ao
REE 712 A AHQIZA HFE A SE5H U0 2H| 0fC|A
LD ABoH o UEE AA™E FE5ID AgUCh 2 HEY
FENES 4 ASTM A536 Gr. 65-45-122 +&0f 27 XMZEs
1 e #olSA |— x|, MMSO| HRIE HZ1 S0tz

=50| HSELC

rn

AN ZA =%

MY N387T

UXIE HoiM 27 2ol

Slefl 128 BT IHS 0f2 Y d

S ASELL, 2042 2i=et Ify YRS oA of2
UXIS Sl MBELICH E5t 012 12T 24 YXIZ HshA T
of MRIE 22 X9 A2 R,

XEMIEE A2 Shurjointoll 2ISHAI7| HEZHLIC,

ohmga] Au)2

e R ES

SHURJOINT®



£+ 23 GROOVED FITTINGS H SHURJOINT®

22 SPP/Sch 40

7A10/7B10 90° ¥ :
7A11/7B11 45° ¥ E i

7TA70/7B70 =X OIEH

Cto

ZA60/ 7B60 H 90" A8 45 48 ZH7) obetg
=
AHE(90°) A (45°) IZMX| OFEE A
T A 0.D mm CtoE 7B10 7A10 CtoE 7B11 7A1N1 L 7B70 7A70 7A60(T)
mm Kg Kg mm Kg Kg mm Kg Kg mm
50 60.5 94.0 0.9 0.8 61.6 80.0 3.2 2.4 50.8
65 76.3 104.0 1.3 1.1 69.5 0.7 0.6 85.0 4.7 3.9 50.8
80 89.1 123.0 2.4 1.6 77.3 1.0 0.8 85.0 6.6 4.6 64.0
100 114.3 152.4 3.8 29 63.1 1.9 1.5 90.0 111 7.3 76.0
125 139.8 190.5 6.8 4.5 78.9 3.2 2.3 95.0 14.7 8.2 89.0
150 165.2 228.6 9.9 7.1 94.7 5.0 3.6 100.0 19.7 11.7 102.0
200 216.3 304.8 20.1 14.4 126.3 10.1 7.0 115.0 31.9 18.8 127.0
250 267.4 381.0 35.4 25.4 157.8 17.7 12.7 120.0 45.7 27.1 152.0
300 318.5 457.2 57.0 38.1 189.4 28.5 19.0 120.0 66.3 40.0 178.0
350 355.6 533.4 73.9 56.6 221.0 221.0 28.0 190.0 - - 191.0
400 - 406.4 79.0 49.5 253.0 253.0 37.0 220.0 - - 203.0
450 - 457.2 113.0 62.8 284.0 284.0 47.0 225.0 - - 229.0
500 - 508.0 147.0 AN 316.0 316.0 59.0 260.0 - - 254.0
550 - 558.8 178.0 94.1 347.0 347.0 71.0 280.0 - - 254.0
600 = 609.6 244.0 112.0 379.0 379.0 84.0 285.0 - = 254.0

22 SPP/Sch 40
7A20/7B20 S3H
7A21/7B21 OIZH
7A50/7B50 =& dIFM

CloE EtE EloE

o|F 4 FAFA HA #HHFA
7A51/B51 A HEM °
B ol 3 El EVENEEY

34 [CoE] 7820 | 7A20 3 7 CoE M 7821 721 EtoE | 7B50/7851 | 7A50/7A51
mm Kg Kg mm mm Kg Kg mm Kg Kg
65 x 50 76.3 76.2 17 51 110 11 0.7
50 | 785 | 15 | 12 80 x 50 85.7 85.7 2.0 56 110 15 06
80 x 65 85.7 85.7 2.1 18 110 17 0.6
65 | 762 | 1.7 | 14 | 150 x 50 104.8 103.0 35 2.6 125 19 06
100 x 65 104.8 104.8 37 2.8 125 2.2 0.9
80 |87 ] 24 | 19 | 190 80 104.8 104.8 3.8 2.9 125 23 0.8
125 x 65 123.8 123.8 57 33 150 34 0.7
100 | 1048 | 41 | 31 | 4954 go 123.8 123.8 58 41 150 36 07
125 x 100 123.8 123.8 6.1 43 150 2.0 13
T2 e e e N S B0 0 142.9 136.5 8.5 5.6 170 43 12
150 x 100 142.9 136.5 8.7 6.2 170 5.4 2.7
150 1/142.90 9.6 6.8 | 150 x 195 142.9 136.5 9.1 6.5 170 5.9 25
200 x 100 177.8 177.8 15.8 10.4 190 7.4 47
A | Lrwl | Ry U2 il 177.8 177.8 16.1 115 190 7.9 45
200 x 150 177.8 177.8 16.6 11.9 190 8.4 43
2AU | 2lee | sha 2L | ng 215.9 215.9 25.7 17.2 220 12.2 7.7
250 x 150 215.9 215.9 27.2 195 220 12.9 7.2
800 | 2540 | 47.7 | 320 | 550 x 200 215.9 215.9 28.5 20.4 220 141 6.9
300 x 125 254.0 235.0 39.7 26.4 260 18.1 11.0
350 | 2794 | 684 | 469 | 455 » 150 254.0 235.0 40.2 27.2 260 19.2 103
300 x 200 254.0 254.0 225 29.0 260 19.5 9.7

400 |/304.8 1964 | 576 | 300 x 250 254.0 254.0 453 30.4 260 - -

350 x 250 279.4 270.0 63.0 455 330 325 219
sl e e | 279.4 270.0 65.9 438 330 30.2 20.2
400 x 300 304.8 304.8 90.5 55.0 356 437 254
SR | el | B0y BRS | e 304.8 304.8 93.2 56.5 356 45.2 26.6
450 x 350 343.0 330.0 128.0 79.3 381 67.0 305
550 4191 ] - 1081 450 x 400 343.0 330.0 132.0 60.4 381 52.0 32.4
500 x 400 381.0 370.0 169.0 84.8 508 92.0 555
Al |- ] g 381.0 370.0 174.0 94.1 508 97.4 40.0
550 x 450 419.1 410.0 - 107.9 508 - 50.6
550 x 500 419.1 410.0 ; 105.4 508 - 53.1
600 x 500 4318 4318 - 116.9 508 - 55.7
600 x 550 4318 4318 : 118.3 508 - 58.2

SHURJOINT®



2o

0= 7110 90° &
0 7111 45° &

!
C-E

" Fig. 7112
22-1/2° Elbow

C-E

Fig. 7113
11-1/4° Elbow

Shurjoint 12E mE8= HEIY HZD} —
E
gEtom ERE(EW) “ ce| cr ce[
Fig. 7110 Fig. 7111 Fig. 7112 Fig. 7113
90" Elbow 45" Elbow 221/2° Elbow (Welded)  11-1/4° Elbow (Welded)
T 7L
mm/in mm/in C-E Kgs/Lbs C-E Kgs/Lbs C-E Kgs/Lbs C-E Kgs/Lbs
25 33.4 57 0.3 45 0.2 --- --- --- ---
1 1315 225 07 175 0.4
32 42.2 70 0.5 45 0.3 45 0.3 35 0.2
125 1660 275 11 175 07 175 SW 07 138 SW 0.4
40 483 70 07 45 0.4 45 06 35 03
15 1900 275 1.5 175 0.9 175 1.3 1.38 SW 0.7
50 603 83 09 51 07 48 08 35 08
2 2375 325 20 200 15 188 18 138 18
65 730 % 12 57 09 51 10 38 0
25 2875 375 26 225 20 201 22 150 22
65 76.1 95 14 57 10 51 1.0 38 10
25 3.000 375 31 225 22 201 22 150 22
80 86.9 108 21 04 3 57 14 38 1
3 3500 425 46 250 29 225 31 150 24
90 1016 112 25
35 4000 450 56
100 108.0 27 35 76 20
4 4.250 5.00 7.7 3.00 4.4 == == === ===
100 43 27 28 76 20 73 20 5 5
4 4500 5.00 6.2 3.00 4.4 288 4.4 175 33
125 1413 140 5.0 83 35 73 33 51 27
5 5.563 5.50 10 325 77 288 7.3 200 SW 59
25 1330 140 a1 83 27
5 5.250 5.50 9.0 325 59
25 1397 140 50 83 35 73 33 51 27
5 5.500 5.50 1.0 325 77 2.88 7.3 200 SW 59
150 168.3 165 6.4 89 44 79 50 51 34
6 6.625 6.50 141 350 97 312 10 200 7.5
150 159.0 165 6.0 89 38
6 6.250 6.50 132 350 8.4
150 165.1 165 57 89 4.4 79 5.0 51 3.4
6 6.500 6.50 125 350 97 312 10 2,00 7.5
200 2191 197 125 108 9.0 98 100 51 55
8 8.625 775 2.5 425 19.8 3.88 220 2,00 121
2001 216.3 197 125 108 9.0 98 100
8 8.516 7.75 27.5 4.25 19.8 3.88 22.0 === ===
250 2730 229 240 21 7.0 m 36 54 06
10 10750 9.00 528 475 37.4 438 299 213 145
250JIS 267.4 229 24.0 121 17.0 m 13.6 54 6.6
10 10.528 9.00 528 475 37.4 438 299 213 145
300 323.9 254 35.0 133 22.5 124 18.3 57 8.5
12 12750 10.00 77.0 5.25 495 488 SW 403 225 187
300)1S 3185 254 350 133 25 124 8.3 57 8.5
12 12.539 10.00 77.0 5.5 495 488 SW 403 2.25 187
350 3556 280 350 152 220 127 210 89 146
14 14.000 11.00 77.0 6.00 48.4 5.00 SW 462 | 350SwW 321
200 406.4 305 430 184 440 27 24.0 102 9.0
1 16.000 12,00 946 7.25 9.8 5.00 SW 528 | 4.00SwW 418
450 457.2 394 75 203 46.6 140 30.0 14 24.0
18 18.000 15.50 165.0 8.00 102.5 5.50 SW 660 | 4.50SW 528
500 508.0 438 920 229 476 152 363 127 300
20 20.000 17.25 202.4 9.00 104.7 6.00 SW 799 | 500sw 66.0
550 558.8 508 129.0 280 80.0 78 510 152 46.0
2 22.000 20.00 SW 283.8 11.00 SW. 176.0 7.00 SW 122 | 6.00SW 1012
600 6096 508 129.0 280 80.0 78 510 152 6.0
24 24.000 20.00 283.8 11.00 176.0 7.00 SW 12 | 600SW 1012

SW: M2HE SHHIE

SHURJOINT®




51 SHURJOINT®

28 7120 S3H
28 7135 IZAH
29 7130 45° LATERAL

H
O
ot

s

\
-

CE
Shurjoint 128 L|EZ2&= HEIY HEat Fig. 7120 Tee Fig. 7135 Cross
SXElIoZ ERE|(SW),
| $)
R -
—CE- "CE Fig. 7130
Fig. 7120 Fig. 7135 45° Lateral
Tee (Welded) Cross (Welded)
_ #7120 #7135 #7130
'H' ;"1 Il}OI&fQI?é E| IZAE| 45" Lateral
mm/in mm/in C-E Kgs/Lbs C-E Kgs/Lbs C-LE C-SE Kgs/Lbs
25 33.4 57 0.4 57 0.6 - - -
1 1315 2.25 0.9 2.255W 1.3 = === S
32 42.2 70 0.7 70 1.0 146 64 1.1
1.25 1660 2.75 1.5 2.755W 2.2 5.75SW 2.50 2.4
40 48.3 70 0.9 70 1.1 159 70 16
1.5 1.900 2.75 2.0 2.755W 2.5 6.255W 2.75 3.5
50 60.3 83 13 83 17 178 70 2.3
2 2.375 3.25 2.9 3.25 3.8 7.00 2.75 5.1
65 73.0 95 2.2 95 2.8 197 76 2.8
2.5 2.875 3.75 4.8 3.75 6.2 7.75 3.00 6.2
65 76.1 95 2.3 95 2.8 197 76 2.8
25 3.000 3.75 5.1 3.75 6.2 7.75 3.00 6.2
80 88.9 108 3.1 108 4.8 216 83 4.2
3 3.500 4.25 6.8 4.25 10.6 8.50 3.25 9.2
100 114.3 127 4.6 127 7.2 267 95 8.0
4 4.500 5.00 10.1 5.00 15.9 10.50 3.75 17.6
100 108.0 127 4.1
4 4.250 5.00 9.0
125 1413 140 6.5 140 9.1 318 102 12.5
5 5.563 5.50 14.3 5.50 20.0 12.50 4.00 27.5
125 133.0 140 6.0
5 5.250 5.50 13.2
125 139.7 140 6.5 140 9.0 318 102 125
5 5.500 5.50 14.3 5.50 19.8 12.50 4.00 27.5
150 168.3 165 10.0 165 12.7 356 14 18.5
6 6.625 6.50 22.0 6.50 27.9 14.00 4.50 40.7
150 159.0 165 8.6
6 6.250 6.50 18.9
150 165.1 165 8.5 165 12.0 356 114 18.5
6 6.500 6.50 18.7 6.50 26.4 14.00 4.50 40.7
200 219.1 197 20.0 197 22.0 457 152 32.0
8 8.625 7.75 44.0 7.75 48.4 18.00 6.00 70.4
200A 216.3 197 20.0 197 210 457 152 32.0
8 8.516 7.75 44.0 7.75 46.2 18.00 6.00 70.4
250 273.0 229 31.0 229 32.0 521 165 47.6
10 10.750 9.00 68.2 9.00SW 70.4 20.50 6.50 104.7
250A 267.4 229 310 229 32.0 521 165 47.6
10 10.528 9.00 68.2 9.00SW 70.4 20.50 6.50 104.7
300 3239 254 45.0 254 50.0 584 178 75.0
12 12.750 10.00 99.0 10.00SW 110.0 23.00 7.00 165.0
300A 318.5 254 45.0 254 50.0 584 178 75.0
12 12.539 10.00 99.0 10.00SW 110.0 23.00 7.00 165.0
350 355.6 280 54.0 280 91.0 673 191 125.0
14 14.000 11.00 118.8 1.00SW 200.2 26.50SW 7.50 275.0
400 406.4 305 66.0 305 113.8 737 203 156.0
16 16.000 12.00 145.2 12.00SW 250.4 29.00SW 8.00 343.2
450 457.2 394 124.3 394 165.7 813 216 195.0
18 18.000 15.50SW 273.5 15.50SW 364.5 32.00SW 8.50 429.0
500 508.0 438 153.9 438 205.2 889 229 227.0
20 20.000 17.255W 338.6 17.25SW 451.4 35.00SW 9.00 499.4
550 558.8 483 150.0 483 242.8 965 241 280.0
22 22.000 19.00SW 330.0 19.00SW 534.2 38.00SW 9.50 616.0
600 609.6 508 215.1 508 286.8 1016 254 324.0
24 24.000 20.00SW 473.2 20.00SW 6310 40.00SW 10.00 712.8

SW: MIHE SENF

SHURJOINT®



”\\Tﬁgg 7121 OIZEl

Shurjoint®| 0| ZEl= HEIY MZxt

SHEIYCRE EFE(SW).

s

Fig. 7121 Reducing Tee

LQE -

Fig. 7121 Reducing Tee (Threaded)

#7120 O|ZE| #7120 OIZE|
7 2 Il 2/ 229 | s 3 ¥ 7 jojz 97 EE] EEE s g
mm/in mm/in C-E Br. C-E Kgs/Lbs mm/in mm/in C-E Br. C-E | Kgs/Lbs
mm/in mm/in mm/in mm/in
50 x 50 x 20 60.3 x 60.3 x 26.7 83 83 11 250 x 250 x 50 273.0 x 273.0 x 60.3 229 229 28.0
2x2x0.75 2.375x2375x 1050 | 3.25SW | 3.25SW 2.5 10x10x 2 10.750 x 10.750 x 2.375 9.00 SW | 9.00 SW 61.6
50 x 50 x 25 60.3 x60.3 x 33.4 83 83 12 250 x 250 x 80 273.0 x 273.0 x 88.9 229 229 28.5
2x2x1 2.375x 2.375 x 1.315 3.25 SW 3.25 SW 2.7 10x10x3 10.750 x 10.750 x 3.500 9.00 SW | 9.00 SW 62.8
50 x 50 x 40 60.3 x 60.3 x 48.3 83 83 1.2 250 x 250 x 100 273.0 x 273.0 x 114.3 229 229 28.5
2x2x15 2.375 x 2.375 x 1.900 3.25 3.25 2.6 10x10 x 4 10.750 x 10.750 x 4.500 9.00 9.00 62.8
65 x 65 x 25 73.0x73.0x33.4 95 95 17 250 x 250 x 150 273.0 x 273.0 x 168.3 229 - 30.0
25x25x1 2.875x 2.875 x 1315 3.75 3.75 3.8 10x10x 6 10.750 x 10.750 x 6.625 9.00 o= 66.0
65 x 65 x 40 76.1x76.1x 48.3 95 95 1.8 250 x 250 x 200 273.0 x 273.0 x 219.1 229 == 315
25x25x15 3.000 x 3.000 x 1.900 3.75 3.75 3.9 10x10x8 10.750 x 10.750 x 8.625 9.00 - 69.3
65 x 65 x 50 73.0x73.0 x 60.3 95 95 2.0 300 x 300 x 80 3239 x 3239 x 889 254 254 36.0
25x25x2 2.875 x 2.875 x 2.375 375 3.75 4.4 12x12x3 12.750 x 12.750 x 3.500 10.00 10.00 79.2
65 x 65 x 50 76.1x 76.1x 60.3 95 95 2.0 300 x 300 x 100 323.9x 3239 x 114.3 254 254 36.0
25x25x2 3.000 x 3.000 x 2.375 3.75 3.75 4.4 2x12x4 12.750 x 12.750 x 4.500 10.00 10.00 79.2
80 x 80 x 25 88.9 x 889 x 33.4 108 108 2.8 300 x 300 x 150 323.9x 3239 x168.3 254 == 38.0
3x3x1 3.500 x 3.500 x 1.315 4.25 4.25 6.1 2x12x6 12.750 x 12.750 x 6.625 10.00 oo 83.6
80 x 80 x 40 88.9 x 88.9 x 48.3 108 108 29 300 x 300 x 200 323.9 x 323.9 x 219.1 254 - 38.0
3x3x15 3.500 x 3.500 x 1.900 4.25 4.25 6.5 12x12x8 12.750 x 12.750 x 8.625 10.00 == 83.6
80 x 80 x 50 88.9 x 88.9 x 60.3 108 108 2.8 300 x 300 x 250| 3239 x323.9x273.0 254 == 40.0
3x3x2 3.500 x 3.500 x 2.375 4.25 4.25 6.2 12x12x 10 12.750 x 12.750 x 10.750 10.00 === 88.0
80 x 80 x 65 88.9 x 88.9 x73.0 108 108 2.8 350 x 350 x 200 355.6 x 355.6 x 219.1 279 == 57.5
3x3x25 3.500 x 3.500 x 2.875 4.25 4.25 6.2 14 x 14 x 8 14.000 x 14.000 x 8.625 11.00 SW == 126.5
80 x 80 x 65 88.9 x88.9 x76.1 108 108 2.8 350 x 350 x 250 355.6 x 355.6 x 273.0 279 - 62.4
3x3x25 3.500x 3.500 x 3.000 4.25 4.25 6.2 14 x 14 x 10 14.000 x 14.000 x 10.750 | 11.00 SW === 137.3
100 x 100 x 25 143 x 114.3 x 33.4 95 95 3.5 350 x 350 x 300 355.6 x 355.6 x 3239 279 ---- 66.2
4x4x1 4.500 x 4.500 x 1.315 3.75 3.75 7.8 14 x14 x 12 14.000 x 14.000 x 12.750 | 11.00 SW - 145.6
100 x 100 x 50 114.3 x 114.3 x 60.3 127 127 4.2 400 x 400 x 200 406.4 x 406.4 x 219.1 305 - 69.9
4x4x2 4.500 x 4.500 x 2.375 5.00 5.00 9.2 16 x16 x 8 16.000 x 16.000 x 8.625 | 12.00 SW o==o 153.8
100 x 100 x 65 143 x 1143 x73.0 127 127 4.3 400 x 400 x 250| 406.4 x 406.4 x 273.0 305 - 75.3
4x4x25 4.500 x 4.500 x 2.875 5.00 5.00 9.5 16 x 16 x 10 16.000 x 16.000 x 10.750 | 12.00 SW === 165.7
100 x 100 x 65 1143 x 114.3 x 76.1 127 127 4.3 400 x 400 x 300 406.4 x 406.4 x 3239 305 ---= 79.4
4x4x25 4.500 x 4.500 x 3.000 5.00 5.00 9.5 16 x 16 x 12 16.000 x 16.000 x 12.750 | 12.00 SW - 174.7
100 x 100 x 80 114.3 x 114.3 x 88.9 127 127 4.5 450 x 450 x 250 457.2 x 457.2 x 273.0 394 - 105.6
4x4x3 4.500 x 4.500 x 3.500 5.00 5.00 99 18 x 18 x 10 18.000 x 18.000 x 10.750 | 15.50 SW o==o 234.5
125 x 125 x 50 1413 x 141.3 x 60.3 140 140 6.6 450 x 450 x 300 457.2 x 457.2 x 3239 394 - 112.0
5x5x2 5.563 x 5.563 x 2.375 5.50 5.50 14.5 18 x 18 x 12 18.000 x 18.000 x 12.750 | 15.50 SW == 246.4
125 x 125 x 100 1413 x 141.3 x 114.3 140 140 6.2 450 x 450 x 350 457.2 x 457.2 x 355.6 394 == 14.9
5x5x4 5.563 x 5.563 x 4.500 5.50 5.50 13.6 18 x 18 x 14 18.000 x 18.000 x 14.000 | 15.50 SW - 252.8
150 x 150 x 50 168.3 x 168.3 x 60.3 165 165 8.0 450 x 450 x 400 457.2 x 457.2 x 406.4 394 - 119.6
6Xx6x2 6.625 X 6.625 x 2.375 6.50 6.50 17.6 18 x 18 x 16 18.000 x 18.000 x 16.000 | 15.50 SW == 263.1
150 x 150 x 65 168.3 x 168.3 x 73.0 165 165 8.5 500 x 500 x 350 508.0 x 508.0 x 355.6 438 - 138.2
6x6x25 6.625 x 6.625 x 2.875 6.50 6.50 18.7 20x 20 x 14 20.000 x 20.000 x 14.000 | 17.25 SW o= 304.0
150 x 150 x 80 168.3 x 168.3 x 88.9 165 165 9.2 500 x 500 x 400| 508.0 x 508.0 x 406.4 438 == 143.5
6x6x3 6.625 x 6.625 x 3.500 6.50 6.50 20.2 20 x 20 x 16 20.000 x 20.000 x 16.000 | 17.25 SW - 315.7
150 x 150 x 100 168.3 x 168.3 x 114.3 165 165 8.8 500 x 500 x 450 508.0 x 508.0 x 457.2 438 - 148.7
6x6x4 6.625 x 6.625 x 4.500 6.50 6.50 19.4 20 x 20x 18 |20.000 x 20.000 x 18.000 | 17.25 SW === 3271
150 x 150 x 50 165.1x 165.1x 60.3 165 165 8.0 600 x 600 x 200 609.6 x 609.6 x 219.1 508 ---- 165.2
6x6x2 6.500 x 6.500 x 2.375 6.50 6.50 17.6 24 x24x8 24.000 x 24.000 x 8.625 | 20.00 SW o= 363.4
150 x 150 x 65 165.1x 165.1x 76.1 165 165 8.5 600 x 600 x 250| 609.6 x 609.6 x 273.0 508 == 174.0
6 xX6x25 6.500 x 6.500 x 3.000 6.50 6.50 18.7 24 x 24 x10 [24.000 x 24.000 x 10.750 | 20.00 SW oo 382.8
150 x 150 x 80 165.1x 165.1x 88.9 165 165 9.2 600 x 600 x 300 609.6 x 609.6 x 323.9 508 - 180.9
6Xx6x3 6.500 x 6.500 x 3.500 6.50 6.50 20.2 24 x24 x 12 [24.000 x 24.000 x 12.750 | 20.00 SW === 398.0
150 x 150 x 100 165.1x 165.1x 114.3 165 165 8.8 600 x 600 x 350 609.6 x 609.6 x 355.6 508 e 184.7
6X6x4 6.500 x 6.500 x 4.500 6.50 6.50 19.4 24 x 24 x14  [24.000 x 24.000 x 14.000| 20.00 SW - 406.3
200 x 200 x 50 219.1x 219.1x 60.3 197 197 17.0 600 x 600 x 400 609.6 x 609.6 x 406.4 508 == 190.8
8x8x2 8.625 x 8.625 x 2.375 7.75 7.75 37.4 24 x24 x16 [24.000 x 24.000 x 16.000 | 20.00 SW === 419.8
200 x 200 x 80 219.1x 219.1x 88.9 197 197 16.8 600 x 600 x 450| 609.6 x 609.6 x 457.2 508 - 196.8
8x8x3 8.625 x 8.625 x 3.500 7.75 7.75 37.0 24 x 24 x 18 [24.000 x 24.000 x 18.000 | 20.00 SW === 433.0
200 x 200 x 100 219.1x 219.1x 114.3 197 197 20.0 600 x 600 x 500| 609.6 x 609.6 x 508.0 508 ---- 2029
8x8x4 8.625 x 8.625 x 4.500 7.75 7.75 44.0 24 x 24 x 20 [24.000 x 24.000 x 20.000{ 20.00 SW - 446.4
200 x 200 x 150 219.1x 219.1x 168.3 197 e 21.0
8x8x6 8.625 x 8.625 x 6.625 7.75 o= 46.2

SW: MIHE 8F

HE

SHURJOINT®




51 SHURJOINT®

o
g 7110LR 1.5D 90" ad
T
° [
D 7111LR 1.5D 45" ad - -
3 7
o9 7137 TRUE-Y 3,
- 1
Fig. 7110LR Fig. 7111LR Fig. 7137
LR 90° Elbow, 1.5D LR 45° Elbow, 1.5D True-Y
_ #7110LR #7111LR #7137
™ ;'1 el /,9"@ 15D LR 90° &t 15D LR 45° s TRUE-Y
LTIy A C-E Kgs/Lbs C-E Kgs/Lbs C-LE C-SE Kgs/Lbs
50 60.3 m 11 70 0.8 83 70 11
2 2375 438 2.4 275 18 3.25 275 2.5
65 73.0 127 18 76 13 95 76 2.0
25 2.875 5.0 40 3.00 29 3.75 3.00 43
65 76.1 127 18 76 13 95 76 2.0
25 3.000 5.0 4.0 3.00 29 3.75 3.00 43
80 88.9 149 2.5 86 22 108 83 28
3 3.500 5.88 5.5 3.38 49 4.25 3.25 6.1
100 114.3 191 4.7 102 3.5 127 95 4.5
4 4.500 7.50 10.3 4.00 7.7 5.00 375 10.0
125 1413 241 8.3 127 6.7 140 102 6.8
5 5.563 9.50 18.3 5.0 14.7 5.50 4.00 15.0
125 139.7 241 8.3 127 6.7 140 102 6.8
5 5.500 9.50 18.3 5.0 14.7 5.50 4.00 15.0
150 168.3 273 15 140 8.2 165 114 10.1
6 6.625 10.75 253 5.50 18.0 6.50 4.50 223
150 165.1 273 1.5 140 8.2 165 14 10.1
6 6.500 10.75 25.3 5.50 18.0 6.50 4.50 223
200 219.1 362 22.0 184 16.3 197 152 16.3
8 8.625 14.25 48.4 7.25 36.0 7.75 6.00 36.0
250 273.0 438 485 216 25.9 229 165 30.8
10 10.750 17.25 107.0 8.50 57.0 9.00 6.50 70.0
300 3239 521 715 254 40.8 254 178 36.3
12 12.750 20.50 157.3 10.00 90.0 10.00 7.00 80.0
= Cto GE -‘
o
0 7118 90 OIEH ¥H
o !
O 7119 45 OIEH ¥ .
7112G GOOSE NECK 22-1/2° i £ 1
=i E-E
@]
\ |
oo|= 7118 7119 712G
T 3 o 2
. mm/in CGE [CTE | 2% [CGE|CTE| 2% | EE |3 &
,’,’\\ mm/in mm/in mm/in Kgs/Lbs | mm/in | mm/in | Kgs/Lbs | mm/in |Kgs/Lbs
Ff 20 26.9 57 57 0.2 38 38 0.2
075 1.050 2.25 2.25 0.5 150 150 0.5
25 337 57 57 0.2 44 44 03
1 1315 2.25 2.25 0.5 175 175 0.6
32 424 70 70 0.4 44 44 03
125 1660 275 275 0.9 175 175 0.6
40 483 70 70 0.5 44 44 0.4 95 0.6
= @l SsBP &1 15 1900 275 275 11 175 175 09 375 13
F 7ol 22-1/2" Goose neck E_E 50 603 83 108 11 51 76 09 95 08
ot ROIEE QLKA ROIEZN A& 2 2375 3.25 4.25 25 2.00 3.00 19 3.75 13
= = o 65 73.0 95 120 14 57 57 10 102 10
Lot Jeln 2Ash 2H0] 222 oh= 25 2.875 3.75 475 3.0 2.25 2.25 23 4.00 2.2
OHO|Z Hi2t = AJAEBIOl AMX|0f OfA 80 88.9 108 152 2.6 64 108 23 114 14
olLc} 3 3.500 425 6.00 58 2.50 4.25 5.0 450 31
SIEF SR 90 1016 114 159 36 4.0
35 4.000 450 6.25 8.0 8.8
100 1143 127 184 5.4 76 133 4.0 127 20
4 4500 5.00 7.25 12.0 3.00 5.25 8.8 5.00 4.4
150 6.625 165 165 8.0 89 140 58 159 50
6 168.3 6.50 6.50 176 3.50 5.50 12.7 6.25 11.0
200JIS 2163 197 10.0
8 8.516 7.75 22.0
200 219.1 197 10.0
8 8.625 7.75 22.0

#7119 SW : MOHE EHNF

SHURJOINT®



B 7110-B 90° WE(HIOIA HE

24 7110-B= 90°

\‘- A 3iE0] oA MEET} 2
QA0 ARSI, D U= Hlo]A MEES
o, 245 Hao| 5212 8%

90" AR
PRCEEVESS

EY)

HAE HE22 A
S ool=, LHE

201 KIKE 4 Y2 TYE0] UL

BRI
ZOIE |5
2 74 =
T = TOIZ 4B e H U T S M s g
mm/in mm/in - T i i) i i Kgs/Lbs
. 80 88.9 108 124 13 14 127 99 8.0
\ 3 3.500 4.25 4.88 0.50 0.56 5.00 3.88 176
@ 100 143 127 140 13 16 152 121 9.5
©. 4 4.500 5.00 5.50 0.50 0.62 6.00 475 209
! ; 150 168.3 165 178 16 18 178 140 17.5
6 6.625 6.50 7.00 0.62 0.69 7.00 5.50 385
= 200 219.1 197 213 22 24 229 191 46.1
[ 3, 8 8.625 7.76 8.38 0.88 0.94 9.00 7.50 101.4
- Seo 250 273.0 229 248 22 24 229 191 5834
10 10.750 9.02 9.75 0.88 0.94 9.00 7.50 128.5
300 3239 254 286 25 25 279 241 89.6
12 12.750 10.00 11.25 1.00 1.00 11.00 9.50 197.1
2% 899 END-ALL WY
899 End-All LEFE= 1/27, 3/479] &8 A= 7 mEof 1" NPT x|
E= BSP LIAEIYS| HIETE FYEQIELICH End-All DE2 2i219| B
BEE0M AZEEY =, Sprigs, Drops, Drains E= AHl0|X|o —
= = A
XY ¢Zs10f AISE 4 QU SRS LI NPT orBSP
= ZQAE X|$ P
J2HER X SFEY A B Kgs/Lbs
mm/in mm/in mm/in 9
32x15 445 30.1 0.3
125 x 0.5 1750 1190 0.7
32x 20 445 30.1 0.3
1.25 x 0.75 1750 1190 0.7
32x 25 483 318 0.3
125x 1 1.900 1.250 0.7
40x15 445 333 0.4
15x 0.5 1750 1313 0.9
40 x 20 445 333 0.4
15x0.75 1750 1313 0.9
40 x 25 483 349 0.4
15x1 1900 1375 0.9
50 x 15 445 39.7 05
2x0.5 1750 1562 11
50 x 20 445 39.7 0.5
2x0.75 1750 1562 11
50 x 25 483 413 0.5
2x1 1.900 1625 11
65x 15 445 445 0.6
25x0.5 1750 1750 13
65 x 20 445 445 0.6
2.5 x3/4 1750 1750 13
65 x 25 483 46.0 0.6
25x1 1.900 1.813 13

SHURJOINT®




51 SHURJOINT®

28 7150 34 dwM
28 7151 MA 47N

Shurjointe| HEtY F= B4 dlFMet HY HFMs gt 712
AE HEECH HSZ0I7H ETE XM A2 ME x2S FZ.

FEEJ

e gg ]
#7150 54 #AFA #7151 BA #AFA

_ #7150 B4 2HFAM #7151 T BIFA - ! BIFAM HA HFM

2 7 mojz 9|z IFM IFM 2 7 no|z 9/ #7150 B4 BITA #7151 2T
mm/in mm/in E-E s g E-E s d mm/in mm/in E-E s g E-E s g

mm/in Kgs/Lbs mm/in Kgs/Lbs mm/in Kgs/Lbs mm/in Kgs/Lbs

32x 25 42.2x33.4 64 0.3 - - 250 x 150 273.0 x 168.3 152 9.0 152 1.5
125 x 1 1.660 x 1.315 2.50 0.7 - - 10x6 10.750 x 6.625 6.00 19.8 6.00 25.3
40 x 25 48.3x33.4 64 0.4 - --- 250 x 200 273.0 x 219.1 152 9.5 330 12.0
15x1 1.900 x 1.315 2.50 0.9 == == 10x8 10.750 x 8.625 6.00 20.9 13.00 SW 26.4
40 x 32 48.3x 42.2 64 0.4 - - 300 x 150 3239 x 168.3 178 12.0 178 18.0
1.5 x1.25 1.900 x 1.660 2.50 0.9 == == 12x6 12.750 x 6.625 7.00 26.4 7.00 39.6
50 x 25 60.3 x 33.4 64 0.4 --- --- 300 x 200 323.9 x 219.1 178 14.0 178 29.3
2x1 2.375 x 1.315 2.50 0.9 - - 12x8 12.750 x 8.625 7.00 30.8 7.00 53.5
50 x 32 60.3x42.2 64 0.4 - - 300 x 250 3239 x 273.0 178 15.0 178 20.2
2x125 2.375 x 1.660 2.50 0.9 == == 12 x 10 12.750 x10.750 7.00 33.0 7.00 44.0
50 x 40 60.3 x 48.3 64 0.4 - --- 350 x 150 355.6 x 168.3 330 19.5 330 28.0
2x15 2.375 x 1.900 2.50 0.9 - - 14x6 14.000 x6.625 13.00 SW 429 13.00 SW 62.0
65 x 50 73.0x60.3 64 0.5 89 0.7 350 x 200 355.6 x 219.1 203 19.0 330 28.0
25x2 2.875x 2.375 2.50 11 3.50 1.5 14 x8 14.000 x 8.625 8.00 41.8 13.00 SW 62.0
65 x 50 76.1x 60.3 64 0.5 89 0.7 350 x 250 355.6 x 273.0 203 32.5 330 28.0
2.5x2 3.000 x 2.375 2.50 11 3.50 1.5 14 x 10 14.000 x 10.750 8.00 715 13.00 SW 62.0
80 x 50 88.9 x 60.3 64 0.6 89 1.0 350 x 300 355.6 x 323.9 203 23.0 330 28.0
3x2 3.500 x 2.375 2.50 1.3 3.50 2.2 14 x 12 14.000 x 12.750 8.00 50.6 13.00 SW 62.0
80 x 65 88.9 x73.0 64 0.6 89 1.0 400 x 150 406.4 x 168.3 356 29.7 356 29.7
3x25 3.500 x 2.875 2.50 13 3.50 2.2 16 x6 16.000 x 6.625 | 14.00 SW 654 14.00 SW 65.4
80 x 65 88.9 x76.1 64 0.6 89 1.0 400 x 200 406.4 x 219.1 229 32.0 356 35.0
3x25 3.500 x 3.000 2.50 1.3 3.50 2.2 16 x 8 16.000 x 8.625 9.00 70.4 14.00 SW 77.0
100 x 50 14.3 x60.3 76 11 102 1.4 400 x 250| 406.4 x 273.0 356 29.5 356 35.0
4 x2 4.500 x 2.375 3.00 2.2 4.00 3.1 16 x 10 16.000 x 10.750 | 14.00 SW 64.9 14.00 SW 77.0
100 x 65 14.3x73.0 76 1.0 102 15 400 x 300 406.4 x 323.9 229 30.0 229 310
4 x2.5 4.500 x 2.875 3.00 2.2 4.00 3.3 16 x 12 16.000 x 12.750 9.00 66.0 9.00 68.2
100 x 65 114.3 x76.1 76 1.0 102 15 400 x 350 406.4 x 355.6 229 29.0 229 35.0
4x25 4.500 x 3.000 3.00 2.2 4.00 3.3 16 x 14 16.000 x 14.000 9.00 63.8 9.00 77.0
100 x 80 114.3 x 88.9 76 1.0 102 1.6 450 x 250 457.2 x273.0 381 36.0 381 45.0
4x3 4.500 x 3.500 3.00 22 4.00 35 18 x 10 18.000 x 10.750 | 15.00 SW 79.2 15.00 SW 99.0
125 x 100 1413 x 114.3 89 2.0 102 2.7 450 x 300 457.2 x 3239 241 35.5 381 45.0
5x4 5.563 x 4.500 3.50 4.4 4.00 6.0 18 x 12 18.000 x 12.750 9.50 781 15.00 SW 99.0
150 x 50 168.3 x 60.3 102 19 102 3.1 450 x 350 457.2 x 355.6 381 36.0 381 45.0
6x2 6.625 x 2.375 4.00 4.2 4.00 6.9 18 x 14 18.000 x 14.000 | 15.00 SW 79.2 15.00 SW 99.0
150 x 80 168.3 x 88.9 102 2.0 102 3.5 450 x 400| 457.2 x 406.4 381 36.0 381 45.0
6x3 6.625 x 3.500 4.00 4.4 4.00 7.7 18 x 16 18.000 x 16.000 | 15.00 SW 79.2 15.00 SW. 99.0
150 x 100 168.3 x 114.3 102 2.1 102 3.8 500 x 300 508.0 x 323.9 254 43.0 508 68.0
6 x4 6.625 x 4.500 4.00 4.6 4.00 8.4 20 x 12 20.000 x 12.750 10.00 94.6 20.00 SW| 149.6
150 x 125 168.3 x 141.3 102 2.5 102 4.5 500 x 350 508.0 x 355.6 508 44.8 508 68.0
6 x5 6.625 x 5.563 4.00 5.5 4.00 9.9 20 x 14 20.000 x 14.000 [20.00 SW 98.6 20.00 SW| 149.6
150 x 50 165.1x 60.3 102 19 102 3.1 500 x 400| 508.0 x 406.4 254 46.0 508 68.0
6 x2 6.500 x 2.375 4.00 4.2 4.00 6.9 20 x 16 20.000 x 16.000 10.00 101.2 20.00 SW 149.6
150 x 80 165.1x 88.9 102 2.0 102 35 500 x 450 508.0 x 457.2 508 58.0 508 68.0
6x3 6.500 x 3.500 4.00 4.4 4.00 7.7 20 x 18 20.000 x 18.000 |20.00 SW 127.6 20.00 SW| 149.6
150 x 100 165.1x 114.3 102 2.1 102 3.8 600 x 300 609.6 x 323.9 305 70.0 305 79.0
6 x4 6.500 x 4.500 4.00 4.6 4.00 8.4 24 x 12 24.000 x 12.750 12.00 154.0 12.00 173.8
150 x 125 168.3 x 114.3 102 2.5 102 4.5 600 x 350 609.6 x 355.6 508 70.0 356 79.0
6 x5 6.525 x 5.563 4.00 5.5 4.00 9% 24 x 14 24.000 x 14.00 |20.00 SW 154.0 14.00 173.8
200 x 100 219.1x 114.3 127 5.1 305 5.4 600 x 400| 609.6 x 406.4 305 70.0 508 79.0
8x4 8.625 x 4.500 5.00 1.2 12.00 SW 1.9 24 x 16 24.000 x 16.000 12.00 154.0 20.00 SW 173.8
200 x 150 219.1x 168.3 127 5.2 127 8.0 600 x 450 609.6 x 457.2 508 70.0 508 79.0
8x6 8.625 x 6.625 5.00 1.4 5.00 17.6 24 x 18 24.000 x 18.000 |20.00 SW 154.0 20.00 SW 173.8
250 x 100 273.0x 114.3 152 9.0 152 12.0 600 x 500| 609.6 x 508.0 305 71.0 508 79.0
10 x 4 10.750 x 4.500 6.00 19.8 6.00 26.4 24 x 20 | 24.000 x 20.000 12.00 156.2 20.00 SW 173.8

SW: MaRE SHHZ
)

SHURJOINT®



28 7160 2213

1-1/4” ~ 127
a7 ooz 9|7 #7160 #7160P
. . E-E 2 E8{3 AlO|=
mm/in mm/in mm/in Kgs/Lbs E21mm/i}n I
32 42.2 25 0.2 -
1.25 1.660 1.00 0.4 ===
40 48.3 25 0.2 -
1.5 1.900 1.00 0.4 i
50 60.3 25 0.3 15
2 2.375 1.00 0.7 0.5
65 73.0 25 0.4 15
2.5 2.875 1.00 0.9 0.5
65 76.1 25 0.4 15
2.5 3.000 1.00 0.9 0.5
80 88.9 25 0.7 15
3 3.500 1.00 1.5 0.5
100 14.3 25 1.0 25
4 4.500 1.00 2.2 1
100 108.0 25 1.1 -
4 4.250 1.00 2.4 i
125 1413 25 17 25
5 5.563 1.00 3.7 1
125 133.0 25 17 -
5 5.250 1.00 3.7 i
125 139.7 25 17 25
5 5.500 1.00 3.7 1
150 168.3 25 3.0 25
6 6.625 1.00 6.6 1
150 159.0 25 2.3 ----
6 6.250 1.00 5.1 ===
150 165.1 25 3.0 25
6 6.500 1.00 6.6 1
200 219.1 30 5.5 40
8 8.625 1.18 12.1 1.5
200JIS 216.3 30 4.6 -
8 8.516 1.18 10.1 i
250 273.0 32 7.0 40
10 10.750 1.25 15.4 1.5
250JIS 267.4 32 7.0 -
10 10.528 1.25 15.4 ===
300 323.9 32 10.0 40
12 12.750 1.25 22.0 1.5
300JIS 318.5 32 10.0 -
12 12.539 1.25 22.0 i

o2 7160H Dome &

£
A
=
A
T

Shurjoint 7160H Dome Zi2 HEIY 22 FXH MECE 2

HEA O ZS5HH YHZME AMZ & Us F2E CIXIRIE0] AU
Lict, 2 7160H End Cap2 10"~24" 2| MY sjzSo| A2
UBLICE

E-E

r 10" ~24”

o 7160T ESMXIM IS (Gr<FT)

=4
EUXIM ez Lt 7160T= 27t2] Swaged NippleZ CH|

160TE 671", 4'x1" 59 Test 72 Zho| s

~

7160T
34 7160T
JZHERY X SFEIY L =
mm/in mm/in Kgs/Lbs
50 x 25 23.8 0.2
2x1 0.94 0.4
50 x 32 238 0.2
2x1.25 0.94 0.4
65 x 25 238 0.4
25x1 0.94 0.9
65x 32 23.8 0.3
2.5x1.25 0.94 0.7
65 x 40 238 0.3
25x 15 0.94 0.7
80 x 25 25.4 0.6
3x1 1.00 13
80 x 32 25.4 0.5
3x1.25 1.00 11
80 x 40 25.4 0.6
3x15 1.00 13
80 x 50 25.4 0.4
3x2 1.00 0.9
100 x 25 25.4 0.8
4x1 1.00 18
100 x 32 25.4 0.8
4 x1.25 1.00 18
100 x 40 25.4 0.9
4 x 15 1.00 2.0
100 x 50 25.4 0.6
4x2 1.00 13
150 x 25 25.4 2.6
6x1 1.00 5.7
150 x 32 25.4 2.6
6x1.25 1.00 5.7
150 x 40 25.4 25
6 x15 1.00 5.5
150 x 50 25.4 25
6x2 1.00 5.5
_ #7160H
T ;4 “*°|5/_91?>‘ DomedEnd Cap
mm/in mm/in E-E mm/in | Kgs/Lbs
250 273.0 76.1 5.5
10 10.750 3.00 12.1
300 3239 76.1 7.4
12 12.750 3.00 16.3
350 355.6 102 1.6
14 14.000 4.00 25.5
400 406.4 102 14.6
16 16.000 4.00 32.1
450 457.2 127 20.5
18 18.000 5.00 451
500 508.0 152 24.5
20 20.000 6.00 53.9
550 558.8 152 44.0
22 22.000 6.00 97.0
600 609.6 152 34.5
24 24.000 6.00 75.9

SHURJOINT®



51 SHURJOINT®

o
B 901 SHORT RADIUS 90" ¢4
O 7111 45° A4
B2 903 SHORT RADIUS El
P . o = T
Shurjoint?| Short Radius 90° ¥EE= &0 thet 2 ME0| UOLIX| 4= i
$)
AHHRECR JHLEQIoH bt HiTOAMT AMBIIS FLICH Bt XMEECE 1
B 9l HESI0! Slof JSD B2Hel0] JHSEILICY 2Y K-9 705 A
XQE= ZE 220 tist ZHdo] YOLIX| 2ot 2 HMES ABE & USLICH
4 - #901 #7111 #903
™ 2 oo|z 2 SR 90 ut 45 de SR Straight Tee
mm/in mm/in C-E mm/in Kgs/Lbs C—E mm/in Kgs/Lbs C—E mm/in Kgs/Lbs
50 60.3 70 0.7 51 0.7 70 1.0
2 2.375 2.75 1.5 2.00 15 275 2.2
65 73.0 76 0.9 57 0.9 76 1.3
2.5 2.875 3.00 2.0 2.25 2.0 3.00 29
65 76.1 76 0.9 57 1.0 76 1.3
2.5 3.000 3.00 2.0 2.25 2.2 3.00 29
80 88.9 86 1.4 64 1.3 86 2.0
3 3.500 3.38 3.1 2.50 29 3.38 4.4
100 114.3 102 1.7 76 2.0 102 3.6
4 4.500 4.00 3.7 3.00 4.4 4.00 7.9
125 139.7 124 3.5 83 3.5 124 4.6
5 5.500 4.88 7.7 3.25 7.7 4.88 10.1
125 141.3 124 3.5 83 3.5 124 4.6
5 5.563 4.88 7.7 3.25 7.7 4.88 10.1
150 165.1 140 5.5 89 4.4 140 8.6
6 6.500 5.50 12.1 3.50 9.7 5.50 18.9
150 168.3 140 5.5 89 4.4 140 8.6
6 6.625 5.50 12.1 3.50 9.7 5.50 18.9
200 219.1 176 1.0 108 9.0 176 16.5
8 8.625 6.94 24.2 4.25 19.8 6.94 36.3
B 7110DR EHQ!
o ZOE |3
T 4 o= 9|F -
22 7110DR2 NPT E= BSP =9 LA 7HBEN Ues mm/in mm/in m%_llisn mn?/in mm/in Kgs/Lbs
1245 el FEXE LICH 7110DRS AUME OfL|2t CHkst 65 73.0 95 70 40 13
= 2.5 2.875 3.75 2.75 157 2.8
HH:'LI‘OHA-I AI’%7|% O':'H_II:I. 65 76.1 95 70 40 1.3
25 3.000 3.75 275 157 2.8
80 88.9 108 70 49 2.0
3 3.500 4.25 2.75 1.93 4.4
100 114.3 127 70 63 3.0
4 4.500 5.00 2.75 2.48 6.6
150 165.1 165 70 90 7.0
6 6.500 6.50 2.75 3.54 15.4
150 168.3 165 70 90 7.0
6 6.625 6.50 2.75 3.54 15.4
Y 7127 STANDPIPE El
zoE 7% -
= i = o Ml S C-ER | C-EB s
2 7127= Ao StandplpeOiI AMESIE=E CXRHIEof mm/in mm/in T ey Kgs/Lbs
g’lgu;i 2_1/2” NPT/BSP Ll-Al-i _E_7|E|0-| 0|A|_|E_|- 100 x 100 x 65 14.3 x 114.3x73.0 83 102 34
4x4x25 4.500 x 4.500 x 2.875 3.25 4.00 75
150 x 150 x 65 168.3 x 168.3 x 73.0 83 127 5.1
6Xx6x25 6.625 X 6.625 x 2.875 3.25 5.00 1.2

——I C-EB -
NPT or BSP

J NETAN

SHURJOINT®




29 7125 BULLHEAD H

29 7125 128 713 Bullhead E| LICE 2 MES2 Adfgt
oz S43pl HAE HECZ 1Mol HZolN K 2
4 /=2 Totelof lof B aiFAet AIE} HorELIC

e otO

@ 7125 Bullhead

@ 43371

® RCV Zo|AAz2uE EF7|E
@ SJ-T700W HEEgto] HB

® 7707/7705 §54] 2=

® Z07/7771 T4 ZUE

Qoo 7150F HISA A% (GrxFT)
o 7150M IS4 LS (GrxMT)

Shurjoint 22 7150F & 7150M2 17t°| Swaged LIZ9| &Q
0| 222 ERI0IM & = KLIAF EITIK| 2N ZAE Qfol A

A=IAE U

MU

7150F 7150M

D 55 LIZ OFEE (GrxFT)

28 55 OFE EIU0IM KUAL BRIV A HES G183k
OFEE LTt

NPT or BSP

o

LA

7
220y x 838 L g2
mm/in mm/in Kgs/Lbs
40 x 40M 63.5 0.4
1.5 x 1.5M 2.50 0.9
50 x 50M 63.5 0.4
2x2M 2.50 0.9

—C-EB

ZQE X[ =
o it C—ER ,(;I-'I;B s
mm/in mm/in mm/in mm/in Kgs/Lbs
50 x 50 x 65 60.3 x60.3 x73.0 95 83 12
2x2x25 2375 x 2.375 x 2.875 374 3.27 26
50 x 50 x 80 60.3 x60.3 x 88.9 108 95 14
2x2x3 2.375 x 2.375 x 3.500 4.25 374 3.1
50 x 50 x 100 60.3 x60.3 x 114.3 127 102 2.4
2x2x4 2.375 x 2.375 x 4.500 5.00 4.02 53
65x 65 x 80 73.0x73.0 x 88.9 108 95 2.6
25x25x3 2.875 x 2.875 x 3.500 4.25 3.75 57
65 x 65 x 100 73.0x73.0x114.3 127 102 3.2
25x25x4 2.875 x 2.875 x 4.500 5.00 4.00 7.0
80 x 80 x 100 88.9x 889 x114.3 127 102 3.8
3x3x4 3.500 x 3.500 x 4.500 5.00 4.00 8.4
100 x 100 x 150 114.3x x 114.3 x 168.3 165 127 7.5
4x4x6 4.500 x 4.500 x 6.625 6.50 5.00 16.5
125 x 125 x 200 1413 x 1413 x 219.1 197 140 14.0
5x5x8 5.563 x 5.563 x 8.625 7.75 5.50 31.0
150 x 150 x 200 168.3 x 168.3 x 219.1 197 165 17.0
6x6x8 6.625 x 6.625 x 8.625 7.75 6.50 37.4
"""2..*
I L
= 7150F 7150M
JZ8Y X WY L - L B
mm/in mm/in | Kgs/Lbs| mm/in | Kgs/Lbs
40 x 25 63.5 0.3 63.5 0.4
15x1 2.50 0.7 2.50 0.9
50 x 32 63.5 0.5 63.5 0.6
2x1.25 2.50 11 2.50 13
50 x 40 63.5 0.5 63.5 0.6
2x15 2.50 11 2.50 13
65x 32 63.5 0.5 63.5 0.68
2.5x1.25 2.50 11 2.50 15
65 x 40 63.5 0.5 63.5 0.68
25x15 2.50 11 2.50 15
65 x 50 63.5 0.7 63.5 0.68
25x2 2.50 15 2.50 15
80 x 32 63.5 0.8 63.5 0.7
3x125 2.50 1.8 2.50 1.6
80 x 40 63.5 0.7 63.5 0.7
3x15 2.50 1.5 2.50 1.6
80 x 50 63.5 0.7 63.5 0.7
3x2 2.50 1.5 2.50 1.6
100 x 40 76.1 0.9 76.1 11
4x15 3.00 2.0 3.00 25
100 x 50 76.1 11 76.1 11
4x2 3.00 2.4 3.00 25
100 x 65 76.1 11 76.1 11
4x25 3.00 2.4 3.00 25
125 x 40 88.9 27 88.9 27
5x1.5 3.50 6.0 3.50 6.0
150 x 40 1016 22 1016 27
6x 1.5 4.00 4.8 4.00 6.0
150 x 50 1016 2.4 1016 27
6x2 4.00 53 4.00 6.0
150 X 65 1016 27 1016 27
6x25 4.00 5.9 4.00 6.0
150 x 100 1016 27 1016 27
6 x4 4.00 5.9 4.00 6.0

SHURJOINT®




RING JOINT COUPLINGS B SHURJOINT®

D8 R-88 & X2E

Shurjoint?] 2% R-88 & XQUEE 7H2 AH & AHQIZ[A A
oo|=of ML mO|Zo| AMO|=E 350A(147)5El 2400A(96")
Lch 2 3¥2 IFE 7130 AL mo|Z Wi SE&
£20| glofoF 3tz 42 T2 MBELILL R-88 & Z2UEJL HF0A
HIZ AIS 7t5st=S A0 @S EXsi diEol S85= XS #3
o= 5t UEUCH R-882 AWWA C606 EX0| &5tHLE E= 1

0149l 452 XU UL

Size: 12"

E5| ACERUEIZIE "yt S0 A== Fefoll Hisi Yo
7t40| MEstH Austn Fo 2I30| gle 248t MIFLICH
Size: 24"
\ : ; |
! I L ‘
lop. R {[E /

— .
8"~ 12" 20" ~ 26"
XOIE X|$ g E TR 2IAL0| = 123 .
74| oo e B = = dees | 2wl S| zwm | s
oy oo mm/in mm/in mm/in No. 0w mm/in mm/in mm/in Deg. Kgs/Lbs
200 216.3 253 327 79 23 6 4.8 8.0
2 M20 x 120 1°-51
8JIS 8.516 9.96 12.87 3.11 X 091 0.24 0.19 17.6
200 219.1 256 330 79 23 6 4.8 o " 8.2
2 3/4x4-3/4 1°- 51
8 8.625 10.08 13 3.11 /4% / 091 0.24 0.19 18.0
250 267.4 306 380 83 23 6 4.8 10
2 M20 x 120 1°-29
10 JIS 10.528 12.05 14.96 3.25 X 0.91 0.24 0.19 22.0
250 273.0 312 386 83 23 6 4.8 ! 10.5
2 3/4x4-3/4 1°-29
10 10.750 12.29 15.2 3.25 /4x / 0.91 0.24 0.19 23.1
300 318.5 369 450 86 2 M22 x 165 26 7 4.8 r-15 14.8
12JIS 12.539 14.53 17.72 3.39 1.02 0.28 0.19 32.6
300 3239 374 455 86 _ 26 7 4.8 o _ et 13.3
12 12.750 14.72 17.90 3.39 2 7/8x671/2 1.02 0.28 0.19 -1 29.3
350 355.6 420 502 115 26 8 9.5 , 17.2
6 5/8 x 5-5/16 °-17
14 14.000 16.50 19.73 4.52 /8x / 1.02 5/16 0.375 379
400 406.4 470 552 115 26 8 9.5 ° , 17.8
6 5/8 x 5-5/16 1°-16
16 16.000 18.50 21.69 4.52 /8x / 1.02 5/16 0.375 39.2
450 457.2 521 603 115 30 8 9.5 , 29.3
6 3/4x4-3/4 -7
18 18.000 20.50 23.70 4.52 /4x / 1.18 5/16 0.375 64.5
500 508.0 585 676 122 30 9.5 9.5 , 37.0
8 7/8x3-1/2 -0
20 20.000 23.00 26.60 4.79 /8x 31/ 1.18 3/8 0.375 81.4
600 609.6 686 781 122 30 12.7 9.5 , 54.0
7 -1 ° .- 54
24 24.000 27.00 30.69 4.79 8 /8x31/2 1.18 1/2 0.375 0°-5 118.8

SHURJOINT®



88 & X2E (li+3& moIZ8)

R-88 & ZQIE= 96"(2400mn) 2| #Zoll O[ZELICE

o
2 mameol £ o) 22 HZE 4"~ 879 3

AHE 243 mo|=2| FHet Ato|=0| 275t 14Bar(200psi) Ol

28" ~ 38" 40" ~ 96"
Ato| = 2 E ISPl 2IALO|= ez )

74 | momea —r - 5 mSE | B e 52
mm/in mm/in i i i No. in i /i . Deg. Kgs/Lbs
650 660.4 726 815 122 30 12.7 9.5 , 59.0

7 -1 °- 4
26 26.000 28.58 32.09 4.80 8 /8x31/2 118 1/2 0.375 o i 130.0
700 711.2 806 902 171 ~ 50 12.7 127 °_ 101.0
28 28.000 31.75 35.5 6.73 12 1x3-1/2 2.00 1/2 0.50 -0 222.2
750 762.0 857 955 171 50 12.7 12.7 , 98.8
12 1x3-1/2 0°-57
30 30.000 33.75 37.60 6.73 x 3/ 2.00 1/2 0.50 217.4
800 812.8 908 1003 171 50 12.7 12.7 ° ’ 110.0
12 1x3-1/2 0°-54
32 32.000 35.75 39.5 6.73 x 3/ 2.00 1/2 0.50 242.0
850 863.4 959 1054 171 50 12.7 12.7 , 115.0
12 1x3-1/2 0°-51
34 34.000 37.75 41.5 6.73 x 3 2.00 1/2 0.50 253.0
900 914.4 1010 103 171 50 12.7 12.7 , 115.4
12 1 -1/2 0°-48
36 36.000 39.75 43.5 6.73 x 3 2.00 1/2 0.50 253.9
950 965.2 1060 1156 171 12 1x 3-1/2 50 12.7 127 0°-45 125.0
38 38.000 4175 45.5 6.73 2.00 1/2 0.50 275.0
1000 1016.0 135 1229 198 B 60 15.9 15.9 o_ g 180.6
40 40.000 44.69 48.39 7.80 16 1x3-1/2 2.37 5/8 0.625 0754 397.3
1050 1066.8 1186 1280 198 60 15.9 15.9 ’ 148.6
16 1x3-1/2 0°- 51
42 42.000 46.70 50.39 7.80 x 3/ 2.37 5/8 0.625 3269
100 1m7.6 1236 1318 198 60 159 159 o , 156.0
16 1x3-1/2 0° - 49
44 44.000 48.66 51.89 7.80 x 3/ 2.37 5/8 0.625 343.2
1200 1219.2 1338 1420 198 60 159 159 , 204.4
16 1x3-1/2 0°-45
48 48.000 52.68 5591 7.80 x 3 2.37 5/8 0.625 449.6
1300 1320.8 1555 1539 198 60 15.9 159 , 206.0
1 1-1/4 0° - 41
52 52.000 61.25 60.60 7.80 6 /4x5 2.37 5/8 0.625 453.2
1350 1371.6 1606 1590 198 16 11/4 x5 60 15.9 15.9 0° - 40’ 214.6
54 54.000 63.25 62.60 7.80 2.37 5/8 0.625 472.1
1400 1422.4 1660 1641 198 _ 60 15.9 15.9 o _2qs 222.0
56 56.000 65.38 64.60 7.80 16 F1/4x5 2.37 5/8 0.625 07-38 488.2
1500 1524.0 1762 1742 198 60 15.9 15.9 ’ 244.2
16 /4 x5 0°-36
60 60.000 69.38 68.60 7.80 /4% 2.37 5/8 0.625 537.2
1650 1676.4 1932 1925 216 60 19.1 19.1 ° , 278.4
16 1-1/2x5 0°-30
66 66.000 76.00 75.79 8.50 /2 2.37 3/4 0.75 612.5
1700 1727.2 1994 1976 216 60 19.1 19.1 , 357.0
16 1-1/2x5 0°-38
68 68.000 78.50 77.79 8.50 /2% 2.37 3/4 0.75 785.4
1800 1828.8 2095 2078 216 60 19.1 19.1 , 335.3
1 1-1/2 0°-
72 720.00 82.50 81.81 8.50 6 /2x5 2.37 3/4 0.75 36 737.7
2100 2133.6 2406 2383 216 16 /2 x5 60 19.1 19.1 0° - 30’ 354.7
84 84.000 94.75 93.81 8.50 2.37 3/4 0.75 780.3
2400 2438.4 271 2662 216 _ 60 19.1 19.1 o _oa 374.2
96 96.000 106.75 105.79 8.50 16 H/2x5 2.37 3/4 0.75 0°-24 823.2

SHURJOINT®




RING JOINT FITTINGS B SHURJOINT®

g X0IE N8F

BEY Shurjoint @ ZQIE HE2 Shurjoint R-88 ZQIE
M GEtY E= 712 AEE AEE £ ASUCH

ol

o

0

e 200mm-600mm/8"-24" 90° U 45" A 72|10 H &
200mm-400mm/8"-16" O|ZE| : HEtY ASTM A536
Gr. 65-45-12

RJ-10 RJ-11 RJ-60
|— ° - o - - EL]
2 2 Holz 9/ RJ-10 90" ¥&. RJ-11 45" 2E RJ-20 E| RJ-60 &
mm/in mm/in T sd CE 52 Tz 5% o= 53
mm/in Kgs/Lbs mm/in Kgs/Lbs mm/in Kgs/Lbs mm/in Kgs/Lbs
200 216.3 197 13.0 108 9.5 197 21.0 76 55
8JIS 8.516 7.75 28.6 4.25 20.9 7.75 46.2 3.00 12.1
200 219.1 197 13.0 108 9.5 197 21.0 76 5.5
8 8.625 7.75 28.6 4.25 20.9 7.75 46.2 3.00 12.1
250 267.4 229 25.0 121 18.0 229 33.0 76 6.0
10 JIS 10.528 9.00 55.0 4.75 39.6 9.00 72.6 3.00 13.2
250 273.0 229 25.0 121 18.0 229 33.0 76 6.0
10 10.750 9.00 55.0 4.75 39.6 9.00 72.6 3.00 13.2
300 318.5 254 35.0 133 23.0 254 47.0 76 8.0
12JIS 12.539 10.00 77.0 5.25 50.6 10.00 103.4 3.00 17.6
300 3239 254 35.0 133 23.0 254 47.0 76 8.0
12 12.750 10.00 77.0 5.25 50.6 10.00 103.4 3.00 17.6
350 355.6 280 37.0 152 24 280 54.0 102 12.0
14 14.000 11.00 81.4 6.00 52.8 11.00 118.8 4.00 26.4
400 406.4 305 45.0 184 46 305 70.0 102 15.0
16 16.000 12.00 99.0 7.25 101.2 12.00 154.0 4.00 33.0
450 457.2 394 106.0 208 48 394 122 127 210
18 18.000 15.50 233.0 8.00 105.6 15.50 268 5.00 46.2
500 508.0 438 133.0 229 50 438 153 152 25.0
20 20.000 17.25 293.0 9.00 110.0 17.25 337 6.00 55.0
600 609.6 508 220.0 280 80 508 212 152 35.0
24 24.000 20.00 485.0 11.00 176.0 20.00 466 6.00 77.0
650 660.4 991 237 406 119 572 348 267 50
26 26.000 39.00 521 16.00 262 22.50 766 10.50 110
700 71.2 1067 275 438 138 597 392 267 56
28 28.000 42.00 605 17.25 304 23.50 862 10.50 123
750 762.0 143 316 480 158 635 451 267 62
30 30.000 45.00 695 18.50 348 25.00 992 10.50 136
800 812.8 1219 360 502 180 673 516 267 68
32 32.000 48.00 792 19.75 396 26.50 1135 10.50 150
850 863.4 1295 407 533 204 71 584 267 75
34 34.000 51.00 895 21.00 449 28.00 1285 10.50 165
900 914.4 1372 457 565 229 762 657 267 82
36 36.000 54.00 1005 22.25 504 30.00 1445 10.50 180
1000 1016.0 1524 564 632 282 838 814 305 102
40 40.000 60.00 1241 24.88 620 33.00 1790 12.00 224
1050 1066.8 1600 622 660 3M 889 837 305 110
42 42.000 63.00 1368 26.00 684 35.00 1841 12.00 242
100 mz.6 1676 683 696 342 914 943 343 126
44 44.000 66.00 1503 27.39 752 36.00 2075 13.50 277
1200 1219.2 1829 814 759 407 1016 1131 343 143
48 48.000 72.00 1790 29.88 895 40.00 2488 13.50 315

SHURJOINT®



EZY Shurjoint @ ZQIE T[EE Shurjoint R-88 Z2IEQ} &7
o

o (EAIE ZA HFMHME ASTM A536 Gr, 65-45-129] HEIU=Z
SO FLC
e 2 AIO|Z= ASTM A53 Gr. B 228 &2 L= T2 HXf|

3|-E AE-| ]_Ll.olﬂg I:I}»_O.I II|_||:|.
200mm-600mm/8’-24" Z24x| OFEHEf: ANSI B16.5 Class 150
oz MEs§

o 99| zi=rt i7 2 1254 02 7oz HZE

- EE =
RJ-21 RJ-50 RJ-51
|— i |— "AI = —| Al =
o Tl 911 RJ-21 Reducing E| RJ-50 B4 BTN RJ-51 HA BTN
mm/in mm/in ==l s =2 s = 53
mm/in Kgs/Lbs mm/in Kgs/Lbs mm/in Kgs/Lbs
350 X 300 355.6 X 3239 279 66.0 203* 23.0 203* 23.0
14 X12 14.000 X 12.750 11.00 145.0 8.00 51.0 8.00 51.0
400 X 300 406.4 X 3239 305 78.0 229* 29.0 229* 29.0
16 X12 16.000 X 12.750 12.00 172.0 9.00 64.0 9.00 64.0
400 X 350 406.4 X 355.6 305 80.0 229* 29.0 229* 29.0
16 X 14 16.000 X 14.000 12.00 176.0 9.00 64.0 9.00 64.0
450 X 300 457.2 X 3239 394 112.0 241 35.0 241 35.0
18X 12 18.000 X 12.750 15.50 246.0 9.50 78.0 9.50 78.0
450 X 350 457.2 X 355.6 394 115.0 381 36.0 381 36.0
18 X 14 18.000 X 14.000 15.50 253.0 15.00 79.0 15.00 79.0
450 X 400 457.2 X 406.4 394 120.0 381 36.0 381 36.0
18 X 16 18.000 X 16.000 15.50 264.0 15.00 79.0 15.00 79.0
500 X 300 508.0 X 323.9 438 135.0 254* 43.0 254* 43.0
20X 12 20.000 X 12.750 17.25 297.0 10.00 95.0 10.00 95.0
500 X 350 508.0 X 355.6 438 138.0 508 45.0 508 45.0
20X 14 20.000 X 14.000 17.25 304.0 20.0 99.0 20.0 99.0
500 X 400 508.0 X 406.4 438 144.0 254 46.0 254 46.0
20X 16 20.000 X 16.000 17.25 317.0 10.00 101.0 10.00 101.0
500 X 450 508.0 X 457.2 438 149.0 508 58.0 508 58.0
20X 18 20.000 X 18.000 17.25 328.0 20.00 128.0 20.00 128.0
600 X 300 609.6 X 3239 508 180.0 305* 70.0 305* 70.0
24 X12 24.000 X 12.750 20.00 396.0 12.00 154.0 12.00 154.0
600 X 350 609.6 X 355.6 508 185.0 508 70.0 508 70.0
24 X 14 24.000 X 14.000 20.00 407.0 20.00 154.0 20.00 154.0
600 X 400 609.6 X 406.4 508 190.0 305* 70.0 305* 70.0
24 X 16 24.000 X 16.000 20.00 418.0 12.00 154.0 12.00 154.0
600 X 450 609.6 X 457.2 508 197.0 508 70.0 508 70.0
24 X18 24.000 X 18.000 20.00 433.0 20.00 154.0 20.00 154.0
600 X 500 609.6 X 508.0 508 202.0 305* 710 305* 710
24 X 20 24.000 X 20.000 20.00 444.0 12.00 156.0 12.00 156.0
a7 Tolz 9| RJ-70 ZX| OtEE
; ; ESE s
mm/in mm/in mm/in Kgs/Lbs
200 219.1 152 20.4
8 8.625 6 449
250 273.0 203 30.5
10 10.750 8 67.1
300 3239 203 44.6
12 12.750 8 98.1
350 355.6 203 54.0
14 14.000 8 118.8
E-E 400 206.4 203 66.8
RJ-70 16 16.000 8 147.0
450 457.0 203 78.8
18 18.000 8 173.4
500 508.0 203 1013
20 20.000 8 2229
600 610.0 203 130.4

24 24.000 8 286.9

SHURJOINT®



RING JOINT COUPLINGS B SHURJOINT®

28 RH-1000 1000 PSI & Z=QIE

I_
E
mo|ZE ffet nUE & =2 'EE’:ILIEF EE'EE - 7H°| Ductlle

iron heavy-wall 5t2& 1t 17 7tAZFEPDM E= Nitrile) a2

I F 89 gx2| Ed 2E J2|1 mio[=o| 27{st0d 1000psi
(69barlole] ZCiAgeEoz Koo H2E 4 s HeE
4|0 JUSLICEL F 742 St eel rlngc> ZOUEQ} B SN
HZELICE. Steel ring2 &4 YZo| Mol TR0 SF(0{0f
SiLc,
- Z9IE 7% Ee/0E Tol= Eete] 913
b I | oo|= oF 520t ZEzAz s
; ; SES A B c No 24 R L E(max)
mm/in mm/in Bar/PSI mm/in mm/in mm/in in Deg. mm/in mm/in mm/in Bos(s
200 219.1 69 282 372 98 12 25 3.2 20.0
2 1"'x 140 0° -18'
8 8.625 1000 11.10 14.65 3.86 0.47 1 0.13 44.0
250 273 69 360 430 102 12 25 3.2 26.0
2 1'% 165 0° - 38'
10 10.750 1000 14.17 16.93 4.00 0.47 1 0.13 57.2
300 3239 69 415 510 106 12 25 3.2 33.0
2 1'% 165 0° - 32
12 12.750 1000 16.33 20.07 417 0.47 1 0.13 726
D2 RH-3000 3000 PSI & X0IE
RX-3000 ZQIE= Sch 80, Sch 120 E£= 1 0|49 EtAZE
ojo|ZE 9ot n=ol g ROIEQILICE ZQE= = 7 Ductile
iron heavy-wall 5283t 12 7IAZIEPDM E= Nitrile) 22|
o 4l JHel g2 Es EE J2(1 mhol=ol 27{sted 3000psi
(207bar)0|&o| Z|ThAIBRYHOZ ZOIE HZE & U= HER - C =

TAE0] YELICE F 719l Steel ring2 ROIEQ} SHA| ZE0H|A
HIZELICE Steel ringS &4 ¥Z0| mo|x U0 SH|0{of

giLict,
_ I ZQUE R|$ =2E/HE ojo|Z BEo| 9|
oA ol 2 gsﬂ@"' A B - c R EL E(max) =2
) ) g q max
DT oy Bar/PS| mm/in mm/in mm/in o n mm/in mm/in mm/in el
100 14.3 207 172 218 108 9 23 3 15.0
4 7/8" x 100
4 4.500 3000 6.77 8.59 4.25 0.35 0.91 1/8 33.0
150 165.1 207 246 325 128 9 28 3 36.0
4 7/8" x 140
6 6.500 3000 9.69 12.79 5.04 0.35 1.10 1/8 80.0
150 168.3 207 246 325 128 9 28 3 36.0
4 7/8" x 140
6 6.625 3000 9.69 12.79 5.04 0.35 1.10 1/8 80.0
200 219.1 207 313 400 148 12 31 3 60.0
4 1" x 140
8 8.625 3000 12.33 15.75 5.83 0.47 1.22 1/8 132.0
250 273.0 207 394 520 160 15 31 3 95.0
4 1-1/2" x 160
10 10.750 3000 15.51 20.47 6.30 0.59 1.22 1/8 209.0
300 3239 207 470 592 173 15 31 3 145.0
4 1-1/2" x 160
12 12.750 3000 18.50 23.30 6.81 0.59 1.22 1/8 319.0

SHURJOINT®



_Aﬁnarugﬂ

L §
'-
v

HIILIZES of2 29 272 M3l o|AXRILITH oS SH
Alo|X| =20l & 2e=AE 280 =lo| HE JkssiA & SLic
HFILIZEIS HHES WED 42 YWHoR mo|z 7 28NS oW, == 1 S80I BRI 72 stsst ot S
51X o4m KBS HZAIZL 4 U2 Shurjoint7h HLSIHELICH
M HFILIZEIS HZAZ £ QEE mo|mof MEt £= =2 712 e 7721,7722 HPILUZE Jl1E =
oz HMIS FLICH JIK B2 QUSE ENS 27| sl 2715

Az Tolz 9Zo) YEE N

0

=

37t

Bl
3Q
k=l

= 77210} 7722 HIFHLIZE] HTE
MR HIFILIZEIE Y & UABLIC

2ME O[Z5tH J7at Zo|

N
HZHLZEI 3* 2EE 2T

=== = M5| AR M AT STt YN
S70| A7|=2 M7=l Yooz g £ 225t ZO0|X| U&=

ofzff Eeot Zo| E2R3 HIXIE 0

gt

Threaded x Threaded Grooved x Grooved Threaded x Grooved
Model 7721C Model 7722C Model 7723C

2 723 MESI2 AZEEY &5, & Ao|X|, =22 UZE S c
AN HAdsty| Yol motE MAEIE Ut XS 6fX| ¥ H}OIE()M
THEZ O AISRILICH AT ROEE mo|mo| FHO| THA|
7|7 U-2EZEM HEE Z0|A 5o Q= F2YUUCH (2EEE)
ME3Q ZIch AHR Y= 12kgf/arLICt
(BEE XY uf X[ E2Q3 30N-m)
X XOIE x|& —_
7 4 _07’:% AN Ll Taek-out ge37| geses 53
mm/in g A B C - in N-M/Lb~Ft Kgs/Lbs
mm/in mm/in mm/in mm/in mm/in
32x15 30 53.0 89.0 56.0 350 3/80 20- 30 04
1.25 x 0.5 118 2.08 3.50 2.20 138 U-Bolt 15-22 09
32x 20 30 53.0 89.0 56.0 350 3/80 20-30 0.4
125 x 075 118 2.08 3.50 220 138 U-Bolt 15-22 09
32x25 30 56.0 9.0 56.0 38.0 3/80 20-30 0.4
125 x 1 118 220 3.50 2.20 150 U-Bolt 15-22 09
20x 15 30 550 89.0 56.0 350 3/80 20-30 0.4
15 x 0.5 118 216 3.50 2.20 138 U-Bolt 15-22 09
40 x 20 30 55.0 89.0 56.0 350 3/80 20-30 0.4
15 x 0.75 118 216 3.50 2.20 138 U-Bolt 15-22 09
0% 725 30 58.0 89.0 56.0 38.0 3/80 20-30 04
15x1 118 228 3.50 2.20 1.50 U-Bolt 15-22 09
50x 15 30 640 98.0 56.0 220 3/80 20-30 0.4
2x05 118 2,51 3.85 2.20 165 U-Bolt 15-22 09
50 x 20 30 64.0 98.0 56.0 420 3/80 20-30 0.4
2x075 118 2,51 3.85 220 165 U-Bolt 15-22 09
50x 25 30 67.0 98.0 56.0 450 3/80 20-30 0.4
2x1 118 2.63 3.85 2.20 177 U-Bolt 15-22 09
65xT5 30 69.0 1.0 56.0 510 3/80 20-30 0.4
25x0.5 118 271 437 2.20 2.00 U-Bolt 15-22 09
65 x 20 30 69.0 110 56.0 510 3/80 20-30 0.4
25x075 118 271 437 220 2.00 U-Bolt 15-22 09
65x 25 30 720 110 56.0 540 3/80 20-30 05
25x1 118 2.83 437 2.20 213 U-Bolt 15-22 11

SHURJOINT®




51 SHURJOINT®

2 7721 LEARA HIZILUZE

2 7721 LIAMA HI7HLZE|= Mo|Z0f 7HS £0 2 LA Mz HRIE oEA| 2E S22 MIELCH MBYUE 20kgf/or
=l = —
27|18 stz MBYUC M= HEY MEE =Y el nf AL|Ct,
JIAZ DL Szl FIRAE EMEEZ TME| QSLCH EH
x| Z ZOIE X|$ =E =
E37 2
FEXAE | 432-0/013-0 [ T¥ 5 |
mm/in mm/in mm/in | mm/in mm/in mm/in mm/in
50 x 15 38 50 64 40 128 73 M10 X 55 1.1
2x 0.5 1.50 1.97 2.50 157 5.04 2.87 3/8 X 2-1/8 2.4
50 x 20 38 50 64 40 128 73 M10 X 55 11
2x0.75 1.50 1.97 2.50 1.57 5.04 2.87 3/8 X 2-1/8 2.4
50 x 25 38 51 68 40 128 73 M10 X 55 1.2
2x1 1.50 2.00 2.68 1.57 5.04 2.87 3/8 X 2-1/8 2.6
50 x 32 [45] 53 71 40 128 82 M10 X 55 13
2x125 [1.75] 2.08 2.80 1.57 5.04 3.22 3/8 X 2-1/8 29
50 x 40 [45] 53 71 40 128 82 M10 X 55 13
2x15 [1.75] 2.08 2.80 157 5.04 3.22 3/8 X 2-1/8 29
65 x 15 38 57 71 48 146 73 MI12 X 75 14
2.5x 0.5 1.50 2.25 2.80 1.89 575 2.87 1/2X3 3.1
65 x 20 38 59 73 48 146 73 MI12 X 75 14
2.5x0.75 1.50 2.32 2.88 1.89 5.75 2.87 1/2X3 3.1
65 x 25 38 58 75 48 146 73 MI12 X 75 15
25x1 1.50 2.28 295 1.89 575 2.87 1/2X3 3.3
65 x 32 51 61 79 48 146 82 MI12 X 75 16
25x125 2.00 2.40 3.1 1.89 575 3.22 1/2X3 3.5
65 x 40 51 61 79 48 146 82 MI12 X 75 16
25x15 2.00 2.40 3.1 189 575 3.22 1/2X3 3.5
80 x 15 38 63 81 56 160 67 MI12 X 75 16
3x0.5 1.50 2.47 3.19 2.20 6.39 2.63 1/2X3 3.5
80 x 20 38 62 81 56 160 67 MI12 X 75 1.6
3x0.75 1.50 2.44 3.19 2.20 6.39 2.63 1/2X3 3.5
80 x 25 38 64 81 56 160 67 MI12 X 75 1.7
3x1 1.50 2.50 3.19 2.20 6.39 2.63 1/2X3 3.7
80 x 32 51 71 89 56 160 88 MI12 X 75 1.9
3 x 125 2.00 2.80 3.50 2.20 6.39 3.46 1/2X3 4.2
80 x 40 51 71 89 56 160 88 MI12 X 75 2.0
3x15 2.00 2.80 3.50 2.20 6.39 3.46 1/2X3 4.4
80 x 50 64 72 91 56 160 101 MI12 X 75 23
3x2 2.50 2.83 3.58 2.20 6.39 3.98 1/2X3 5.1
100 x 15 38 76 94 72 190 67 MI12 X 75 1.9
4 x0.5 1.50 3.00 3.70 2.83 7.48 2.63 1/2X3 4.2
100 x 20 38 75 94 72 190 67 M12 X 75 1.9
4 x0.75 1.50 295 3.70 2.83 7.48 2.63 1/2X3 4.2
100 x 25 38 77 94 72 190 67 MI12 X 75 2.0
4 x1 1.50 3.03 3.70 2.83 7.48 2.63 1/2 X3 4.4
100 x 32 51 81 99 72 190 85 M12 X 75 2.2
4 x 1.25 2.00 3.19 3.89 2.83 7.48 3.35 1/2 X3 4.8
100 x 40 51 81 99 72 190 85 M12 X 75 23
4 x15 2.00 3.19 3.89 2.83 7.48 3.35 1/2 X3 5.1
100 x 50 64 86 105 72 190 101 MI12 X 75 2.7
4x2 2.50 3.38 4.13 2.83 7.48 3.98 1/2 X3 5.9
100 x 65 70 82 1 72 190 112 MI12 X 75 3.3
4x25 2.75 3.23 4.37 2.83 7.48 4.40 1/2X3 7.3
100 x 80 89 82 112 72 190 136 M16 X 90 5.6
4x3 3.50 3.23 4.40 2.83 7.48 5.35 5/8 X 3-1/2 12.3
125 x 50 64 105 124 86 236 102 M16 X 90 4.2
5x2 2.50 4.13 4.88 3.39 9.29 4.00 5/8 X 3-1/2 ©.2
125 x 65 70 99 127 86 236 18 M16 X 90 4.5
5x25 275 3.89 5.00 3.39 ©.25) 4.65 5/8 X 3-1/2 9.9
150 x 32 51 109 127 98 256 93 M16 X 135 4.4
6 x125 2.00 4.29 5.00 3.86 10.07 3.66 5/8 X 5-5/16 9.7
150 x 40 51 109 127 98 256 93 M16 X 135 4.4
6 x 1.5 2.00 4.29 5.00 3.86 10.07 3.66 5/8 X 5-5/16 9.7
150 x 50 64 113 132 98 256 101 M16 X 135 4.8
6 x2 2.50 4.45 592 3.86 10.07 3.98 5/8 X 5-5/16 10.6
150 x 65 70 m 140 98 256 118 M16 X 135 5.4
6x25 2.75 4.37 5.50 3.86 10.07 4.65 5/8 X 5-5/16 11.9
150 x 80 89 110 140 98 256 137 M16 X 135 6.0
6 x3 3.50 4.33 5.50 3.86 10.07 5.39 5/8 X 5-5/16 13.2
150 x 100 4 107 140 98 256 164 M16 X 135 6.6
6 x 4 4.50 4.21 5.50 3.86 10.07 6.46 5/8 X 5-5/16 14.5
200 x 50 [701 135 166 120 327 101 M20 X 120 6.2
8x2 [2.75] 5.31 6.54 4.72 12.87 3.98 3/4 X 4-3/4 13.6
200 x 65 70 137 166 120 327 104 M20 X 120 6.3
8x25 2.75 5.39 6.54 4.72 12.87 4.09 3/4 X 4-3/4 13.9
200 x 80 89 136 166 120 327 128 M20 X 120 7.1
8x3 3.50 535 6.54 4.72 12.87 5.04 3/4 X 4-3/4 15.6
200 x 100 14 133 166 120 327 164 M20 X 120 8.0
8 x4 4.50 5.24 .54 4.72 12.87 6.46 3/4 X 4-3/4 17.6

6
E4(Hole-Saw) 47| 2lAE0] 71 7Y o/ ALgS BHELICL T*: 27IR(molZSdolM 2715 7Hx|9| #al)

SHURJOINT®



7722 JFEE HZHLZ E

7722 2REEIY O7HZE= To|=of

| T1 O
M3

a

8|-():| pbS

=l
27|12 ste MEYUc SH= HEtd MEZ Ho AeH
A

ZtAZD EX2|E FHEAE EHZES} HEZ FHEO QS

Lch EHXEE HRIE, oZEA 28
2 20kgf/omrL|Ct,

So2 NBELI A8y

A = A EOIE x|
o I 20810 AT e e

mm/in mm/in mm/in mm/in [ mm/in | mm/in |mm/in n sl
50 X 25 60.3 X 33.4 38 68 40 128 73 M10 X 55 10
2X1 2.375 X 1315 150 2.68 157 |[5.04 | 287 | 3/8X2-1/8 2.2
50 X 32 60.3 X422 [451] 71 40 128 82 M10 X 55 10
2 X125 2.375 X 1.660 [1.75] 2.80 157 | 504 |[3.22 | 3/8X2-1/8 2.2
50 X 40 60.3 X 48.3 [45] 71 40 | 128 82 M10 X 55 12
2X15 2.375 X 1.900 [1.75] 2.80 1.57 | 5.04 |3.22 | 3/8X2-1/8 2.6
65X 25 73.0/76.1X 33.4 38 75 48 146 73 MI12X 75 1.8
25X1 2.875/3.000 X1.315 150 2.95 189 | 5.75 |2.87 1/2X3 4.0
65 X 32 73.0/76.1X 42.2 51 79 48 146 82 MI12X 75 1.7
2.5 X125 2.875/3.000 X 1.660 2.00 3.11 189 | 575 | 3.22 1/2 X3 3.7
65 X 40 73.0/76.1X 48.3 51 79 48 146 82 M12 X 75 19
2.5X15 2.875/3.000 X 1.900 2.00 3.11 189 | 575 | 3.22 1/2 X3 4.2
80 X 25 88.9 X 33.4 38 81 56 160 67 MI12X 75 1.7
3X1 3.500 X 1.315 150 3.19 2.20 | 6.30 | 2.63 1/2X3 3.7
80 X 32 889X 422 51 89 56 160 88 MI12X 75 1.8
3 X125 3.500 X 1.660 2.00 350 |220 |[6.30 |3.46 1/2 X3 4.0
80 X 40 88.9 X 48.3 51 89 56 160 88 M12 X 75 19
3X15 3.500 X 1.900 2.00 350 |220 |[6.30 |3.46 1/2 X3 4.2
80 X 50 88.9 X 60.3 64 91 56 160 101 MI12 X 75 2.2
3X2 3.500 X 2.375 2.50 3.58 | 220 |6.30 |3.98 1/2X3 4.8
100 X 25 114.3 X 33.4 38 94 72 190 67 MI12X 75 2.0
4 X1 4.500 X 1.315 1.50 389 |283 [7.48 |2.63 1/2 X3 4.4
100 X 32 114.3 X 42.2 51 99 72 190 85 M12 X 75 2.1
4 X 1.25 4.500 X 1,660 2.00 389 |283 |[7.48 | 3.35 1/2 X3 4.6
100 X 40 114.3 X 483 51 99 72 190 85 MI12X 75 22
4 X15 4.500 X 1.900 2.00 3.89 |283 |7.48 | 3.35 1/2X3 4.8
100 X 50 114.3 X 60.3 64 105 72 190 101 MI12X 75 2.7
4 X2 4.500 X 2.375 2.50 4.13 283 |7.48 | 398 1/2 X3 5.9
100 X 65 114.3 X 73.0/76.1 70 1 72 190 112 M12 X 75 3.0
4 X 2.5 4.500 X 2.875/3.000 2.75 4.37 | 283 |7.48 |4.40 1/2 X3 6.6
100 X 80 114.3 X 88.9 89 12 72 190 136 M16 X 90 5.2
4 X3 4.500 X 3.500 3.50 440 | 283 |7.48 [535 | 5/8X3-1/2 1.4
125 X 50 139.7/141.3 X 60.3 64 124 86 236 102 M16 X 90 4.2
5X2 5.500/5.563 X2.375 2.50 488 | 339 [9.29 |4.00 | 5/8 X 3-1/2 9.2
125 X 65 1413 X 73.0 70 127 86 | 236 | 118 M16 X 90 4.2
5X25 5.563 X 2.875 2.75 5.00 | 339 [9.29 |4.65 | 5/8X3-1/2 9.5
125 X 65 139.7 X 76.1 70 127 86 236 18 M16 X 90 4.3
5X25 5.500 X 3.000 2.75 5.00 |3.39 [9.29 |4.65 | 5/8X3-1/2 9.5
150 X 32 165.1/168.3 X 42.2 51 127 98 256 93 M16 X 135 4.2
6 X 125 6.500/6.625 X 1.660 2.00 5.00 | 3.86 [10.08 | 3.66 |5/8 X 5-5/16 9.2
150 X 40 165.1/168.3 X 48.3 51 127 98 | 256 93 M16 X 135 4.3
6 X 15 6.500/6.625 X 1.900 2.00 5.00 | 3.86 [10.08 | 3.66 |5/8 X 5-5/16 9.5
150 X 50 165.1/168.3 X 60.3 64 132 98 256 101 M16 X 135 4.8
6 X2 6.500/6.625 X 2.375 2.50 520 | 3.86 [10.08 | 3.98 |5/8 X 5-5/16| 10.6
150 X 65 168.3 X 73.0 70 140 98 256 18 M16 X 135 55
6 X 2.5 6.625 X 2.875 2.75 5.50 | 3.86 [10.08 | 4.65 |5/8 X 5-5/16 12.1
150 X 65 165.1X 76.1 70 140 98 | 256 | 118 M16 X 135 5.5
6 X 2.5 6.500 X3.000 2.75 5.50 | 3.86 [10.08 | 4.65 |5/8 X 5-5/16 12.1
150 X 80 165.1/168.3 X 88.9 89 140 98 256 137 M16 X 135 5.6
6 X3 6.500/6.625 X 3.500 3.50 5.50 |[3.86 [10.08 | 539 |5/8X5-5/16| 12.3
150 X 100 165.1/168.3 X 114.3 14 140 98 256 64 M16 X 135 7.0
6 X 4 6.500/6.625 X 4.500 4.50 5.50 |[3.86 [10.08 |6.46 |5/8 X 5-5/16| 15.4
200 X 50 219.1X 60.3 [701 166 120 | 327 | 104 | M20 X 120 5.8
8X2 8.625 X 2.375 [2.75] 6.54 | 4.72 [12.87 | 3.89 | 3/4 X 4-3/4 12.8
200 X 65 219.1X 73.0/76.1 70 166 120 327 104 M20 X 120 6.0
8X25 8.625 X 2.875/3.000 2.75 6.54 | 472 [12.87 [4.09 [3/4X4-3/4| 13.2
200 X 80 219.1X 88.9 89 166 120 327 128 M20 X 120 7.2
8 X3 8.625 X 3.500 3.50 6.54 | 4.72 [12.87 | 5.04 | 3/4 X 4-3/4 15.8
200 X 100 219.1X 114.3 114 166 120 | 327 | 164 | M20 X 120 7.5
8 X 4 8.625 X 4.500 4.50 6.54 | 4.72 [12.87 | 6.46 | 3/4 X 4-3/4 16.5

SHURJOINT®




FLOW CONTROL COMPONENTS B sHuUrjoINT®

D 725F/725G MM ORN
2Y 725 M4 OFHE S22 & ARlstn 2ahst] 412 274 9lof TOIZE AR 4 9lonf R DUER| JH5d
ABIQIEIA AEao|Liol THRE i A3 Tx2 0|ZO0iH e et ool h4E 2l ¥ 4 9l 17 Z2i7} AR/slof
AARS WD IHE 1 47 Ztelo] Jhsstel B £ )
Zo| QrzilE #A & 4 UBUIC T8 48 OFHE 57

" &

| 5 CTa ©
. JL VI
- ‘

Model 725F Model 725G
When ordering, specify the desired flange drilling.

- T+ Zi.d BN XOIE X|5 h— A725F A725G
stem sideX | rain rox. rox.
)lli’ump side sig e L C-E CLR C-T i pépéf Fg)%
mm/in Bar/Psi mm/in | mm/in | mm/in mm/in Kgs/Lbs | Kgs/Lbs
65 x 65 20 224 127 145 95 12 6.6 4.0
25x25 300 8.82 5.00 5.70 3.75 14.5 8.8
80 x 80 20 265 160 179 108 1 9.8 59
3x3 300 10.43 6.30 7.05 4.25 216 13.0
100 x 100 20 312 187 221 127 1 14.5 9.4
4 x4 300 12.28 7.36 8.70 5.00 319 20.9
125 x 125 20 352 213 251 140 1 213 13.0
5x5 300 13.86 8.39 9.88 5.50 46.9 28.6
150 x 150 20 385 229 273 165 1 30.3 19.7
6x6 300 15.16 9.02 10.75 6.50 66.7 433
200 x 200 20 464 260 323 229 11/4 47.6 343
8 x 8* 300 18.27 10.24 12.72 9.02 104.7 755
250 x 250 20 562 315 398 229 11/4 79.4 56.0
10 x 10 300 2211 12.40 15.67 9.02 174.7 123.2
300 x 300 20 668 329 474 254 1/4 104.1 76.4
12 x12 300 26.30 12.95 18.66 10.00 229.0 168.1
350 x 350 20 829 410 533 279 11/4 129.2 90.0
14 x 14 300 32.62 16.14 21.00 11.00 284.2 198.0
400 x 400 20 940 497 648 305 11/4 166.2 1120
16 x 16 300 37.00 19.57 25.50 12.00 365.6 246.4

725G + 7041  +7041
For flanged connection

(DSJ-300L Butterfly Valve

725G + 7180 7180 @ 725-G Suction Diffuser
With a universal flange (37180 Universal Flange Adapter
@7041 Flange

7

® 7150 Concentric Reducer
®51-900 Check Valve i

i (D7707 Flexible Coupling ) o)

725G + Nipple + 7041 Nipple - 7041 (®2707 Rigid Coupling
Extension
@7721 Mechanical Tee With Pressuer Gage 7 5
3 4

L7041 ﬂ

725G +7150 + 7041 7150
Reduction

SHURJOINT®



"'\\fﬂﬂ' 725F

MM OFH
(FENHEE)

Shurjoint= 8FEIYUCE MEE Reduced tHE e = ZolE 712 [ 725F
79 073 N8 CFAE ABEUD. 3WIE  SRmpde| deed T L ToE 1o oo | T ARE
A =0 . o mm/in Bar/Psi mm/in mm/in mm/in mm/in Kgs/Lbs

725F MH CIRHS] W ANSI class 125/15091 (e s
22 ERI0| = PN10 E= JIS 10K Z2HX| 12x10 150 2685 | 1550 | 18.86 1319 293
300 x 200 0 682 394 479 335 o 78

EtQ QlLct, 12x8 150 2685 | 1550 | 1886 1319 i 282
350 x 300 10 963 578 633 365 T 182

14x 12 150 3791 | 2275 | 2492 1437 400

350 x 250 10 963 578 633 365 2 77

14 x 10 150 3791 | 2275 | 2492 14.37 389

200 x 350 10 1038 629 682 203 e 231

16 x 14 150 4086 | 2475 | 26.85 15.87 508

200 x 300 10 1038 629 682 403 T 220

16 x 12 150 4086 | 2475 | 2685 15.87 484

450 x 400 10 1206 71 825 459 2 298

18x16 150 47.48 | 2800 | 3248 18.07 656

750 x 350 0 1206 7 825 459 s 292

18 x 14 150 47.48 | 2800 | 3248 18.07 642

500 x 400 0 1409 864 901 508 s 360

20x16 150 5547 | 3400 | 3547 20.00 792

500 x 350 10 1209 864 901 508 2 354

20 x 14 150 5547 | 3400 | 3547 20.00 779

When ordering, specify the desired flange drilling.

29 726 Y-AEHO0IH

@21 Z0Is0| o) Jrio2 uasln, BAE ¢ 8 ¢ U
=
=

I:-E 26 j_EI:II:_OﬂE Y_ﬂ AEE-”O'L:I'— 9|_'_01|A-| HHJ—I‘ AlAE‘"OE
RYUEE 25 0IZEHE Z2Uo utel H= & IS, Ve i Lch 726 Y& AEHO0|UE 22, 2BAS 250
TH=2 23517| A3t MS0IH oHE &40 XHof RA7t g 58 Zu on, 742 50m~150m(2"~6")= 20kgf/cm2(300p8|)
= WA EAUEUCE 726 Y AEH0|HE F I XRIEES 0|8 T, St 200mm~300mn 42 12kgf/or(175psi 2ol A2 E
St ZHHGH M&SHA HX| 7SSt ARl A AR” ASRI2 HE Lict,
X XOIE %|A A
7% | momey | Lok s Drain Plug | 5 &
i i ey A B © Size /
v ML) Bar/Psi mm/in mm/in mm/in mm/in g/l
50 60.3 20 248 181 116 15 4.2
2 2375 300 9.75 7.13 4.56 0.5 0.3
65 73.0 20 273 199 122 15 6.0
25 2.875 300 10.75 7.83 4.80 0.5 13.2
65 76.1 20 273 199 122 15 7.6
25 3.000 300 10.75 7.83 4.80 0.5 16.7
80 88.9 20 299 221 129 25 8.2
3 3.500 300 175 8.70 5.08 1 18.0
100 4.3 20 362 269 168 25 120
4 4.500 300 14.25 10.59 6.61 1 26.4
125 139.7 20 419 330 258 25 220
5 5.500 300 16.50 13.00 10.16 1 48.4
125 1413 20 419 330 258 25 220
5 5.563 300 16.50 13.00 10.16 1 48.4
150 168.3 20 470 357 219 25 320
6 6.625 300 18.50 14.05 8.62 1 70.4
150 165.1 20 470 357 219 25 320
6 6.500 300 18.50 14.05 8.62 1 70.4
200 JIS 216.3 12 610 454 284 40 55.0
8 8.516 175 24.00 17.87 11.18 15 121.0
200 219.1 12 610 454 284 40 55.0
2"-12" 8 8.625 175 24.00 17.87 11.18 15 121.0
250JIS 267.4 12 686 522 320 40 83.0
10 10.528 175 27.00 20.55 12.60 15 182.6
— 250 273.0 12 686 522 320 40 83.0
,\r”ioi 10 10.750 175 27.00 20.55 12.60 15 182.6
PN 300JIS 318.5 12 762 609 366 40 126.0
/> 12 12.539 175 30.00 24.00 14.40 15 277.2
A YA 300 3239 12 762 609 366 40 126.0
a i 12 12.750 175 30.00 24.00 14.40 15 277.2
'/‘] | 350 355.6 12 1016 760 480 40 190.0
Lo ] 14 14.000 175 40.00 29.92 18.90 15 418.0
400 406.4 12 1067 777 483 40 225.0
14"-16" 16 16.000 175 42.00 30.60 19.00 1.5 495.0

SHURJOINT®



5 SHURJOINT®

28 650 HAHM FOIE

=

Shurjoint B 650 AAHM XQIE= 0" ~3"(0~76m)7HK| Eret
SEI0| 7kt £210[=A] AAHM ZOIEQLICE 22 6502 2719
2 7706 2lFd RQIEQ 2749 22 JtEE Mol J2|1 1749
£2|22 YO QELICH ZF TAE2 Erf 2 SHu MSTNS
Lol HIEAZR(RALI000 EZ)E AEE SSELICH HRY OFFX|
£ o=t XAS WXGtD FAI| 0|EEE XS YotELCH 2
650I0|Zo| ZFt AQIEQ| ZR0| izt SR Me +93T(200°F)
o Rt LA 350psi(25kgt/om)ofl ZACI=ZE A UELICE
T 6502 Plain—ends ZQIE AIBXIE st BHFEE Plain-
ends& ¢t MZEk: 357IsLC

— Z f Z0IE R

I 518 ® A B L min L max S B

mm/in mm/in Bar/Psi mm/in mm/in mm/in mm/in m/in Kgs/Lbs
50 60.3 25 76 96 144 304 381 7.2
2 2.375 350 3 3.78 5.67 12.00 15.00 15.8
65 73.0 25 76 116 168 304 381 9.6
2.5 2.875 350 3 4.57 6.61 12.00 15.00 211
65 76.1 25 76 116 168 304 381 9.6
2.5 3.000 350 3 4.57 6.61 12.00 15.00 211
80 88.9 25 76 146 198 304 381 12.5
3 3.500 350 3 5.76 7.80 12.00 15.00 27.5
100 4.3 25 76 160 250 359 435 18.0
4 4.500 350 3 6.30 9.84 14.13 17.13 39.6
150 165.1 25 76 260 334 406 482 34.0
6 6.500 350 3 10.25 13.15 16.00 19.00 74.8
150 168.3 25 76 260 334 406 482 34.0
6 6.625 350 3 10.25 13.15 16.00 19.00 74.8

Tt 4 ojo|zZ oA Zof 84 L min. L max. -
mm/in mm/in mm/in mm/in mm/in Kgs/Lbs
40 48.3 58 718 776 1.0
15 1900 225 28.25 30.13 24.2
50 60.3 58 718 776 12.2

L min. 2 2.375 2.25 28.25 3013 270

‘ ) 65 730 58 718 776 163
2.5 2.875 2.25 28.25 30.13 36.0
65 76.1 58 718 776 16.3
2.5 3.000 225 28.25 30.13 36.0
80 88.9 58 718 776 209
3 3.500 2.25 28.25 30.13 46.0
100 143 45 667 712 245
4 4.500 175 26.25 28.00 54.0
125 133.0 45 667 712 327
5 5.250 175 26.25 28.00 72.0
150 165.1 45 667 712 327
6 6.500 175 26.25 28.00 72.0
150 168.3 45 667 712 40.8
6 6.625 175 26.25 28.00 90.0
200 219.1 45 724 769 68.0
8 8.625 1.75 28.50 30.25 150.0

SHURJOINT®



-“ B v 4 1 s
‘. “ \ -1'- .
"\ ow sys00L e
SJ-500L2 MSS SP-110 22|10 SP-720i sl Algisln
MAE SEIY, UTe J2RER] & 2202 FH Uit Port 2 HH
= . . - o
LIt HstEE Tamper resistant locking holesO| Ax|=| S
BT SI-500LS Y F2 At 2 TEFAE 121 A6
QA AE = FELFE JIEAE EZOR LHE|0f USLICH 112" - 4" size
]
a
o
1
- L -
6" size
= Z of 4= ZOIE R|$
= ooz 9F | - s 2
mm/in mm/in dgggf £23 : L H W d A B C Kgssllf;)s
Bar/Psi N-m/Lb-=in mm/in mm/in mm/in mm/in mm/in mm/in mm/in
40 48.3 70 7 130 86 178 32 159 79 45.1 22
15 1900 1000 62 5.12 3.39 7.00 125 0.625 0.312 1775 4.8
50 60.3 70 7 140 95 178 38 159 7.9 57.2 29
2 2.375 1000 150 5.50 3.75 7.00 150 0.625 0.312 2.250 6.4
65 73.0 70 21 159 132 265 50 159 7.9 69.1 4.8
25 2.875 1000 186 6.25 5.20 10.43 2.00 0.625 0.312 2720 10.6
65 76.1 70 21 159 132 265 50 15.9 79 72.3 4.8
25 3.000 1000 186 6.25 5.20 10.43 2.00 0.625 0.312 2.845 10.6
80 88.9 70 28 167 143 265 63 159 79 849 6.1
3 3.500 1000 248 6.56 5.63 10.43 2.50 0.625 0.312 3.344 13.4
100 143 55 45 240 94 265 90 159 79 110.0 25.0
4 4.500 800 398 9.45 3.70 10.43 3.50 0.625 0.312 4.334 55.0
150 165.1 40 60 258 221 600 125 159 9.5 163.9 36.0
6 6.500 600 531 10.15 8.68 23.60 4.92 0.625 0.374 6.453 79.2
150 168.3 40 60 258 221 600 125 159 9.5 163.9 36.0
6 6.625 600 531 10.15 8.68 23.60 4.92 0.625 0.374 6.453 79.2
* When first opening or closing the valve when not continuosly operated:
i
34 SJ-500W S2HH(7]101Y) . '
SS-500We & 7|01E YLCh 2E 7[0ls B2tz AAHM ' H
£2|8Y LCh 1SO 5211 HH| HEs SHYRIE sl ExHeiL
C}. ISO 5211 M| HEE WY &E7|9 HRIE sIESLIC !
1-1/2" - 4" size o e
7 24 |moz 9z Eﬂi A = Hash
. - S o
mm/in mm/in mm/in mm/in mm/in Kgs/Lbs
40 48.3 152 124 203 7
15 1900 6 4.88 8 15
50 60.3 152 137 203 8
2 2.375 6 5.38 8 18
65 73.0 152 145 203 10
25 2.875 6 5.68 8 22
65 76.1 152 145 203 10
2.5 3.000 6 5.68 8 22
80 88.9 152 182 203 14
3 3.500 6 7.16 8 168
100 4.3 152 203 203 33
4 4.500 6 8.00 8 73
150 165.1 305 277 356 56
6 6.500 12 10.89 14 123
150 168.3 305 277 356 56
6 6.625 12 10.89 14 123

SHURJOINT®



5 SHURJOINT®

2% SJ-300L HIEHZE0|¢=

2% SJ-300L HE{S20[EEE= IR ROIE HZRI} U= S

o= 10EHAQ 2 &F MRt A= JeH =M= LHUETYO|
Eo AT CJAFR= EPDM E= Nitrile 122 FEE0 UBLICH
712 Ar2Y=2 20kgf/onf(300psi)YLICt,
Tl
7 Tzl — - Mews | 3 3
mm/in | in | mmfin mm/in mm/in mm/in mm/in | N7m/in-Lb/ | Kgs/Lbs
50 603 81 64 63 106 192 9.0 31
2 2375 3.189 2520 2.480 4173 7.56 80 6.8
65 73.0 97 80 68 T 192 B.7 36
25 2.875 3.818 3,150 2677 4370 7.56 120 7.9
65 761 97 80 68 T 192 By 338
25 3.000 3.818 3.150 2677 4370 7.56 120 8.4
30 889 97 92 76 26 192 1 72
3 3.500 3818 3622 2992 4961 7.56 160 9.2
100 43 o T8 39 135 252 50.9 57
4 4500 4567 4646 3.504 5315 9.92 450 25
75 139.7 148 145 102 68 252 791 39
5 5500 5.827 5709 4016 6.614 9.92 700 196
5 1413 3 145 102 68 252 791 92
5 5.563 5.827 5709 4016 6.614 9.92 700 20.2
750 1651 148 72 T4 184 252 017 10.9
6 6500 5.827 6772 4.488 7.244 9.92 900 24.0
ST300N.L 750 683 148 72 T 184 252 017 T3
: ) 6 6625 5.827 6772 4.488 7.244 9.92 900 25.0
(F=HEY) o= 200JIS 216.3 133 222 140 208 356 1356 16.7
; 8 8.516 5.236 8740 5512 8.169 14.02 1200 367
200 219.1 133 222 140 208 356 1356 16.8
Dual-Seal 8 8625 5236 8740 5512 8169 14.02 1200 37.0
250 273.0 160 284 186 260 356 203.4 283
10 10750 | 6300 11181 7323 10.236 14.00 1800 62.2
300 3239 166 334 213 285 356 2825 36.4
12 12750 | 6535 13.150 8386 11.220 14.00 2500 80.1
350 3556 78 359 224 276 200 254 56
14 14.000 | 7.008 14.134 8.819 10.866 7.874 10.00 123.4

52 YuAse) 2AS TaE

22 5)-300W HHEZZo|H

2 SJ-300W HEIS2I0[ME= ORE ZQIE HARI} U= HME
O JI0EAT WHEN s MFYUC SHs HL2IE0| o]
AT ClAZR= EPDM E= Nitrile 2RE IZEEO USUCEL 712
ABYUE2 20kgf/om(300psi) LICH

# A | A 5
i A F
mm/in mm/in mm/in mm/in mm/in mm/in mm/in mm/in it
50 60.3 81 64 63 106 153 154 814
2 2375 3189 2520 2480 4173 6.02 6.06 17.90
65 730 97 80 68 ] 153 154 8.80
25 2.875 3.818 3150 2677 4370 6.02 6.06 17.90
65 76.1 97 80 68 ] 153 154 8.680
25 3.000 3818 3150 2677 4370 6.02 6.06 17.90
30 889 97 92 76 126 153 154 9.20
3 3.500 3.818 3622 2992 4.961 6.02 6.06 2025
700 1143 116 T8 89 35 153 154 10.60
4 4500 4567 4646 3.504 5315 6.02 6.06 23.35
725 139.7 148 145 102 168 153 154 4.34
5 5.500 5.827 5709 4.016 6.614 6.02 6.06 3155
25 413 148 145 102 168 153 154 4.34
5 5.563 5.827 5709 4.016 6.614 6.02 6.06 3155
50 165.1 48 72 T4 84 53 54 6.14
6 6.500 5.827 6.772 4.488 7.244 6.02 6.06 35.50
50 1683 148 72 T4 184 153 154 T6.14
6 6.625 5.827 6772 4.488 7.244 6.02 6.06 35.50
B IIS 2163 133 222 40 208 200 254 2204
8 8.516 5236 8740 5512 8189 7.87 10.00 4850
200 219.1 133 222 140 208 200 254 22.04
8 8.625 5236 8740 5512 8189 7.87 10,00 48550
250 2730 160 284 186 260 200 254 3342
10 10.750 6300 11181 7.323 10.236 7.87 10.00 73.50
300 3239 166 334 213 285 200 254 4152
SI300N-W ) 12750 6.535 13150 8386 11.220 7.87 10.00 9135
350 3556 178 359 224 276 200 254 62
(7101Ek <) 14 14.000 7.008 14.134 8.819 10.866 7.874 10.00 1366

32 71019 2AE ZetELch

SHURJOINT®



SJ-202 HE{S2I0] =

El2t 7|018o= 83
150psi(10bar)LiCt,

2"y

=

El= Wafer EFURILICE OfZIToF 2 =210

3 7 oto|= Z0IE R|= = 2
; 9 & A B © D
L/ mm/in mm/in mm/in mm/in mm/in RIS
350 355.6 330 533 356 242 172
14 14.000 13.00 21.00 14.00 9.50 378
400 406.4 356 597 394 242 210
16 16.000 14.00 23.50 15.50 9.50 462
450 457.2 394 635 419 242 250
18 18.000 15.50 25.00 16.50 9.50 550
500 508.0 410 699 478 280 330
20 20.000 16.13 27.50 18.82 11.00 726
600 609.6 453 813 280 568 500
24 24.000 18.00 32.00 22.36 11.00 1100
==
g SJ-700W HEHEZ 0|
S SJ-700W HEZ2t0| HWEE= O2E 7| Ul HWE2
Out-standing #& E42 Z1 UASLICH EE*' SJ-700W= 4
12kgt/ent(175psi)t 2122 10T MBS + UL =A|
£ ym0l 7y8EEEE JoIZRg0l Sl 9/ EPDM 1942
TME CJAITRO|H MM Te AMMOZ TxkE|o] YALICH
a7 ojo|= ZRIE X3 z =
o A A B ©
G mm/in mm/in mm/in mm/in Kgs/Lbs
50 60.3 86 148 132 8.1
2 2.375 3.386 5.827 5.196 17.9
65 73.0 97 156 132 8.8
25 2.875 3.818 6.142 5.196 17.9
80 88.9 97 162 132 9.2
3 3.500 3.818 6.378 5.196 20.3
100 114.3 116 179 132 10.6
4 4.500 4.567 7.047 5.196 23.4
125 141.3 134 202 192 14.4
5 5.563 5.276 7.953 7.559 316
150 168.3 134 213 192 16.1
6 6.625 5.276 8.386 7.559 355
200 219.1 148 235 192 221
8 8.625 5.826 9.252 7.559 48.5
250 273.0 160 260 242 33.4
10 10.750 6.300 10.236 9.528 73.5
300 3239 166 313 242 415
12 12.750 6.535 12.320 9.528 91.4

SHURJOINT®




5 SHURJOINT®

29 5J-100 LOW-PROFILE HEIZ20l&=

SJ-100 HEIS2t0| HHE= MSS SP-671 EN 593(BS 5155)2
4ol Sl HA=U |-|Ef HEIURE oI HMZE |uH
AHOIZ|IA CIAFIt T2 EIAZOZ F0QUe 20| EXQILICH H2
Y2 it SN 0I1E % g 4 JUELICL EPDM body liner
= +230F(+110T)01¢2 2=01M S50 HMEE|H Nitril body
liner= +180°F(+82C)0142 2=0IM SR MEELICH =
SHEIUFE 2HUS 7IF0| HEE 2'~8(50-200mm)ol| OISE
= AU

- ol ZOIE X% -
D rﬁlm/% mrﬁ/in mrr?/in mrr?/in mrrl?/in mnE/in CRIHES
50 60.3 81 151 46 155 103 1.5
2 2.375 3.18 5.94 1.81 6.10 4.05 33
65 73.0 97 210 70 155 124 29
2-1/2 2.875 3.81 8.26 2.75 6.10 4.88 6.4
65 76.1 97 210 70 155 124 29
2-1/2 3.000 3.81 8.26 2.75 6.10 4.88 6.4
80 88.9 97 210 70 205 145 3.1
3 3.500 3.81 8.26 2.75 8.07 5.70 6.8
100 4.3 16 245 89 245 178 5.5
4 4.500 4.56 9.65 3.50 9.64 7.00 121
125 139.7 148 292 102 245 216 1.8
5 5.500 5.82 11.50 4.01 9.64 8.50 26.1
125 141.3 148 292 102 245 216 1.8
5 5.563 5.82 11.50 4.01 9.64 8.50 26.1
150 165.1 148 335 13 310 240 14.7
6 6.500 5.82 13.19 4.44 12.20 9.44 325
150 168.3 148 335 13 310 240 14.7
6 6.625 5.82 13.19 4.44 12.20 9.44 325
200 219.1 135 398 140 310 343 235
8 8.625 5.31 15.66 5.51 12.20 13.50 51.7
Jloy
T 4 Part b s L H. D E c
mm/in Number mm/in mm/in mm/in mm/in mm/in
50 ~ 150 160 65 195 108 130
2000 - 24 24:1
2~-6 6.30 2.56 7.68 4.25 512
200 238 85 297 153 177
g |2000-30 301 9.37 3.35 170 6.02 6.97

SHURJOINT®



*E% 721-G NRS JHI0O|E =

28 721-G= NRS(non-rising stem) A[0|E HEZ A 7|= C|X}QI 2 74 |moz o ZOIE X4 PlDraiSri\ . Approx.
2 AWWA C-5090] o/ MIXZQALICH HHEHE CEjuxsz mmfin | mmfin | Ll o | mein | min | Kgs/tbs
0] 9lon O|EA|ZECE HMFMa| AlZEHs= EPDM D22 Xz 50 603 | 178 327 178 15 15.0
Elo‘lﬁLll:l- A'-QOFEHQ UL/FM 7|7<O§ 14k ) Nol 2 2.375 7.00 12.87 7.00 1/2 331

RNELICH AIBYUHE=2 =0 gf/er(200psi) L ICt, 65 73.0 191 322 178 25 20.0

25 2.875 7.52 12.68 7.00 1 441
65 76.1 191 322 178 25 20.0
25 3.000 7.52 12.68 7.00 1 441
80 88.9 203 340 190 25 22.0
3 3500 | 799 | 139 | 7.48 1 485
100 4.3 229 420 250 40 41.0
4 4500 | 902 | 1654 | 984 1 90.4
125 139.7 254 477 300 50 50.0
5 5500 | 1000 | 1878 | 181 2 10.2
125 1413 254 477 300 50 50.0
5 5563 | 1000 | 1878 | T8 2 110.2
150 683 | 267 542 300 50 715
6 6625 | 1051 | 2134 | 181 2 157.6
150 651 | 267 542 300 50 715
6 6500 | 1051 | 2134 | 181 2 157.6
LUTTR 200 2191 | 292 668 356 50 107
8 8625 | 149 | 2629 | 14.01 2 2435
250 | 2730 | 330 750 200 50 1476
10 10748 | 1299 | 2952 | 1574 2 324.8
300 | 3239 | 356 835 457 50 235.8
12 12.751 14.01 32.87 17.99 2 518.8
gl 722-G OS&Y HO|E ud

2 722-G= 0S&Y(outside screw & yoke) HO|E HWEZA
712 XIS AWWA C-50901 7 MIZE|QU&LIC HEEH= 4 |moz ez f‘ﬁf ""T | A
SElUREE o] 9on |EARE o BHIAR, AZHE EPDM mm/in | o nvin | e | mmin | Kgs/bs

=] = A o = 2 50 60.3 178 405 178 16.2
I22 XM2Zf JUELCH ABYUBER UL/FM 7IZ2Z 14kgf/on ) e o0 Eos o0 ser
(200psi)LCt. 65 730 191 415 178 220

25 2.875 7.51 16.33 7.00 48.5
—_— 65 76.1 191 415 178 22.0
25 3.000 7.51 16.33 7.00 485
80 88.9 203 486 190 235
3 3.500 7.99 19.13 7.48 518
100 114.3 229 632 250 45.0
4 4.500 9.02 24.89 9.84 99.2
125 139.7 254 710 300 56.0
5 5500 10.00 27.95 181 123.4
125 1413 254 710 300 56.0
5 5563 10.00 27.95 181 123.4
150 165.1 267 842 300 85.0
6 6.500 10.51 33.14 .81 187.3
150 168.3 267 842 300 85.0
6 6.625 10.51 33.14 1781 187.3
200 219.1 292 1100 356 1255
8 8.625 11.49 4330 14.02 276.6
250 273.0 330 1228 200 180.0
10 10.748 12.99 48.34 1574 396.0
300 3239 356 1373 257 256.5
12 12.751 14.01 54.05 17.99 564.3

SHURJOINT®



5 SHURJOINT®

22 5)-000 Agy -

D SJ-900 AYHMIYEE AO|= 2"(50mm)olA 127(300mm) 2 74 | mojz 92 ZOIE |4 P
o . o — A B C
THXI9] MZ0| UM 180°F(82T)MXIQ] =0 MEELICt, SJ-900 mm/in | mm/in mmlin min min | Kgs/Lbs
2 +H L= XUSH EYSO| SE0|Tt ME)02 AZ 7tsstH o J30 0 s N -
J2H EOZNM RX| E47t ZHHEHL|L SHz EM o|ZAIZE £ Al ] iz 2 =
oz gof AALIC 80 88.9 178 Tia % 47
101 AU, 3 3,500 7.00 450 375 103
00 1143 216 146 i 7.9
4 4500 8.50 575 460 7.4
5 1397 330 210 78 220
5 5,500 13.00 8.25 7.00 480
25 1413 330 210 78 220
A B 5 5.563 13.00 8.25 7.00 480
o 10 5.1 305 210 78 25
[ 6 6.500 12,00 8.25 7.00 495
. 150 1683 305 210 78 25
6 6.625 12,00 8.25 7.05 495
~ f \ \ 20005 | 2163 365 260 2 290
(& 8 8.516 1437 1023 8.54 6338
e k J 200 7107 365 760 by 290
8 8.625 1437 1023 8.54 638
750]5 | 267.4 508 365 273 430
10 10528 20.00 1437 1075 950
750 273.0 508 365 273 330
10 10750 20.00 1437 1075 950
300J5 | 3185 610 398 327 64.0
H
2g SJ-920 DOUBLE DOOR N3ud -+ R 20 Lo’ ol H
2 12.750 24.00 15.67 12.87 140.0
SJ-920 Double door XMIWEE ARE YX|5t7| Y A=A
&Lk SJ-920= HEIYFE =il Lot 122 ERlT 304 AH|
OZIA Z E Jfo ClAZy} SHYLC, EHS EPDMINBR Ei
Viton)22 HMz|=|H SIX|IE2 420AHQIZ|AZCZ &E|ELCt
Z0lE A%
74 molz 9 i FLETE
mm/in mm/in L D s g
mm/in mm/in Kgs/Lbs
65 73.0 140 78 7.0
25 2875 5.51 7.01 15.4
65 7611 140 78 7.0
25 3.000 5.51 7.01 15.4
80 88.9 150 191 100
3 3.500 591 7.52 220
100 143 197 235 180
4 4500 7.76 9.26 396
5 1397 21 254 9.0
5 5500 831 10.0 418
125 413 21 254 9.0
5 5.563 831 10.0 418
150 165.1 21 280 220
6 6.500 831 11.02 485
150 1683 21 280 220
6 6.625 831 102 485
200 2191 232 372 290
8 8.625 9.13 14.65 108.0
250 2730 260 206 60.0
10 10.748 10.24 15.98 1322
300 3239 3239 457 106.0
2 12751 1275 17.99 2336

SHURJOINT®



2% SJ-930 HORIZONTAL A8 xiqud

\ SJ-930 Horizontal AZ M3 B wet=y} 128 Eflo|o] Tt
oLt SF0l AIRE 4 Q| AMAEIYSLICH WBE SEURH| X2

HMZo0|0 mo|zLt XRQIE 7|Z3t0f 300psi(20bar)~1000psi

(70bar)2] Y2iolM AFRE 4 UALICH SJ-9302 XH-70 I

d

A
AFR31710 OHRISHD, LRAREFRI(/2 NPT)OI, &20| o QLict
e AE= HZAZ FEHEN A2 316 AH<QZA 4 E2lhs 135) B
EPDM E£= Nitrile@2 X2||U&LICt . 4{
3 Z0IE x4
724 |momeg| 2 s 53
mm/in mm/in A}gga A B c Kgs/Lb
Bar/Psi mm/in mm/in mm/in
60 603 70 229 24 150 56
2 2375 1000 | 900 488 5.90 2.3
65 730 70 235 140 78 85
25 2875 1000 9.5 550 7.00 187
80 889 P 273 146 188 10
3 3,500 600 1075 575 7.40 24.2
100 1143 P 305 194 222 180
4 4500 600 | 1200 7.63 8.74 396
* YRS XH-70 21YE FA FUE0] HZE X 128 SCH 40 =
1 09| mho|zofl 2AFLICH
X
OH 453UGC FLLENH0IE Hy3u-
2E 453UGE FYEY0|E HIUWEHEN WEHEH= HEIUFEZ
|| Aol OZATECZ EHXZ| 453UGS EAR FEEY0E
HERL|AT, AIRUHL UL/FM 7IZ2Z 14kgf/on(200psi)2LIC,
Z0IE X%
T+ 4 olo|= 9|F 3
mm/in mm/in mnl?/in m Kgs/Lb
80 88.9 130 4.0
3 3.500 5.13 /2 8.8
100 43 43 56
4 4500 563 1/2 123
150 165.1 78 26
6 6.500 7.00 3/4 277
150 1683 78 6
6 6625 7.00 3/4 277
200 219.1 210 220
8 8.625 8.25 3/4 48.4

SHURJOINT®




5 SHURJOINT®

ZE RCV 201X H3w=

2% ROV HZHEE SAASIAAY Hizlo| AIZEX0R Aol
X 24 oL HEfQ| HiEO|E ME0| JksELICH RCV MAUEE=
0| 15m(SreeHE X ¢T M= Launig Mg Rast
Lich, & 29 JH7t 326 | HS I ol3tol QA

C

2ol EPDMIH"'°| 7r a .

S2HZ IX|ELE A & 2 USLICH HIAI=2 LI 11/47
(= 2')NPT LML 72 E2|T7t B&Eo JBLILCEL F 1Y &7(1%
LA LEAOIX| HZS 2lsh TSN Ho|H 2 RCV HILE
o MBYH2 20kgf/cn(300psi7HX[0| 1, HM=F0| 7|20|Lt OFH
T2 F20| 7Hs8iLct,

3 7 |moz oz ZUE A : 52
mm/in mm/in mrﬁ/in mrr?/in I\IIDI;'IE'!/IPn Kgs/Lb
65 73.0 190 114 /4 49
25 2.875 7.48 4.50 10.8
80 88.9 178 114 /4 7.0
3 3.500 7.00 4.50 15.4
100 143 216 146 5 1.0
4 4.500 8.50 575 24.2
125 1413 330 210 5 220
5 5.563 13.00 8.25 480
~ B 150 168.3 305 210 5 210
NPT or BSP 6 6.625 12.00 8.25 46.2
200 219.1 365 260 5 29.0
8 8.625 14.37 10.23 63.8

2 RCV 201N MF®H EEIIE

2Y ROV A2 o1zt 2 aloiy £Y JIES B N8
4 UL, 2l0jH IS ROV HZMEL) HEfZ2l0|2=el 20|
8ol FIUREAE Pl Bures 288 4 glonz T

9
2R HWEE MRIGIK| YoM Lt

|'|.|0II

>

ne

SHURJOINT®



SJ-980 Balancing #H= HCtE7 2ZHERI0IH
AAHIOl QEH|E0 et RBXH X

P3| oaf y
= = T
AFE HHZAAHI olHX|] S8 AIZEE EAAZ > UL

=
SMEoZ MAE Exl= MEtst #3888 1 HYUE SX|gL

'ITI_O

SJ-980 Balancing == 2"~8"(50m~200mn)720f 0|2E

Lict,

2 SJ-990 TRIPLE DUTY @

SJ-990 Triple duty #iE= F2 Hoo| 0|2&l= JI2E ERRI9|

CISE EQilict SJ-9909 7I52 Z83HT ASOR M
Shut-Off #E xIWE Balancing el 7|52 Z&§LC

g € BAVIS 250 9IS FEsp) AZ%os
QU shELICE SJ-990= 2"~12"(50m~300mm) S|
2 Uit

= Tolz 9 ZOIE R|$ =z
mm/in mm/in mnl;/in mr:l/in mn?/in Kgs/Lbs
50 60.3 230 260 180 17
2 2374 9.05 10.23 7.08 25.7
65 73.0 290 293 180 13.5
2.5 2.875 11.41 11.53 7.08 29.7
65 76.1 290 293 180 13.5
25 3.000 11.41 11.53 7.08 29.7
80 88.9 310 305 180 234
3 3.500 12.20 12.00 7.08 51.5
100 4.3 350 323 180 39.6
4 4.500 13.77 12.71 7.08 87.3
125 139.7 400 353 260 639
5 5.500 15.74 13.89 10.23 140.8
125 1413 400 353 260 639
5 5.563 15.74 13.89 10.23 140.8
150 165.1 480 388 260 80.1
6 6.500 18.89 15.27 10.23 176.5
150 168.3 480 388 260 80.1
6 6.625 18.89 15.27 10.23 176.5
200 219.1 600 453 260 142.2
8 8.625 26.62 17.83 10.23 313.4
—_
7 74 |golz e 2o ZUE X Hppier.
o2 solgh 4~ mm/in mm/in A L H s 2
= Bar/Psi mm/in mm/in Kgs/Lb
A 0|2 50 60.3 14 230 300 1.7
2 2375 200 9.05 11.81 25.7
65 73.0 14 290 320 13.5
2.5 2.875 200 11.41 12.59 29.7
65 76.1 14 290 320 13.5
25 3.000 200 1.41 12.59 29.7
80 88.9 14 310 350 23.4
3 3.500 200 12.20 13.78 515
100 114.3 14 350 455 39.6
4 4.500 200 13.78 17.91 87.3
125 139.7 14 400 515 63.9
5 5.500 200 15.74 20.27 140.8
125 1413 14 400 515 63.9
5 5.563 200 15.74 20.27 140.8
150 165.1 14 480 565 80.1
6 6.500 200 18.89 20.24 176.5
150 168.3 14 480 565 80.1
6 6.625 200 18.89 22.24 176.5
200 219.1 14 600 710 142.2
8 8.625 200 23.62 27.95 313.4
250 273.0 14 730 895 193.5
10 10.748 200 28.74 32.23 426.5
300 3239 14 850 1000 268.2
12 12.751 200 33.46 39.37 591.2

SHURJOINT®




GROOVED COUPLINGS B SHURJOINT®

JsH X0IE

Shurjointe DEAT REA AHQIZ|A XQIES AJO|X 3/4'~
24'THK| HMEEch o] ME2 Sch 5S, 10S, 20S, 40S, 80S
AE[QI2|A AE! mo|Zo| iUt B0l AFS ZHSEILICH ALSRHE
2 CF8(304), CF8M(316)0|H EHEE HE HA| 304 £= 316
MEZ2 35 7tsguch Esh AHX 2Fo CF3M(316L),
316Ti, 2205 FEA ASTM CK-3MCuN(UNS J93245) 12|
254SMO(254SMOE Avesta Polarit ABAIR| SEMH)9} 22 E
2 M FEXNZT I3 7ISELICL AISUZZAZ HA| ZHzto|

OIE= AF25HE To[met Ato|=of et SHatX|Al ElLich RpMsH

A2 60H0|XIE EZSt0] FAI7| HEFLICE

B C
LGl SS-7 AHIQIZIA AEH 1IFA XQE
A
g SS-72 T&G(Tongue & Grooved) type?l THAl ROIERZ
%‘8 AHQIZ|A mo|Zo| ME JtSEILICH
XOIE x|&
72 |momem| mus | FI g=wl| BS |z
mm/in mm/in mm/in avin || o mn(1:/in in N-m/Lbs—Ft | Kgs/Lb
32 42.2 0-1.6 68 105 45 3/8x2 25-30 0.7
1.25 1.660 0-0.06 2.68 4.13 175 18-22 15
40 48.3 0-1.6 74 108 46 3/8x2 25-30 0.8
15 1900 0-0.06 291 4.25 1.81 18-22 1.8
50 60.3 0-16 86 125 46 3/8x2 25-30 0.9
2 2.375 0-0.06 3.39 4.92 1.81 18-22 2.0
65 73.0 0-16 99 138 46 3/8x2 25-30 10
25 2.875 0-0.06 3.90 5.43 1.81 18-22 2.2
65 76.1 0-1.6 102 141 46 3/8x2 25-30 1.0
25 3.000 0-0.06 4.00 5.55 1.81 18-22 2.2
80 88.9 0-1.6 115 157 46 3/8x3 25-30 14
3 3.500 0-0.06 4.53 6.18 1.81 18-22 3.0
100 4.3 0-3.2 146 191 51 3/8x3 25-30 21
4 4.500 0-0.13 5.75 7.52 2.00 18-22 4.6
125 139.7 0-3.2 170 234 51 12x3 50-68 2.8
5 5.500 0-0.13 6.69 9.21 2.00 37-50 6.2
125 1413 0-3.2 171 236 51 123 50-68 25
5 5.563 0-0.13 6.73 9.29 2.00 37-50 5.5
150 165.1 0-3.2 198 252 51 12x3 50-68 3.1
6 6.500 0-0.13 7.80 9.92 2.00 37-50 6.8
150 168.3 0-3.2 201 256 51 12x3 50-68 2.8
6 6.625 0-0.13 7.91 10.08 2.00 37-50 6.2
200 JIS 216.3 0-3.2 261 330 62 5/8 x 3-1/2 80-120 5.0
8 8.516 0-0.13 10.28 12.99 244 60-90 11.0
200 219.1 0-3.2 264 333 62 5/8 x 3-1/2 80-120 55
8 8.625 0-0.13 10.39 13.11 2.44 60-90 12.1

SHURJOINT®



B8 SS-7X AHIQIZIA AR A

U3 TE B c
2 SS-7X= T&G Bt THAl ROIEEN AH|QIZ|A mO|Z
9] Sch 408, Sch 80S2| mettizto] ALBELICL SS-7X= 107 A
~24" Sch 10S 12|11 20S AHl2|A AS MO|ZME X ks
gL §5-7x9 Exe x9lE9 1o 128 18l -
1= SEME0 QUELICL SS-7X= Ato|Z=0f wmat 274
B ofol YRR TYE EPDM IR DIPTSR [apey Z0E 7 zea | EE [ze
- A Y B C = 3
AHQIZ|IA EHEER} HEZ ML JUELICH mm/in | mm/in | MM/in | mm/in | mm/in | mm/in in N-m/Lbs~Ft| Kgs/Lb
250)IS | 267.4 0-3.2 321 395 62 7/8 % 6-1/2 170-275 8.5
xIEEL S HoS EQI7IK| Zolo BLCH TRAl ZolE0] HO 10 10.528 | 0-0.13 12.28 15.55 2.44 125-200 18.7
o = - oo o = . o= — oT
s - o - 250 273.0 0-3.2 318 406 65 170-275 10.5
SEMEMO|of A7t {240 S Exfsiez 2|5t Holt 512E 7/8x61/2
0] 2SR EZ BoF BHLICH 10 10.750 | 0-0.13 12.52 15.98 2.56 125-200 23.1
=4 e 300015 | 3185 | 032 | 365 | 445 62 [;/55612| V0275 | 98
12 12.539 0-0.13 14.37 17.51 2.44 125-200 225
300 3239 0-3.2 374 452 65 7/8 % 6-1/2 170-275 15
12 12.750 0-0.13 14.72 17.78 256 125-200 233
350 355.6 0-3.2 412 485 75 7/8 x 6-1/2 170-275 15.5
14 14.000 | 0-0.13 16.24 19.09 119 125-200 33.0
400 406.4 0-3.2 463 536 75 5/8 x 3-1/2 80-120 19.6
16 16.000 | 0-0.13 18.22 2110 191 60-90 431
450 457.2 0-3.2 514 587 75 5/8 x 3-1/2 80-120 25.0
18 18.000 | 0-0.13 20.24 2311 191 60-90 55.0
500 508.0 0-3.2 571 669 79 3/4x 4-3/4 100-135 310
20 20.000 | 0-0.13 | 22.48 | 26.34 3.1 75-100 68.2
550 558.8 0-3.2 622 720 79 100-135 33.0
16" ~ 247 3/4x4-3/4
22 22.000 | 0-0.13 24.49 28.35 3.1 75-100 726
600 609.6 0-3.2 673 771 79 3/4x 4-3/4 100-135 34.7
24 24.000 | 0-0.13 26.47 30.35 3.1 75-100 76.3
D8 DS-7X NHA| ZOIE
(AHIQIZ|A MOoIEE
Shurjointe| 2 DS-7X 1A XOIE= 1ZE HEIYFE S
of SIS ESot EPDM JtAYI 1% EXZE HER T4 3 el
SO 2 DS-7X AHQIZ|A HiZHo| ol o] FHIHo|H HHY
FHol Hj20| 7kSEILICE DS-7XE THo|Zo| Ato|=9t FHof whzt
AEY20| 52kgf/e(750psi7x| HEELICL 2E= &Y XIYE
EQIAMR| ZOFAIL 14'~24" A9 AHel2|A A TO|Zof
ME3l= %= GMZE 29 HigLCh
o Z| Y5 = e EQIE X 2 E ~
T+ 4 oo|= 218 Zois e B £ BERZ ; =E 37| s
; ' : A B Drain E23 ;
mm/in mm/in kgt/cm2, PSI kN/Lbs mm/in i P NPT/in N-m/Lbs—Ft in Kgs/Lb
50 60.3 52 14.84 3.6 89.0 150.0 48.6 50 - 68 5/8 x 2-3/4 1.4
2 2375 750 3320 0.14 3.50 5.90 192 37 -50 x 3.0
65 73.0 52 2175 3.6 102.0 178.0 50.8 50 - 68 I8 x 223/ 18
2.5 2.875 750 4870 0.14 4.00 7.00 2.00 37 - 50 5/8x2-3/4 4.0
80 88.9 52 32.26 3.6 122.0 188.0 50.8 50 - 68 5/8 x 2-3/4 2.0
3 3.500 750 7210 0.14 4.80 7.40 2.00 37 - 50 X 4.4
100 14.3 52 47.61 6.4 157.0 222.0 54.0 50 - 68 3/4 x 4-3/4 3.4
4 4.500 750 10630 0.25 6.18 8.74 213 37 -50 x 7.5
150 168.3 52 115.73 6.4 218.0 248.0 57.0 80 - 120 /8 % 5-1/2 7.0
6 6.625 750 25840 0.25 8.58 9.76 2.25 60 - 90 7/8x5 15.5
200 219.1 42 157.00 6.4 273.0 359.0 65.0 100 - 135 1x54/2 1.0
8 8.625 600 35037 0.25 10.25 14.15 2.56 74 -100 X 24.2
250 273.0 42 244.00 6.4 336.0 4310 70.0 170 - 275 ; 14.0
10 10.750 600 54429 0.25 13.23 16.98 275 125 - 205 1x571/2 31.0
300 3239 42 343.00 6.4 392.0 480.0 73.0 275 - 400 1% 5-1/2 20.0
12 12.750 600 76566 0.25 15.43 18.93 2.88 205 - 300 x 44.0

SHURJOINT®




5 SHURJOINT®

DS SS-8 AHIQIZ|A A
o
R84 X2E = C 4
28 SS-8 R84 ZQIEE= Sch 10S £ CIE 9f2 OHo|Zo|AM
B o B P
Mol MeS LEIELICE §3] 0tM LIWWES E= FHO| o2 15
420] £2 tieto] 2 4 U2l SS-82 LHTAO0| Hof Crkst
AHQIZ|A HiZof WED A2 FEY FE LHYLICH
77 | WE ] ey ZUEAT | sgms | meay | B o3
) 9 & : A B Drain . )
mm/in mm/in mm/in mm/in | mm/in | NPT/in A= (L Kgs/Lb
25 334 0-16 557 | 875 | 440 | .. 05
1 1315 0-006 | 219 | 345 | 173 | 2°-45 | 5/6xi1/2 1
32 422 0-16 646 | 97.8 | 440 . 05
B 125 1660 0-006 | 254 | 385 | 173 | 2°-10" | 5/16x11/2 11
40 483 0-16 708 | 1051 | 440 | . .. 05
15 1900 0-006 | 279 | 414 | 173 | P54 | 5/6x11/2 11
50 60.3 0-16 830 | 1240 | 440 | . . r 07
2 2375 0-0.06 328 | 488 173 -3 3/8x2 15
65 73.0 0-16 9%2 | 199 | 440 | o 03
25 2875 0-006 | 379 | 551 | 173 15 3/8x2 18
65 76.1 0-16 992 | 1415 | 440 | . . 0.3
25 3.000 0-0.06 3.91 557 173 ©-12 3/8x2 18
30 889 0-16 M4 | 1550 | 440 | . .. 10
3 3.500 0-006 | 439 | 610 173 | 17-02 3/8x2 22
100 4.3 0-32 1428 | 1958 | 500 | o .. 17
4 4,500 0-0.3 562 | 771 197 | ©°-36 /2x3 37
25 1413 0-32 1708 | 2261 | 500 o 22
5 5.563 0-013 672 | 890 197 ©-18 /2x3 48
150 165.1 0-32 1948 [ 2499 | 530 | o[ 2.7
6 6.500 0-013 767 | 984 | 209 -07 2x 59
150 1683 0-32 1980 | 2531 | 530 | I 2.9
6 6.625 0-0.13 780 | 996 | 209 - 05 /2x3 6.4
2001 2163 0-32 2510 | 3340 | 610 o 5.1
8 8516 0-013 | 1000 | B15 | 240 | 0°-5" | 5/8x31/2 13
200 219.1 0-32 2550 | 337.0 | 620 — 6.4
8 8.625 0-013 | 1004 | B27 | 244 | 0°-50" | 5/8x3-1/2 141
D SS-8X AHIQIZIA AE - . e cm
148 R34 X0IE —J:\
.‘ ‘\
2Y S5-8X AHIA AY TYE REA FOIEE Sch 40S ‘
mho|m {1}
= 80S AH|Ql2[A AR mo|Zet Z2 TR0 O|&XOl HE |
QLICt SS-8X EQIE= AIO|X0f It 27K = 4740 slRAIRE fEU
1
FAE|H EPDM 7tAZIDE TZE AHQIZ|A EHEEQ} HERZ 1N )
Z|of UELICH
F7 | WE | anen ZUEME | yezs| geas | 3 3
) 9 & : A B Drain i )
mm/in mm/in mm/in mm/in_| mm/in_| NPT/in A= i Kgs/Lb
20 26.7 0-16 560 | 950 | 460 o 07
075 1050 0-0.06 220 | 375 181 | 323 3/8x2 15
25 334 0-16 630 | 990 | 460 | . .o 0.8
1 1315 0-006 | 245 | 391 181 | 20745 | 3/8x2 18
32 42.2 0-16 720 | 110 | 460 o 0.9
1.25 1660 0-0.06 282 | 437 181 | 2°-10 3/8x2 2.0
40 483 0-16 780 | 1230 | 460 | . . 10
15 1900 0-006 | 306 | 482 181 | 1°-54 3/8x2 22
50 603 0-16 880 | B40 | 47.0 . 12
2 2375 0-006 | 346 | 528 | 185 | -3 3/8x2 26
65 73.0 0-16 1530 | 1030 | 47.0 - 13
25 2.875 0-0.06 602 | 4.06 185 ©-15 3/8x2 29
80 889 0-16 200 [ V10 | 470 | . o 18
3 3500 0-0.06 471 | 674 185 | 1°-02 2x 4.0
100 1143 0-32 520 | 2010 | 520 | . ., 24
4 4,500 0-0.3 598 | 790 | 203 | °-36 /2x3 53
25 1413 0-32 1810 | 2490 | 53.0 - 33
5 5.563 0-0.3 73 | 980 | 209 | P-W |5/8x31/2] 75
150 1683 0-32 | 2080 | 2760 | 530 | . 36
6 6.625 0-0.3 819 | 1085 | 209 | ©-05 |5/8x31/2| 74
200715 2163 0-32 | 2640 | 3380 | 620 R 65
8 8516 0-01B | 1039 | 131 | 244 | 0°-51 [3/4x43/4] 143
200 219.1 0-32 | 2670 | 3410 | 620 o 6.8
8 8.625 0-013 | 1053 | B43 | 244 | 0°-50" [3/4x43/4| 50

SHURJOINT®




. -
—
N‘éﬂlﬂﬂé AE MHO|X0fl MZ= HEIY & HEIY ROIEE QA7) SIRA0| RMMoz MEL|X| Y= BA0
AHIQIZIA AE XOIEQ| HESH H2 AN AHQIZIA AR TO|Z0| MEE 4 JUBLICE o=
SO et AHSZ0| CRARILICE
FA | = o ey | 208 z07 7707 7705 7041 G-28 | NTO | 5T | ss-8 | ss-ex
(mmsiny | SEREVIRE ]y | K2 | I | (Barspsi) | (Bar/Psi) | (Bar/Psi) | (Bar/psi) | D5 7X X | (Bar/Psi) | (Bar/Psi)
(Sch/Roll) (Bar/Psi) | (Bar/Psi) (Bar/Psi) | (Bar/Psi)
80S 5.54 52 69 69 52 21 21 103 52 52 69
Cut 0.218 750 1000 1000 750 300 300 1500 750 750 1000
408 3.91 35 52 52 35 19 21 69 35 35 52
50 Cut/Roll 0.154 500 750 750 500 275 300 1000 500 500 750
2 10S 277 28 35 35 28 19 21 35 21 21 35
Roll 0.109 400 500 500 400 275 300 500 300 300 500
58 1.65 17 22 22 17 12 14 22 14 14 24
Roll 0.065 250 325 325 250 175 200 325 200 200 350
80S 7.01 52 69 69 52 21 21 103 52 52 69
Cut 0.276 750 1000 1000 750 300 300 1500 750 750 1000
40S 5.16 35 52 52 35 19 21 69 35 35 52
65 Cut/Roll 0.203 500 750 750 500 275 300 1000 500 500 750
25 10S 3.05 28 35 35 28 19 21 35 21 21 35
Roll 0.120 400 500 500 400 275 300 500 300 300 500
55 2.1 17 22 22 17 12 14 22 14 14 24
Roll 0.083 250 325 325 250 175 200 325 200 200 350
80S 7.62 52 69 69 52 21 21 103 52 52 69
Cut 0.300 750 1000 1000 750 300 300 1500 750 750 1000
408 5.49 35 52 52 35 19 21 69 35 35 52
80 Cut/Roll 0.216 500 750 750 500 275 300 1000 500 500 750
3 10S 3.05 28 35 35 28 19 21 35 21 21 35
Roll 0.120 400 500 500 400 275 300 500 300 300 500
5S 2.1 17 22 22 17 12 14 22 14 14 24
Roll 0.083 250 325 325 250 175 200 325 200 200 350
80S 8.56 52 69 69 52 21 21 103 52 52 69
Cut 0.337 750 1000 1000 750 300 300 1500 750 750 1000
408 6.02 35 52 52 35 19 21 69 35 35 52
100 Cut/Roll 0.237 500 750 750 500 275 300 1000 500 500 750
4 10S 3.05 21 28 28 21 19 12 28 21 21 28
Roll 0.120 300 400 400 300 275 175 400 300 300 400
55 2.1 14 17 17 14 12 7 17 14 14 17
Roll 0.083 200 250 250 200 175 100 250 200 200 250
408 6.55 35 52 52 31 17 21 35 35 52
Cut 0.258 500 750 750 450 250 300 N.A. 500 500 750
40S 6.55 28 35 35 21 17 17 28 28 52
125 Roll 0.258 400 500 500 300 250 250 N.A. 400 400 750
5 10S 3.40 17 21 21 14 14 10 17 19 24
Roll 0.134 250 300 300 200 200 150 N.A. 250 275 350
55 277 8.6 14 14 8.6 8.6 5.2 8.6 12 19
Roll 0.109 125 200 200 125 125 75 N.A. 125 175 275
40S 7.1 35 48 52 35 17 21 69 35 35 52
Cut 0.280 500 700 750 500 250 300 1000 500 500 750
40S 71 28 35 35 28 10 17 41 28 24 35
150 Roll 0.280 400 500 500 400 150 250 600 400 350 500
6 10S 3.40 17 17 17 17 8.6 10 21 17 17 17
Roll 0.134 250 250 250 250 125 150 300 250 250 250
5S 277 8.6 10 10 8.6 5.2 7 10 10 10 10
Roll 0.109 125 150 150 125 75 100 150 150 150 150
40S 8.18 31 41 41 31 17 21 41 28 24 41
Cut 0.322 450 600 600 450 250 300 600 400 350 600
408 8.18 21 28 28 21 10 14 28 28 17 28
200 Roll 0.322 300 400 400 300 150 200 400 400 250 400
8 10S 3.76 14 17 17 14 8.6 10 17 17 8.6 17
Roll 0.148 200 250 250 200 125 150 250 250 125 250
58 277 5.2 7 7 5.2 5.2 3.4 7 8.6 5.2 8.6
Roll 0.109 75 100 100 75 75 50 100 125 75 125
408 9.27 28 28 24 17 21 41 28
Cut 0.365 N.A. 400 400 350 250 300 600 400 N.A. N.A.
40S 9.27 17 21 14 10 14 28 21
250 Roll 0.365 N.A. 250 300 200 150 200 400 300 N.A. N.A.
10 10S 4.19 8.6 8.6 8.6 8.6 8.6 8.6
Roll 0.165 N.A. 125 125 125 125 N.A. 125 125 N.A. N.A.
55 3.4 5.2 5.2 5.2 5.2 5.2 5.2
Roll 0.134 N.A. 75 75 75 75 N.A. 75 75 N.A. N.A.
STD 9.53 28 28 24 17 21 41 28
Cut 0.375 N.A. 400 400 350 250 300 600 400 N.A. N.A.
STD 9.53 17 21 14 10 14 28 21
300 Roll 0.375 N.A. 250 300 200 150 200 400 300 N.A. N.A.
12 10S 4.57 8.6 8.6 8.6 8.6 8.6 8.6
Roll 0.180 N.A. 125 125 125 125 N.A. 125 125 N.A. N.A.
5S 3.96 5.2 52 52 5.2 5.2 5.2
Roll 0.156 N.A. 75 75 75 75 N.A. 75 75 N.A. N.A.
SHURJOINT®




2HI2!1|2 GROOVED FITTINGS

5 SHURJOINT®

g SP10 90° AH
SP11 45° A
SP70 &#X| OIEH

O—

l.CwE |

4 S A

g

SP60 . .
SP10 90° A& SP1145° 4w SP70 Z;MX| oldE  SP6o 7Y
AE(90°) A (45°) Zalix| OfEE A
T+ 4 0.D mm Cto E SP10 Cto E SP10 L SP70 SP60T
mm Kg mm Kg mm Kg mm
50 60.3 85.0 0.6 61.5 0.5 80.0 1.9 50.8
65 76.3 104.0 0.8 69.5 0.7 85.0 3.1 50.8
80 89.1 125.0 1.1 77.3 1.0 85.0 3.6 50.8
100 114.3 152.4 2.0 63.1 1.3 90.0 5.8 63.5
125 139.8 190.5 85 78.9 2.39 5.0 6.5 76.2
150 165.2 228.6 4.99 4.7 &8 100.0 9.3 88.9
200 216.3 304.8 9.5 126.3 6.3 115.0 15.0 101.6
250 267.4 381.0 25.0 157.8 11.1 120.0 22.0 127.0
300 318.5 457.2 35.7 189.4 17.2 120.0 32.0 152.4
350
400
450
500
550
600
* 365A 0|&2 7|1 29tk
2 SP20 S3EH
EwE ! CmE. | EtoE | I EtoE
SP21 OIHE] [ il |
SPS0 S A% A = B Du Dy
SP51 HA! HIFAM
= SP20 7] SP210|7El  SP50ZA AFA SP60 B AFA
s 3 E ol # E| /8 HFEM
T4 CtoE SP20 T4 CtoE M SP21 E to E SP50/SP51
mm Kg mm mm Kg mm Kg
65 X 50 76.2 76.2 1.0 110.0 0.7
50 8.5 0.6 80 X 50 85.7 85.7 1.1 110.0 0.6
80 X 65 85.7 85.7 1.2 110.0 0.6
& o e 100 X 50 118.9 103.0 1.8 125.0 0.6
100 X 65 125.3 104.8 1.9 125.0 0.9
Y S - 100 X 80 128.4 104.8 2.0 125.0 0.8
125 X 65 138.0 123.8 2.9 150.0 0.7
100 1048 21 125 X 80 141.0 123.8 3.1 150.0 0.7
125 X100 117.5 123.8 3.2 150.0 1.3
9 PR & 150 X 80 153.8 136.5 4.2 170.0 1.2
150 X100 120.2 136.5 4.4 170.0 2.7
o e 47 150 X125 136.5 136.5 4.5 170.0 2.5
200 X100 185.6 177.8 7.8 190.0 4.7
200 kb 8.4 200 x 125 192.0 177.8 8.0 190.0 4.5
200 X150 168.3 177.8 8.2 190.0 4.3
2 el 14'2 250 X125 220.5 215.9 13.5 220.0 7.7
250 X150 223.7 215.9 13.8 220.0 7.2
- 254.0 216 250 %200 203.2 215.9 14.0 220.0 6.9
300 X150 250.0 235.0 20.5 260.0 11.0
300 X200 250.0 254.0 20.7 260.0 10.3
300 X250 241.3 254.0 21.0 260.0 9.7

SHURJOINT®



ot ~
of \ ul
ol = S
1Ho KA
= _AWr - ||._ ~r
1 N N ok
s f,«y ”@Hﬂ\\ﬂu\ulﬂ —__ W\\lﬂ HHHM\OH, RO
[} & =T N ol
2 b * o3
or © 2 ™
7 e R : o
—_— X
K f.\f.ﬂx * e} T - ~ M
oF Y O I 8 =
KF x% ® KD
Fa =3 .
a1 r N
AL \ Ko U I ST ol % <k N
OF - ' H & Ko Ko mn KO o x Ew .
= i = o =M, g§ o ol
H ; <k 9 W o A S Kl
= . i __o_u N ol Tl ol N N = ~
hw o2 . / — o K KMo KO o T I 2 =
o <+ . . ol 5= - =3 nu [N
o < ; . w0 S oron 2 H R 2
= iofl - : [ 11 = T LY KF 7 - 0 33
o <k M =S g~ Op = F°
o] oD ~ =) H+ =0 N i [ o IS <+
o0 Ko & T g W oo T T S i
oo ol K o~ el M 2 ol <D I IS¢
< KM <F OF T/ MO Ko = o o% 3 Kl
o0 = S R R o up I
<4 R OK TR RO Ul o
ol ol <r ™ _._.I o] =.__=._
= = 6o to oy % o M .
KO ﬁ_vﬂi ok m__u S N _% am _um
] [ e Nt 110
< Hewz o T E = OF
<l o 3 L = o of
O g lne : % 21 b
— r o - » o Bl N = a
HO = w M 110. od e
-lllh S = LH o 2 = 5 o1 Uk K #
. gopor @ B = Kop T
= oo X © A o Al 7o o
. o LK g Ry OF
70 il - NS o 7o)
— n
A K 3 MH % . 111y m
a0 ~J 0Of U_E . ’ 2 Kb o ™~
g HO o ___%_ s P11
—l <FH 5 oo g Ho_ A
A T s < Mu_u__ ) . 4 2 X 50 0
- L N, Vil IDI ° N . = = =T IDI
O W kD I L
ST e P KD
— = BN <R AL S o O
A ln_xm_lmw_ﬁﬂm N ol © B0
oS oS AT s
I w X BEI® O
o A= T T .o B K 1
— = NMH Wl WHo o (o] oF X Kk

4.56” = 116mm (0 = 1.67°)

4000 x 0.02915

Lct.

Lxtan 0
Crolo{aRolAl EX0],

7o

p

Lsin 0

3000
159
131
108
168
136

61
87
70
59

SHURJOINT®

:{(a 5
2000
106
87
72
112
91
M
58
47
40

s

[
1500
79
65
54
84
68
31
44
35
30

ZQUEAO|(L)mm 7HA

Z (0)
1200
64
52
43
67
54
24
35
28
24

600
32
26
22
34
27
12
17
14
12

= 3

3°02'
2°30'
2°04'
312
2° 36'
1°10!
1°40'
1°20'
1°08'

Hanger l;)calion
2"/ 50
21/2"/ 65
3"/80
4" /100
5"/ 125
6" /150
8"/ 200
10" / 250
12"/ 300




51 SHURJOINT®

Maj Ho| MY Sl AleE 1.2 X 1075 YLCt, ofzf AMES &t 5
E_‘ !
Expand :-’ ; Alg
o] /
ﬁﬁ j o TO|Z XZ: 100mm(4")
I Hanger location .
L o IO Z|Ci RZA(E): 3.2mm
e I{O|Z ZO|(L): 5.5M
o I
6. Stz o 2EHSHAT): 40CH5C to +45C)
FSA Z0AEE MEECEMN 2 EE, 227 Z, LMY 71
o 22 AAHS flot ZMujHS HAE 4 JSLICE
L=axLxAT=12x10%x 5500 x 40 = 2.64mm
R L
~ (2xtan 0/2) ojo|Z 55me SEUH0| R84 ZUES| HEHA (o[ Z|f
R=(R: 7728e| €, L: TOIZ 20|, 6: X01E2| S20] 518 27) Lol Q&LIC 5.5m WO|ZO| XQIES AIZSiTiH, 40T 2%
2 s HRALoIN ZiZE) 51| GlIAE|= CHEH Al QI DHRES ECHSH A OIAL (Dt T
|_9-|'0'” Oﬂo ||_ _EO" Hn_ o= oo= So= T meE | |' ELYS)
AA" ZOIEQ| TWQSH 5 AIME HA20 NXEX1/2(AHA4)2
AoZ AAtsto{of gt ct
X
2EHSH M2 AR 3 WHOIHX| AE0|HX| 2o 1 A|ARR
St M 710|EQ 2 XIX| HZ|QF &H YU2 D™HA M7t 27
V) FLC}, ¢l OCIMEX| ot 2= HaP} oAECHH FItE A
HM XQIEE ArEst0{0f BiLC
0fl : CHolo{a oA 204FS0] Hioll 7705 100mm4”) XQIES
Ng3E 82, ZUES| FYAEE 347, TO|Z Z0| 55m, 17 H=HAE At8sle MX[xt= Cael B2t S H2lg RYLICH
Q| HHAES 92 7mJt & ALt
& o = (Imperial)
= nto|= Zo|(feet)
7. 8889 &+
od2z0|2t LS| M2} AS - TixbQ| HHMSH= 74 obsh [ == 20 | U | oy | (00
=2c= ||_ ._En_il'oﬂ f |' Y] | Eool't NE =28 | |’ (°F) 70°F Afole] Smat 77 BAIE 2(inch)
Shurjoint f3Al ZOIEZ 11719 AAHM ROIEJ} EQQ0| 1
= = A= = _ 0 -0.10 -0.20 -0.29 -0.49
2ol 232 4 + W AAE £+ U 20 IE MS 5 20,06 o3 00 032
2 WAL mjo|=o| Zol(L), 2=HSHAT)O whakA Z-ELC. 50 -0.03 -0.06 -0.08 -0.14
70 0 0 0 0
w=axLlxAT 100 0.05 0.09 0.14 0.23
125 0.08 0.17 0.25 0.42
150 0.12 0.24 0.37 0.61
o o 2 (Metric) 175 0.16 0.32 0.48 0.80
T0IZ Zol(meter) 200 0.20 0.40 0.59 0.99
2cws} = e 225 0.24 0.48 073 121
AT 1 55+ | 10 | 20 | 30 | 40 -
o - *AE To|Zo| HMA A= 6.33 infin, FX10”
©C) SWS(millimeters) 2 mio|Zo| U Al4= 6.33 in/in
1 0.012 0.07 0.12 0.24 0.36 0.48
5 0.06 0.33 0.6 12 1.8 2.4
10 0.12 0.66 12 2.4 3.6 4.8
20 0.24 13 2.4 4.8 7.2 9.6
30 0.36 2 36 7.2 m 15
40 0.48 2.6 4.8 9.6 14 20
50 0.6 33 6 12 18 24
60 0.72 4 7.2 14 22 29
70 0.84 4.6 8.4 17 25 34
80 0.96 53 9.6 19 29 39

SHURJOINT®



(NFPA 13)

CtZ2l 0|ojXl= NFPA 139 2ELIC - 2007 £5 AY Xixf

2l A sl

ch, AmgEa A|AE.4'9| Credols Zez ¥ F90s NFPA 13

=)
="=
mn
2
rr
i
r2
10
o
HE
ro
k=]
-
o
10
-0
N 1A

. Roof Roof
24in.
(610 mm) Agj S

Maximum —

K’ \ 4-way brace 4-way
\ (Pipe must rotate brace
within brace)
L I Elbow with
Flexible flexible joints
coupling
Wall Siding —»
Column
Lol Ll ]
RS H Flexible 1 Flexible
coupling coupling
g / /
T ;_\\ : Zi
L
Detail A Detail B
(Might be preferred for metal buildings)
Note to Detail A: THE four-way braces A HiZH0IM SSAl ZOIE Ao MX|
Siofot 310 ©3l2f AZTE0| o HEY 4 UBLICL, Bracet BB E= 34Deckd

Y HxE 2 elslich

FIGURE A.9.3.2(a) Riser Details.

Flexible elbow

—5—  If dimension is

less than 3 ft (0.9m),
flexible fitting is not
needed.

(A T-connection fitting with
flexible joints can be
substituted for elbow.)

b

FIGURE A.9.3.2(b) Detail at Short Riser

2. 2TAIMS| 5N ZoIE 2

/— Ceiling/floor assembly

<24in. (610mmi y/—— Flexible coupling

]

‘—lj <24 in. (610mm)

Flexible Coupling

L / Flexible coupling
H _i_s 12 in. (305mm)

Ceiling/floor assembly j

FIGURE A.9.3.2.3(2) (a) Flexible Coupling on Horizontal
Portion of Tie-In.

/— Ceiling/floor assembly

\— Flexible coupling

<24 in. (610mm)l

Flexible Coupling

Flexible coupling
f“é 12 in. (305mm)

Ceiling/floor assembly —/

FIGURE A.9.3.2.3(2) (b) Flexible Coupling on Main Riser
And Branch Line Riser

f #

/// L L L 2 e L L i e e L L)

o

]
b

mjo
rok

o
SEESIE

=

ol

4,

i— <24in. (610mm) [Paragraph 9.3.2.4(1)]
- L
r——— In-rack sprinkler drops —| ™ X
F . . T Flexible Coupling
lexible Coupling ‘ ‘ r T | I v <24in.
A e o el S
e e =y

£ 24 in. (610mm) l ‘ ‘ ‘ | I H+— Drop Supports
sParagraph | ‘ |

93.2.4(3)] 1]

1T 1 11 1 1 II 1

7z 2 i i e e e e

FIGURE A.9.3.2.4 Flexible Coupling for Drops

SHURJOINT®



2ells

10 in. (254mm)

10 in. (254mm)
& long nipple D

long nipple C ~=,

Coupling
A ) 0 B
)]
Lo e
=) Fire
sprinkler
2ts main
Sin Position Sin. 2ts .
(203mm) (203mm) and nipple E
Plan
Vertical
Coupli | rmmm e movement
Fire sprinkler -CUP!ng ! 1
main \ ( ! Ell
s
f g + ﬂ BJ) Normal
A ‘ ! position
Ell | i
e I
Ell 4 Nipple £

) 2 ell lengths
D/ Ell 8! in. (216mm) for 3 in. (76mm) pipe

7Y% in. (191mm) for 2% in. (65mm) pipe

Elevation
FIGURE A9.3.3(a) LIZ! HEHZE, HZA| 210l 47(102m) OlAe| mpo|Zof ot
=

4
ARtz Lo| ZHA2 87(203m)E EYLIct E C2 |2 72| 12|10 To|Z Ao|=, Z
0| 22|z H2l= FEXIH HE=/ofoF gLt

6. AZE2| molFe| LiZIEA

J7C

Building 2

A Four-way brace at riser

B Lateral brace

C Lateral brace

D Short drop [Figure A.9.3.2(b)]
E Couplings at wall penetration
F Longitudinal brace

FIGURE A.9.3.5.6 (a)

51 SHURJOINT®

~
~
\N
%,
-
s
X

\ ™~
s
A ‘{ j( \K" I
¥ 7~ - —[ S — ’
4 in. (102 mm) N <—|>| ! ]_“j_’_ /4in.(102mm)
B | | ! ]
/ ! \
/ Normal i
8in. (203mm) | pocion T ™ 8in. (203mm)

Longitudinal movement

e e

8 in.
(102 mm) | (203mm)
Lateral movement

Horizontal Views

7. Loop AIABIQ| Bracing?l M&Xol 2|X|

Longitudinal brace
(two-way)

}

——r

No bracing
1 4
b
| —
-
+ “— Four-way brace

FIRURE A.9.3.5.6 (d)
Typical Location of Bracing on a Looped System.

Lateral brace
(two-way)

AN

Longitudinal brace
(two-way)

Z0 S3540| 27&= AAHINM= FIHH0l
ot = 7EHoz BR2 He U-8 U

st 6
Ofsl XIXIZ|HEI 247 (600m)0lst HiZOIM= EB 1H7I0|E 3
0] HE=|0{oF EHLICH(NFPA 13-2007 9.3.2. & 9.35))

SHURJOINT®




: '_ )
SN\ T, @t Jam MEso 13

\ Shurjoint 12E XQIES £of st 2440| Steel DHO|ZEC}

WA EA = R{E U

EnHERRH AAHS B3|
|=ot DYIIHE HR[SHOF BALICt,

NBHS 1 TOIELE AP HULIC

7= molZ MzEOS| 2t ZRIE0| 2501b(115kgs)E 7I3t =22

15 M2 molz 2AQ SHE XIXE +
A
m

(NFPA 13 9.1.1.1). C+Z o[olx|
1301 2i7fet #AYLICEL

D
dimension

‘Wraparound
U-hook

D
dimension

Adjustable swivel
Ring - rod tight
to pipe

v
f

D
dimension

L XKst

= o=

A A= AS L

ol
M

= dferlm NFP

>

U-Hook sizes
TO|Z AIO|= | D dimension
in in/mm
~2 5/16 (7.9)
2-12~6 3/8 (9.5)
8 1/2(12.7)
Rod sizes
TO|Z A= | D dimension
in in/mm
~4 3/8 (9.5)
5~4 1/2 (12.7)
10~12 5/8 (15.9)
Eye rod sizes
mo|Z A= | D dimension
in in/mm
~4 3/8(9.5)
5~6 1/2(12.7)
10~12 3/4 (15.1)

Code, B31.9 Building Services Piping Code, NFPA 13
Sprinkler Systems, or Mechanical Equipment Construction
Guide(JAPAN) 2| &7 22X 7|28 &xE 4 UASLICH

HoHE MEEAtO|2] Al ARFZIO|(AE! mo|Z)

oto|= Water Service Gas or Air Service

| (meters) (meters)

in/mm ) 2) 3] 49| 1 2)
1/ 25 21 27 37 20 2.7 2.7
125/ 32 21 3.4 37 20 2.7 3.4
15/ 40 21 37 4.6 20 2.7 4.0
2/50 31 4.0 4.6 20 4.0 4.6
3/80 37 4.6 4.6 20 4.6 5.2
4 /100 4.3 5.2 4.6 20 52 6.4
6 /150 5.2 6.1 4.6 3.0 6.4 7.6
8/ 200 5.8 6.4 4.6 3.0 7.3 8.5
10/ 250 5.8 6.4 3.0 7.3 9.5
12 /300 7.0 6.4 3.0 9.1 10.1
14 / 350 7.0 6.4 9.1 10.1
16 / 400 8.2 6.4 10.7 10.1
18 / 450 8.2 6.4 10.7 10.1
20 / 500 9.1 6.4 1.9 10.1
24 /600 9.8 6.4 12.8 10.1

1) ANSI B31.1Power Piping Code 2) ANSI B31.9 Building Services Piping Code

3) NFPA 13 Sprinkler systems

4) Ministry of Land & Transportation of Japan: Mechanical Equipment
Construction Guide

A Ex|H|

= —

J0
ofn
1z
2.
re
Im
N
>
olo
m
rir
4>

Tefze
Y| 7SA ZUES AISE FR0l WA HRIRRXIE s

ot 2t RQIEQ| ZHsHoF stt, SPANS| 1/6L40f 722 sHoF BHLC.

Elevation
e an ph R I S,
max.1/6L
L
plan
e e e -
max.1/6L
le— L
Correct hanger location Wrong hanger location

SHURIJOINT®



51 SHURJOINT®

7|2 J8|7 ZMO0|T HjREe| S ME|R| 27150l #7) B MEES ZMA Hiol 2ol €1, 4 YA
OlLt B3R e Brlao| AZEL)

1-1/4" and above

Curved pipe runs

O0|Z b2 $st oto|= 710|E 2|1 si7{e] MY O{O|Z HHEH2 To[Zo| SEYUS Hlofstn =0 AEMez HX|E
ol MA| 245 4= == ol 2aiAf HE UABUCH AL 2R BE2
o MSLCL #AAfole] E[cHZtAS 0T Ho[X|Q Eof LES
E18 4 aud
/ Inserts \
i/ 7,
Insert H d
.~ Hanger ro
U-bolt
e Band hanger

A rod hanger for a single pipe run

Inserts
o

L Hanger rod

U-bolt

A trapeze hanger for multiple pipe runs

A trapeze hanger suspended from ceiling

Y o

7

i i
L=
7,
Inserts
A~ B
/7
A steel angle bracket

attached to wall

o

SHURJOINT®



f__'\“.;::guua XIXICH

DFUSOIM, 22 TSSZRE s ES517| /6t 2 %
=
O

b2t Clamps2t U-2E0] 2504 X|X|=0 HH2te| Z[sHEHTet
St n7F=(0] QUELICE HiEo] E2 ol 2ot Brace7t AX| =04
QU= 4201, bi2t Clamps £= U-EE9
45 7 3500 # N5 HE FY 4 U8
LICh Hi2S flstd, Xdt W7 d2|u
MEE7L HSEH FSA RRIE O[7L
IFA ZRIETH MEE 4 UEU
Riser clamp
=
% >
15F —ep— =5 ::I
B
——
14F —H~ =3 —Ht—
b
fap]
13F —H—
Y
3F —H— e
-
P el
<
2F —H— 1t
PO
far}
= L
>4

0 Flexible Coupling
¢ Rigid Coupling
—p4 Anchor
—H— Sway brace

o 22 YTl mo|mo| RAL} LS HE[=H Anchor/t B2
3I-|__|[:|-
I}O|Z J10|=(Sway braces)= A|AHIl EH HES
UELIC

=2
um

A
™

SHURJOINT®

Anchors for risers (—»<)

- weld

_- Resilient
Isolator

Sway braces for risers (—H—)

=]

1] U-bolt

T
R

Anchor (—»<4)

90° Elbow
_~ W/Base Support

- Resilient Isolator

Sway brace (—H—)

Heat Insulator

¢

.~ U-bolt Resilient

4" Isolator




GASKET SELECTION GUIDE SHURJOINT®

5001 Wz 23 BT Alelol wAS Chyst 220 Sl &Ll EPDMES
b 2t 257l HBllol O|2EEUIT, Of213t At wHS A RSO 2ol e
5101 125 TO|Z AAHS| W22 HO| AHS 2 4 WA = 9F ZMeNEY 18D

10| Mz |
BLICH Offofl EE UKD NMBE AN MeET|E YL

A A 9| LEH 2lL|ct, st 7IM=A JHE oA
° e - THERIL|C
EPDM2 EPM(0fElaiint =221} Dienel| IEAt SIEE +4
BEY 7A%
FE s3] My A g E o EETE
HME| QO Ho| @A B|ME| A 7|2 = 27| U oy B2 —920°E(-34"
EPDM E w1 1__1‘?._ =AU 24 SIME A 7IE7|7t MAHE 37| ¥ o2 3F9 29 Ff 34C)°
SIEHIE. MRHE0= A2 to +230°F(+110°C)
- = THE 2EHEUC MIME, 7IE717t U= 371, AlEd ¥ FEH VIS -20°F(-29C)
Nitrile T FEM | . 5
66°CO|A2| L2 & = 60°C 0|de AR S7|0l= AEZXI to +180°F(+82C)
"c128e| 32 S0COM 100CAOIl SN S50 U2 22 7iastel $88 AN 4 SUE AU, Soo ot SBE Blol S FiANel £33 J15S 52
£ Q= X0l R SRULICL HEEH 37|, R 57, 22 Z&St 37| 52 £ + UM 0122 A 2= HiHCIX| L= FH A Qe MEfQ| sIX|M| m2Mz B2
HaIF ZGBILICH 93Tt "7k E4%t el AR Shurjointdll 22| HEELICE
E4 T 7AA
I 52| 44 FED EEFE
ite Nitri 7k2 230 HOoIX| §2 MEYULIC ~20°F(=7°C)
White Nitrile A HHARZEA N = 22 ol < 7l 2 A= -_lct o o
FDARZIZ £Z51X| 2LO0IE = SAlZ to +180°F(+827T)
N . . -29°F(-347C)
ili HMIIAZ | AXE|D ESlpAT) ZRE(X| A2 177T X2 37IEH stetEE . .
Silicone L FAZA i T v = Al to +350°F(+77°C)
= 20| Rt EY SlEEE AMotEE & M, ¢lstMol gis. +30°F(-17C)
Neoprene \" M ) - - ool . .
BM HemAoRE ZFJts to +180°F(+827C)
Fluoro-elastomer 0 M 1 o3 ZR Mty A MR st2AE) ESeAR 2ER FUR, +20°F(-7°C)
(Vitron) < F7ISEE A, 149CTTHX|Q] EtstpATE AQ1 BT to +300°F(+149°C)
) -40°F(-40°C)
i - i HHAH ] MOME 32tMo| U= HES, ANM2ENIX|Q 2 ) .
Epichloro—hydrin | M2 | J20Mz 3gdo] & =, 4% txlel & to +160F(+710C)
AWWA HEIY FHEE E4 ME 7tAN
K s a4 A8 2o BT
FHEE BH| MEet=E EWs| tiEtE 7AANY, 7EE 2eHeUe -20°F(-297C)
Nitrile S M I MRR, £3717t ZEE 37|, AEd Y SEH 7IE 66°Colde EAR to
7|0l AE3X +180°F(+82°C)
TYE 2=HEUO| 24 FME M 71577t HAHE 37| & o] BFS -20°F(-29C)
Halogenated Butyl| M | Mo | _ =5 = on °r e ont
SFEHE, MRHB0= r 2X| to +200°F(+93°C)

SHURJOINT®

C



e

\ Shurjoint®] %2 HZ2 22t Ciefet SFY AT A
£ A0 ool w2t DRIIAZ HA| CiYstn ZeA MEELCH
I

HIE 7tA%19] YH0| M2

M52 waisls PEE SUBLIC C1S2 Y YKoz AgE=

-~ .

Standard GapSeal

Reducing Outlet Coupling
T
~AEW), Zﬁ%
;\\\“\\\
Reducing
272x17,272x2,37x2'/27) Flange

AWWA Ductile Iron Pipe

A,

IPS to AWWA

Mechanical Tee

Saddle-Let

- -

End Protection

H H

<
)

Wildcat HDPE Pipe

a3 MHIA

Shurjoint BEY 71A02 AAHO| a2 ZR0| ==
10inHg(254mmHg)0149] ZSYEHo N LS0| HElH HAZA
gLt 10inHg(254mmHg)2Ct 2 Z20 1FAl Z2IEC}t 3
3) JIAN E= GapSeal®9 AIE2 HETLICL

It

5 Ep(EE

2 IHolx 21i] W21 MHlA

ShurjointE
GapSeal® Grade E 7tAZI9 A2 HAEIL|CE

GapSeal Gasket

0| LHEH AJAEI J2|m Wzhy| 22 9
GapSeal® 7t
AZ2 MO|ZLo} 7%* E Alojoi 7Hz0| THEILICE 0|AR2 R=7t
Ant 20| 07t HeEREH HAHZ RAE

XiMISH AFt2 Shurjointoll 22 HIZHLICH

74X Oo|Z 21 HZE AARE {8 Shurjoint BEY FEHQ|
ANES FXIFLICE

SHURJOINT®



GASKET SELECTION GUIDE

51 SHURJOINT®

A
CI22 ARBAP} SHIE JIAMMES 3t Uubeol RRIEQILICL  BhD YUALICH shEol NBE0| oLl ASO0PALE THE K,
EE5| AFE0f | g= B HHAIER2EE 38C(100F)E 71222 Of2f 2[AEO Ltet UK Y2 FRE Shurjointo| =2 HIFLITH
RAt = FHSBR=(F) NR = 2887 - = 0|AZ
Chemical Name EPDM| Nitrile | Silicone | Neoprene| Viton | | Chemical Name EPDM | Nitrile | Silicone | Neoprene| Viton | | Chemical Name EPDM | Nitrile | Silicone [Neoprene| Viton
Acetaldehyde 200 - - NR NR Aroclors NR NR -- - 100 Carbon Disulphide NR - - NR 200
Acetamide 200 150 - NR 120 Arsenic Acid, to 75% 185 150 100 NR 200 Carbon Monoxide 200 100 100 70 200
Acetic Acid, to 10% 180 100 180 NR NR Arylsulfonic Acid 140 NR NR NR 185 Carbon Tetrachloride NR NR NR NR 185
Acetic Acid, 10 - 50% 140 - 100 NR NR ASTM #1,2 & 3 Oil NR 150 NR NR 100 Carbonic Acid, Phenol 200 100 100 70 200
Acetic Acid, Glacial 100 - 100 NR NR Aviation Fuel NR 150 NR NR - Caster Oil 140 | Gr. A NR 100 -
Acetic Anhydride 100 100 - 70 NR Barium Carbonate 200 100 100 160 200 Caustic Potash 140 - - 160 NR
Acetone 130 - - NR NR Barium Chloride 200 150 100 160 200 Cellosolve 140 NR NR -- NR
Acetonitrile NR 100 - 70 NR Barium Hydroxide 180 150 NR 150 200 Cellulose Acetate 140 NR NR NR NR
Acetophenone 140 - - NR NR Barium Nitrate 200 100 -- 160 200 Cellulube 220 (Tri-Aryl-Phosphate)| 200 - 100 -- -
Acetyl Chloride NR - - NR 185 Barium Sulfide 140 150 NR 160 200 Cellulube Hydraulic Fluids 200 - - - -
Acetylene 200 150 100 70 200 Beer 200 | Gr.A NR 140 200 China Wood Oil, Tung Oil NR 150 - - -
Acrylic Resin NR 100 - 100 NR Beet Sugar liquors 200 | Gr.A 100 160 185 Chloralhydrate NR NR NR 70 NR
Acrylonitrile NR NR NR NR NR Benzaldehyde 140 NR NR NR NR Chloric Acid, to 20% NR - - 140 140
Adipic Acid, Saturated 200 150 - 200 200 Benzene NR NR NR NR 150 Chlorine Gas, Dry or Wet NR - - NR 185
Air, oil free 230 140 350 NR 300 Benzene Benzol 200 -— - - 200 Chloroacetone 200 NR NR - -
Air with vapored oil NR 150 - NR 300 Benzene Sulfonic Acid NR NR NR 160 185 Chlorobenzene NR NR NR NR 70
Alkalis Good | NR - - - Benzine NR NR NR NR 150 Chlorobromomethane NR NR NR NR NR
Allyl Alcohol 70 - - 70 100 Benzoic Acid (Saturated) NR - NR 160 - Chloroform NR NR NR NR 70
Allyl Chloride NR NR NR NR 70 Benzol NR NR NR NR 150 Chlorosulphonic Acid NR NR NR NR NR
Aluminum Acetate 200 100 NR NR NR Benzyl Alcohol NR NR NR NR 140 Chrome Alum 100 100 100 -- -
Aluminum Ammonium 200 - - 160 200 Benzyl Benzoate 140 NR -- - - Chromic Acid, to 10% 70 - NR NR 140
Aluminum Chloride 200 150 NR 160 200 Black Liquor 180 - -- 70 200 Chromium Potassium Nitrate 140 - NR 160 200
Aluminum Chrome 200 - - 160 200 Black Sulfate Liquor 100 150 100 - - Citric Acid, Saturated 200 100 NR 140 200
Aluminum Fluoride 200 150 NR 160 200 Blast Furnance Gas NR 150 100 - — Coconut Oil NR | Gr.A | NR 100 185
Aluminum Hydroxide 200 NR 100 100 200 Bleach, Industrial (15% Cl2) 70 - -- - 185 Cod Liver Oil NR Gr. A 100 -- -
Aluminum Nitrate 200 150 73 100 100 Borax 140 - - 140 185 Coke Oven Gas 70 150 100 - 185
Aluminum Phosphate 200 - 100 -- - Bordeaux Mixture 200 - -- - - Copper Acetate, Saturated 100 - NR 160 140
Aluminum Potassium Sulfate | 200 100 100 160 200 Boric Acid 140 100 100 140 185 Copper Carbonate 200 - - - 185
Aluminum Salts 200 - 100 -- - Brine, Acid 200 - -- 160 200 Copper Chloride 200 150 100 160 200
Aluminum Sulfate 200 150 100 140 185 Bromobenzene NR NR NR NR 150 Copper Cyanide 200 150 100 160 185
Alums 200 150 - 160 NR Bromotoluene NR NR NR NR NR Copper Fluoride 200 100 - 140 185
Ammonia 175 --- NR 150 NR Butadiene NR NR NR 140 185 Copper Nitrate 200 150 100 160 200
Ammonia Anhydrous (Pue Amn NR NR NR NR NR Butane NR 100 NR 70 185 Copper Sulfate 200 150 NR 160 200
Ammonia, Gas 140 100 - 140 NR Butanol (see Butyl Alcohol) 200 150 - 140 75 Corn Oil NR Gr. A 73 NR 200
Ammonia, Aqua, 10 - 25% 140 - - - NR Butter NR Gr.A NR NR NR Corn Syrup - Gr. A 100 100 185
Ammonia Hydroxide 175 - - 150 NR "Butyl "Cellosolve Adipate" 100 100 100 - NR Corrosion Inhibitors (forhestingsysens) | NR - - - -
Ammonium Acetate 140 - 100 140 73 Butyl Acetate 140 NR NR NR NR Cotton Seed Oil NR Gr. A NR -- 185
Ammonium Bifluoride 200 150 - - 200 Butyl Acetyl Ricinoleate 200 100 - - - Creosote NR 100 - NR 73
Ammonium Carbonate 200 -— NR 140 200 Butyl Alcohol 200 150 73 140 75 Creosote, Coal Tar NR - -— - 140
Ammonium Chloride 200 150 NR 160 200 Butyl Cellosolve 140 NR -- - NR Creosote, Wood NR - - - 140
Ammonium Fluoride, to 10% | 200 100 -— 100 - Butyl Stearate NR 150 - NR 200 Cresol NR NR NR NR 100
Ammonium Hydroxide 200 - NR 150 70 Butylene NR 150 - NR 100 Cresylic Acid, to 50% NR - - - 185
Ammonium Metaphosphate 200 - - - 200 Butylene Glycol 150 150 - - - Crude Oil NR - NR - 200
Ammonium Nitrate 200 150 NR 160 100 Butyne Diol NR NR NR NR NR Crude Oil, Sour NR 150 - - 200
Ammonium Nitrite 200 100 73 -- - Butyric Acid 140 NR NR NR 70 Cumene NR - - NR 200
Ammonium Persulfate 200 NR 100 70 - Cadmium Cyanide - --- -- 70 - Cupric Fluoride 200 150 - - -
Ammonium Phosphate 200 150 100 140 185 Calcium Acetate NR 100 NR - - Cupric Sulfate 200 150 - 160 200
Ammonium Sulfamate - 150 - - - Calcium Bisulfate NR 100 NR - - Cuprous Chloride 200 - - 70 200
Ammonium Sulfate 200 150 NR 160 200 Calcium Bisulfide NR 100 NR - 185 Cyclohexane Alycyclic Hydrocbon) | NR 100 NR NR 185
Ammonium Sulfide 200 100 - - 200 Calcium Bisulfite 100 100 73 70 185 Cyclohexanol NR 100 NR NR 185
Ammonium Thiocyanate - - - 70 185 Calcium Carbonate 200 100 100 70 200 Cyclohexanone 70 NR NR NR NR
Amyl Acetate 70 - NR NR NR Calcium Chlorate 140 - 100 70 185 Detergents 200 100 73 160 200
Amyl Alcohol 200 - NR 140 185 Calcium Chloride 200 150 100 160 200 Dextrin NR 150 - -- 200
Amyl Borate NR 100 Calcium Hydrochloride 200 Dextrose 140 160 200
Amyl Chloride NR NR NR NR 200 Calcium Hydroxide 200 100 NR 70 200 Diacetone Alcohol 70 73 NR NR NR
Amyl Chloronaphthalene NR 70 NR -- - Calcium Hypochlorite 70 100 NR - 185 Dibutoxy Ethyl Phthalate 70 - - NR 200
Aniline 140 - NR NR 140 Calcium Nitrate 200 150 100 100 200 Dibutyl Phthalate 70 73 NR NR NR
Aniline Hydrochloride NR NR NR NR 185 Calcium Oxide 200 100 NR 160 - Dichloro Difluoro Methane - 150 - - -
Aniline Oil 100 - - - - Calcium Sulfate 200 150 100 160 200 Dichloroethylene NR - - NR 185
Animal Fats NR | Gr.A 100 - - Calcium Sulfide 200 100 100 - - Dicyclohexylamine - 73 - - -
Anthraquinone NR NR NR NR 200 Caliche Liquors 200 100 100 - - Diesel Oil NR 150 NR NR 185
Anthraquinone Sulfonic Acid | NR NR NR NR 200 Camphor Crystals 200 - -- NR 200 Diethyl Cellosolve NR - - 100 200
Antimony Chloride 100 - - - - Cane Sugar Liquors 200 | Gr.A 100 160 200 Diethyl Ether NR 73 NR -- NR
Antimony Trichloride 140 --- 100 140 185 Carbitol™ 140 100 73 70 70 Diethyl Sebacate 100 100 100 -- -
Anyline Hydrochloride - NR - - 185 Carbon Dioxide, Dry 140 150 -- 160 200 Diethylamine 70 100 NR -- NR
Argon Gas 200 NR 100 100 200 Carbon Dioxide, Wet 140 150 -- 160 200 Diethylene Glycol 200 150 NR -- -

SHURJOINT®




o= 2K

|Chemical Name EPDM | Nitrile |Silicone [Neoprene| Viton | | Chemical Name EPDM | Nitrile | Silicone |Neoprene| Viton | [ Chemical Name EPDM | Nitrile |Silicone |[Neoprene| Viton
Digester Gas NR 150 - - Glue 150 150 73 - Manganese Sulfate 175 160 200
Dimethylamine 140 150 - NR NR Glycerine 200 150 100 160 200 Mercuric Chloride 200 150 100 140 185
Dioctyl Phthalate 70 NR NR NR 70 Glycerol 150 100 - Mercuric Cyanide 70 100 100 70 70
Dioxane 70 NR - NR NR Glycol 180 100 73 - - Mercurous Nitrate 70 100 - NR 70
Dipentene (Terpene-Hydrocarbon) | NR 73 73 - Glycolic Acid NR 73 73 70 NR | |Mercury 200 150 100 140 185
Diproplylene Glycol - 100 - - - Grape Sugar, Juice 200 Gr. A - 160 185 Methane NR 70 NR 70 185
Disodium Phosphate 200 - - - - Grease NR 150 NR - 185 | |Methyl Acetate 140 NR NR 140 -
Divinylbenzene NR - - - 200 Green Sulfate Liquor 180 150 100 70 - Methyl Alcohol, Methanol 140 140 NR 140 NR
Dowtherm A NR NR NR - 140 Halon 1301 180 NR - - 140 Methyl Amine 70 - - 70 100
Dowtherm E NR NR NR - 140 Heptane NR 100 - 70 185 Methyl Butyle Ketone 140 - - - -
Dowtherm SR-1 100 100 - - - Hexaldehyde 180 NR 100 - - Methyl Bromide NR 100 NR NR 185
Epsom Salt 200 100 - - - Hexane NR 70 NR 70 70 Methyl Cellosolve 70 NR NR 70 NR
Ethanolamine 140 NR - - -— Hexanol NR - - 70 160 Methyl Chloride NR NR NR NR 70
Ethers NR NR NR NR NR Hexanol Tertiary NR 100 -- - - Methyl Cyclopentane NR NR NR 70 70
"Ethyl "Cellusolve" 100 NR NR - -— Hexyl Alcohol NR 100 NR 100 185 Methyl Ethyl Ketone 70 NR NR NR NR
Ethyl Acetoacetate 100 NR 73 - NR Hexylene Glycol NR 100 - - - Methyl Formate 100 NR 100 70 NR
Ethyl Acrylate 70 NR 100 NR NR Hydraulic Oil NR - NR 70 200 Methyl Isobutyl Ketone NR NR NR NR NR
Ethyl Alcohol (Ethanol) 200 150 NR - - Hydrobromic Acid, to 50% 140 100 - 70 185 Methylene Chloride NR NR - NR 73
Ethyl Cellulose NR 73 NR - -— Hydrochloric Acid, to 37% 75 NR NR - 158 Methylene Chlorobromide NR NR NR NR NR
Ethyl Chloride 70 100 NR 70 140 Hydrocyanic Acid, to 10% 200 NR - - 185 Methylene Dichloride NR - - - 100
Ethyl Ether NR 70 - NR NR Hydrofluoric Acid, to 30% NR NR NR 70 150 Methylene lodine 200 - -- - -
Ethyl Oxalate 100 NR NR - - Hydrofluosilicic Acid, to 50% | 140 150 -- - 200 MIL-05606 NR NR -- - 100
Ethyl Silicate 100 100 - - - Hydrogen Gas 200 73 NR 160 100 MIL-08515 NR NR - - 100
Ethylene NR 100 NR NR 140 Hydrogen Peroxide, to 30% 140 NR 100 NR 200 MIL-L7808 NR NR NR - 100
Ethylene Chlorohydrin 70 NR NR 70 NR Hydrogen Phosphide NR NR NR NR NR Milk 200 | Gr.A 100 160 200
Ethylene Diamine 70 100 - 100 - Hydrogen Sulfide. 100 NR NR NR 140 Mineral Oils NR 150 NR 70 200
Ethylene Dichloride (Dichlorocthane)|  NR - NR 120 | |Hydroguinone NR 150 100 NR 185 | [Molasses 100 100 100 150 185
Ethylene Glycol 200 150 73 160 200 Hydroxylamine Sulfate 70 - - 70 - Monochloroacetic Acid, to 50%| NR - - NR 70
Ethylene Oxide NR NR NR NR NR Hypochlorous Acid 70 - - - 70 Monoethanolamine 70 NR NR NR 185
Fatty Acid NR Gr. A NR 140 185 Todine Solution, to 10% 150 - -- - 200 Motor Oil NR 150 NR - 200
Ferric Chloride, to 35% 200 150 NR 160 200 Isobutyl Alcohol 180 100 NR - - Naphta NR NR NR NR 160
Ferric Hydroxide 180 - - 100 180 Isododecane NR 100 NR 100 - Naphtalene NR NR NR NR 170
Ferric Nitrate 200 100 100 160 200 Isooctane NR 100 NR 70 185 Naphtenic Acid NR 100 NR - -
Ferric Sulfate 200 100 NR 140 185 Isooctyle Alcohol 140 - - - - Natural Gas NR 150 100 140 185
Ferrous Chloride 200 100 NR - 200 Isopropyl Acetate 140 NR NR - - Nickel Acetate 70 NR NR 100 NR
Ferrous Hydroxide 180 - - - 180 Isopropyl Alcohol 140 100 NR 70 160 Nickel Ammonium Sulfate 70 - - 100 -
Ferrous Nitrate 180 - - 160 200 Isopropyl Ether NR 100 NR NR NR Nickel Chloride 200 150 100 160 200
Ferrous Sulfate 200 150 100 160 200 Jet Fuel, JP-4 NR 150 NR NR 200 Nickel Nitrate 180 100 100 160 200
Fire Fighting Form (AFFF) 180 - - Jet Fuel, JP-5 NR 150 NR NR 200 [ [Nickel Sulfate 200 150 160 200
Fish Oils (Solubles) NR Gr. A 73 - 70 Kerosene NR 150 NR 70 200 Nicotine NR - - 70 -
Fluboric Acid 140 - NR 160 140 Ketones NR NR NR NR NR Nicotine Acid 70 - - 70 -
Fluorine Gas, Wet NR NR NR NR NR Lactic Acid 70 Gr. A -- 140 70 Nitric Acid, to 10% 75 - 100 NR 185
Fluorosilicic Acid, to 30% 140 100 - 100 200 Lard Oil NR Gr. A - 70 185 Nitric Acid, 10 - 50% NR - 100 NR 160
Fly Ash 180 - - - - Latex (1% Styrene & Butadiene) NR NR NR NR 140 Nitric Acid, Red Fuming NR - - NR 100
FM200 200 - 200 200 - Lauric Acid NR 100 NR NR 100 Nitrobenzene 70 NR NR - 70
Foam 180 - - - - Lauryl Chloride 140 NR NR NR 200 Nitrocellulose - 100 100 100 -
Fog Oil NR 100 - - - Lavender Oil NR 100 NR - - Nitroethane 100 NR NR - -
Formaldehyde 140 100 NR 140 NR Lead Acetate 200 150 NR 160 NR Nitrogen 180 150 - - -
Formanide NR 100 - - - Lead Chloride NR - - 70 140 Nitromethane 70 NR NR - -
Formic Acid, to 25% 200 100 - 140 NR Lead Nitrate 175 100 100 140 200 Nitrous Acid. to 10% NR - 100 - 100
Freon F-11 NR 130 NR NR 70 Lead Sulfamate 140 73 100 - - Nitrous Oxide NR 100 100 NR 70
Freon F-113 NR 130 NR 130 130 Lead Sulfate 200 150 -- 140 200 Octyl Alcohol NR 100 100 100 ---
Freon F-114 NR 130 NR 70 NR Lemon Oil - Gr. A NR 100 200 Ogisogiric Acid, to 75% NR NR NR NR 150
Freon F-12 NR 130 NR 130 NR Ligroine - 100 NR 70 100 Oleic Acid 70 100 NR 70 185
Freon 123 NR NR NR NR NR Lime and H_O 180 150 - - - Oleum NR NR 100 NR NR
Freon 134a,176°(80°C) 176 176 NR NR NR Lime Sulfur 200 NR 100 100 185 Olive Oil -- Gr. A NR 140 150
Freon F-21 NR NR NR NR NR Linoleic Acid 70 73 NR - 140 Oronite 8200 Silicate Ester Fluid | NR NR - - 150
Freon F-22 NR NR - 130 NR Linseed Oil 70 Gr. A NR 70 200 Orthodichlorobenzene NR NR NR - 150
Fructose 175 150 - 160 200 Lithium Bromide (Brine) - 100 - - 200 0S-45 Silicate Ester Fluid NR NR - - 150
Fruit Juice, Pulp - Gr. A - - 200 Lithium Chloride 100 100 - - 140 08-45-1 NR NR NR - 150
Fuel Oil NR 150 NR - 100 Lubricating Oil, ASTM#1 #2.#3| NR 150 - 180 150 Oxalic Acid 150 - - 100 100
Fumaric Acid 100 100 - - 100 Magnesium Ammonium Sulfate| NR NR NR 70 NR Oxygen 200 NR NR 140 185
Furan NR NR NR NR NR | |Magnesium Carbonate 170 100 100 140 200 [ [Ozone (100 ppm) 200 100 100 NR 185
Furfural 140 - - 70 NR Magnesium Chloride 170 150 100 160 170 Palm Oil NR Gr. A - - 70
Furfuryl Alcohol 140 NR - - Magnesium Citrate 175 - 200 | [Palmitic Acid 70 150 NR 185
Gallic Acid 70 100 NR 70 185 Magnesium Fluoride 140 - -- - 200 Paraffin NR 100 NR 140 200
Gasoline, Leaded NR - 70 100 | |Magnesium Hydroxide 200 150 100 - 200 [ |Peanut Ol NR | Gr.A 100 - 150
Gasoline, Refined NR 100 - - - Magnesium Nitrate 200 100 100 160 - Pentachlorophenol NR - - NR 200
Gasoline, Sour NR - 100 | |Magnesium Oxide 140 73 160 Pentane 100 -
Gasoline, Unleaded NR 100 - - 100 Magnesium Sulfate 175 150 100 160 200 Perchloric Acid, to 10% 70 NR NR 70 70
Gelatin 200 | Gr.A 73 160 200 | |Maleic Acid, Saturated 70 100 NR 200 [ |Perchloric Acid, to 70% 70 NR NR NR 185
Glucose 200 Gr. A 100 160 200 Malic Acid - 100 100 - - Perchloroethylene - - - - 150

SHURJOINT®




GASKET SELECTION GUIDE B SHURJOINT®

ooty 24X

Chemical Name EPDM | Nitrile | Silicone | Neoprene| Viton | | Chemical Name EPDM | Nitrile | Silicone |[Neoprene| Viton | [Chemical Name EPDM | Nitrile | Silicone [Neoprene | Viton
Petroleum Ether (see Benzene)| NR NR NR NR 150 Secondary Butyl Alcohol - 100 - - - Tall Oil NR 70 - 70 70
Petroleum Oils NR 150 NR - 200 Sewage 200 150 100 - - Tannic Acid, all conc. 70 100 73 100 100
Phenol (Carbolic Acid) 70 NR NR NR 200 Silicic Acid 140 - - 140 200 Tannic Acid, Liquors 100 - - 70 200
Phenylhydrazine NR - - --- NR Silicone Oil 140 100 NR 70 185 Tanning Liquors( 50g. alum.
Phenylhydrazine Hydrochloride | 70 - - - - Silver Cyanide 140 - - 70 140 Solution, 50g. dichromate solution) NR 150 - 70 200
Phosphoric Acid, to 10% 140 100 NR 140 200 Silver Nitrate 200 NR 100 160 200 Tar NR 100 100 70 185
Phosphoric Acid, 10 - 50% 70 100 NR 70 200 Silver Sulfate 170 - - - 200 Terpienol NR NR - 70 185
Phosphorous Pentoxide 200 - - --- 200 Skydrol 200 200 - 200 --- - Tertiary Butyl Alcohol 140 100 -- 70 150
Photographic Solutions 100 150 100 - 185 Skydrol 500 Phosphate Ester 170 - - - - Tetrabutyl Tinanate 140 100 - - 185
Phthalic Anhydride 100 NR NR --- - Soap Solutions 200 150 100 140 200 Tetrachloroethylene NR - --- - 150
Picric Acid 140 100 NR 70 140 | | Soda Ash, Sodium Carbonate | 180 100 - - - Tetrahydrofuran NR NR NR NR NR
Pine Oil - NR NR NR 70 Sodium Acetate 170 NR NR -- NR Tetralin NR NR NR NR NR
Plating Solutions, Brass 70 - - 100 70 Sodium Alum 170 150 - 140 200 Tetraric Acid 140 - - - -
Plating Solutions, Cadmium 70 - - 100 70 Sodium Aluminate 200 100 - 140 200 Thionyl Chloride NR NR 100 NR 100
Plating Solutions, Chrome - - --- NR 140 | | Sodium Benzoate 200 150 100 - 200 | | Thiopene NR NR NR NR NR
Plating Solutions, Copper 70 - - 100 70 Sodium Bicarbonate 200 150 NR 160 200 Thread Cutting Oil NR NR NR NR 70
Plating Solutions, Gold 70 - - 125 70 Sodium Bichromate 140 - - 70 200 Titanium Tetracholoride NR NR NR - 185
Plating Solutions, Lead 70 - - 70 70 Sodium Bisulfate 200 150 NR 140 200 Toluene, to 30% NR 100 - - 70
Plating Solutions, Nickel 125 - - 70 70 Sodium Bisulfite (Black Liquor) | 200 150 NR 140 200 Tomato Juice 200 Gr. A - 70 200
Plating Solutions, Silver 70 - - 100 70 Sodium Borate 140 100 NR 100 140 Transformer Oil 140 150 - NR 140
Plating Solutions, Tin 100 - - 100 140 Sodium Bromide 200 150 - 70 200 Transmission Fluid, Type A NR 150 - - 140
Plating Solutions, Zinc 70 - - 100 70 Sodium Carbonate 140 150 100 140 200 Triacetin NR 100 - - -
Polyvinyl Acetate, Solid in Sodium Chlorate 140 NR 100 140 100 Trichloroethane NR NR NR - 200
Liquid State is 50% solution of 180 - — Sodium Chloride 140 100 NR 160 200 | |Trichloroethylene NR - - NR 200
Methanol or 60% solution of (H20) Sodium Cyanide 140 100 NR 140 140 Tricresyl Phosphate NR NR NR - -
Potash - - - 160 200 Sodium Dichromate 140 100 - NR 200 Triethanolamine 70 70 NR 70 NR
Potassium Acetate 170 150 NR - - Sodium Ferricyanide 140 100 - - 140 Triethylamine - 100 NR 70 200
Potassium Alum 200 100 - 160 200 Sodium Ferrocyanide 140 100 - --- 140 Trimethylpropane 180 - --- 160 -
Potassium Aluminum Sulfate | 200 - - 160 200 Sodium Fluoride 140 100 NR 70 140 Trisodium Phosphate 70 - 100 70 185
Potassium Bicarbonate 170 150 - 160 200 Sodium Hydroxide, to 15% 180 NR NR 160 NR Tung Oil NR 100 --- - --
Potassium Bisulfate 170 - - 140 200 Sodium Hypochlorite, to 20%| 70 100 - NR 185 Turbo Oil #15 Diester Lubricant| NR NR - - 150
Potassium Borate 200 - - --- 200 Sodium Metaphosphate 70 100 - --- 70 Turpentine NR 100 -- NR 150
Potassium Bromate - - - 140 200 | |Sodium Nitrate 200 NR NR 140 200 Urea 200 150 100 140 185
Potassium Bromide 170 150 - 160 200 Sodium Nitrile 170 150 - 140 200 Urine 200 100 -- 140 70
Potassium Carbonate 170 150 100 160 200 | |Sodium Perborate 70 70 NR 70 70 Vaseline NR — - 140 70
Potassium Chlorate 140 100 100 100 140 Sodium Peroxide 140 NR NR 70 185 Vegetable Oils NR | Gr.A 100 70 200
Potassium Chloride 200 150 100 160 200 | |Sodium Phosphate, Acid 170 140 200 | | Vinegar 180 | Gr.A 100 70 NR
Potassium Chromate 170 150 - 70 200 Sodium Phosphate, Alkaline 170 - --- 140 200 Vinyl Acetate 70 NR NR NR NR
Potassium Cyanide 140 100 100 160 185 | | Sodium Phosphate, Neutral 170 - 140 200 | | Vinyl Chloride NR NR NR NR 70
Potassium Dichromate 170 100 100 - 200 Sodium Silicate 200 150 - 140 200 Vi-Pex - 100 - - -
Potassium Ferrocyanide 140 NR - 150 140 Sodium Sulfate 140 100 100 140 200 Water 230 150 100 160 200
Potassium Fluoride 140 - - --- - Sodium Sulfide 140 100 100 140 200 Water, Acid Mine 200 150 --- 160 --
Potassium Hydroxide 140 150 NR 160 NR Sodium Sulfite 140 100 100 140 200 ‘Water, Bromine NR NR NR NR 185
Potassium Iodide 140 - 100 160 180 "Sodium Thiosulfate "hypo" 200 150 100 160 200 Water, Chlorinated, to 3500ppm | 100 - - NR 185
Potassium Nitrate 200 150 100 140 200 | |Sohovis 47 100 ‘Water, Chlorinated, above 3500ppm|  NR NR 185
Potassium Perborate - - - 70 - Sohovis 78 - 100 - - - ‘Water, Deionized 200 150 100 160 -
Potassium Perchlorate 140 150 - 150 | |Solvasol #1,2 & 3 100 Water, Demineralized 200 150 160 200
Potassium Permanganate, to 10% | 200 150 - 100 140 Solvasol #73 - 70 - - - ‘Water, Distilled 200 150 100 160 -
Potassium Permanganate, to 25% | 140 100 - 100 140 Solvasol #74 NR NR NR NR NR Water, Potable Gr.Epw| Gr. A - 160 -
Potassium Persulfate 200 150 - 140 200 Soybean Oil NR Gr. A 73 - 200 ‘Water, Salt 200 150 - 160 -
Potassium Silicate 200 150 - 140 Spindle Oil NR 100 Water, Sewage 200 150 --
Potassium Sulfate 200 150 NR 140 200 Stannic Chloride 100 100 100 NR 200 ‘Water, Seawater 200 150 - 160 -
Prestone - 100 - - - Stannous Chloride 70 NR NR 160 200 ‘Water, Swimming Pool 200 150 - - -
Propane Gas NR 100 NR 70 70 Starch 170 100 - 160 200 ‘Water, waste 200 150 - - -
Propanol - - - - - Steam NR NR NR NR NR Whiskey 200 Gr. A 100 140 140
Propargyl Alcohol 140 - - NR 140 Stearic Acid NR 100 NR 70 100 White Liquor 170 | Gr.A --- 140 -
Propyl Acetate NR NR NR 140 - Stoddard Solvent NR 100 NR NR 185 Wines 170 | Gr.A 100 140 140
Propyl Alcohol 140 150 100 140 - Styrene NR NR NR NR 100 Wood Oil NR 100 NR - --
Propylene Dichloride NR - 70 NR 70 Sucrose Solutions - Gr. A - - - Xylene NR NR NR NR 150
Propylene Glycol 200 100 100 100 140 Sulfamic Acid NR - - 70 NR Zinc Acetate 180 100 NR 160 70
Propylene Oxide 70 NR NR NR NR | |Sulfite Liquor 140 - 70 140 | | Zinc Chloride 180 100 100 160 200
Pydraul F-9 and 150 NR NR NR NR NR Sulfer Dioxide, Dry 140 100 - --- - Zinc Nitrate 180 - - - 200
Pyranol 1467 NR 100 100 - - Sulfonic Acid 150 - - - - Zinc Sulfate 180 100 100 140 200
Pyranol 1476 NR 100 100 --- - Sulfur 140 NR NR 70 200
"Pyroguard "C" - 100 100 - - Sulfur Chloride NR NR NR NR 70
"Pyroguard "D" - 100 100 --- - Sulfur Dioxide, Dry 70 NR - NR 100
Pyroguard 55 180 - NR - - Sulfur Dioxide, Wet 140 NR - - 140
Pyrrole 100 NR 73 --- - Sulfur Trioxide 70 NR NR NR 140
Rapeseed Oil NR | Gr.A NR - - Sulfuric Acid, 10 - 30% 150 NR 73 100 200
Ref. Fuel (ISO Octane, 30 Toluene) | --- 150 - - - Sulfuric Acid, Fuming NR NR NR NR 100
Rosin Oil NR 100 — 100 — Sulfuric Acid, Oleum NR NR NR NR 100
Salicylic Acid 200 100 100 NR 185 Sulfurous Acid 75 NR NR NR 100

™

N~

SHURJOINT®



d‘GROOVING

Shurjoint®] IR 0T NAHS TO|T B BYA EE
HEWAOR J1B5H0f ABBLICL 128 K149} Hehe

WY, S, AR SO w2t YakhlA Ut 2okl &
SO EE HE SUA 0|01 4 lout HEaRHEo| Y
7K37| A7t EEfZQ! 29t 9| W0 F2 SOl Ao
A 020{x|= 20| HEYLIC,

= B E= /EOREE= ANSI/ AWWA C-6062] 7ol /A

A71ES sfiop BiLCh 28 IRE mol|Ze Z2HAE mo|ZE
ME3ILt BF #ZF T0|Z T 2% HAHAE HMEZ ABE £
gLt
Table 1
Roll & Cut-Grooving Applications
Pipe Materials Roll Groove Cut Groove
Sch 40, 30, 20,10,7,5 | Sch 80, 40
FH2AE mo|Z BS 1387 Light & Medium | BS 1387 Medium, Heavy
JIS SGP JIS SGP
AHCIHAAE! mo|z | Sch 40S, 20S, 10S, 55 Sch 80S , 40S
s K,L, M, DWM HMEETt
20| Oio|= Sch 40, 30, 20, 10 Sch 80, 40, 30
PVC Sch 80, 40 Sch 80, 40
2 TialoD Class 53(see ANSI/AWWA
CIEfQI=A mio|= 287
SEIFE Hol= = C-606 Tables 2 & 3)

CUT GROOVING

HEIRYO| X2 HolZ POREE UHZOJRIE Zop

YU mlet AEIRYS JIRHOR LPERO| T3
0lzmo| 32 AHEITY F0| IS,

rir

E

1 0l AR Zolhs SECH LAREIZO] Zio}
U= S0 of 7| 2l HEIRY HA Tolz S0 o
M FHEE X5 FA|7| HEELCH Ed240= 2| HE
2240l Z2L 1o|Z YKo 02 S5t ol ez FNE
Utk mahl FEE ToIT £ AIE 3Hold 2B S 2AZYA
A
m

Of 240| g + = d20l 22 tiezM A 7ttt

T Cuting Grooving

VNN /I'\N\/\/\/\

T Depth of Cut Groove
vs Threaded

ROLL GROOVING

2719 £ 224 YAl 7HE2RH0|
h
E

OlE=IELICt atx|2t

7\A0l wet 427X S2Ql Yty

M2 gt

= °
= —_
O|Z LYo S&&= 24
P-f ol

of T EE}% 4 EEH
£ —’F9|3f01 MEHSHO{OF E'—IEf Mz
£ M9 mo|zos 27| ME
EZSHMES HEsI0ioF BTt

HCh XtAish Ar2 7187] o=
2 HZ5PALE E= Shurjointdd| —|

SHURJOINT®

277,

Roll Grooving

| %"EFE gets MR %
i-= HB

1800/at YLk,

Tjo|zmo] TR WA HEAIFT UBLITE olgs
S HH SN ° MEER HEY 8
2Lt & 3240)

2222422

St sie ue oA o3
EEERERE



5 SHURJOINT®

3. 28B89| 9IF (XI5 C)

FHO| 9lF 2|AEE BHUREM JIESXITE
1. 7tA% X2 (X5 A) Z2 ol |}

£ 120l &8st e
slolsi=r| 713
FH Zolof tiet X|r= HA| H X2 M AR

S odd
JIA% X2l RIHIOIES] AXIS0l 0.8mm.(1/16")H7HXIC] HpgfLct,
SIEXIE 7HX|2 Ch.
0| #2229 EHYE= S, 0220 Y=F FsHok Bt

-«— A —> Ol HATT Ad
IF 1_’1 L gZ2Ho k=3 o7} 71 k=3
Olz 2RE9 EI% 01 XI LHOIA of7t 3015 o1EL/Lt
b

¥

L
HY

2. 2%H 4ol (XI5 B)

2280] Yol x4E(olel BEIAO 0.8mm.(1/1
ol FERel 128 HE

T — O

| Lol M2t 2t2E {7t O|F0{A0F oict,

SI8XIE 7HXIZ

‘B2 |58

6" )R

i= olfimEel “K'et

5 JE—E%“L!EI mo|zZo| 27 O.Dojl chgt &4
ROl X Hoixl= Zof chigt

A2 2424 i|¢a|0|§% &E BRI

mo|z = 518

X|(X]2 f

Jofl cet

Table 2

Pipe Size A B B1 Min. | K Max.
25-40 159+0.8 71108 4.1 15
17 - 1-1/2” | 0.625+1/16” | 0.281 +1/16” | 0.161 0.059
50 - 150 159+0.8 8.7+0.8 4.7 2.0
2 -6 0.625+ 1/16” | 0.344 +1/16” | 0.185 0.079

200 - 300 19.0+0.8 11.9+0.8 7.9 2.0
8 - 12" 0.75+ 1/16” | 0.469 +1/16” | 0.311 0.079

F1 K& TO|Z 9j730] FolSh AHRE 1T veiAg Zol.
29| 2918 A5S BHY] AMAL K" 9l A47} 75t 2ewlo] Fut

M2tM 22EIIES st= XARt= 712
2ol g2 tt=E Zo7t LSl WEA L2 =

HoIX|7AL "K' 220l 220| daixl= 4ol LH)

Al et £22 HEHE

oo|= 7t

HIAZQIE : XtE 0183t "Br"zt “K'XI7h ol U= w24 Lol

S0REE 500 Bttt

Surjoint SJ-112 Roll Grooving Machine

Iwol

m‘mn( Hll'HI'HIIIIII_I

Rex 24 7700 Machine

SHURJOINT®



77| MYEAY)L HIILZE, MEHS ZBS Sis 2

=
AUYUCE mojzol FYS Wl fahMe SHE #49 &

SHAIEIIS 2{3t E20| ZRELITE A4S} Z0[ HIEA| St
EAE MEsiFAIZ| HIFLCH MAERX|L 8FIIE 018310 7
ds UK =5 F HIEFLLL FYIS 20ls A B2 2F
HASHH FE22ZRE 16mm(5/8) Y=MMAlE HESHH sto] 1T
JtAZi0] Stz FEE0] 7|LENE LY 4+ AT aHoF Lk
I3 AREINX|= HX|LL 0|2F SO| S=5 5to{oF ghLTt.

3 8%

Shurjointe| 2% R-88 ZRAE= 7I2AEY E= AHQI2[AY0| 7222 HSEUC 0l2fg 2 mo|=Zo| Ykt X|IHof

ol SHUILt LAHOIX| S O0IZ3IK 2
Uk 8% 20z 22E &l =

79| HEELCh XpMIEH A2 R-88

0z
=
M
i
tu
H

T 37| 7Y F71= HZIEIZ Bl 27|10l Qfs Yot

Table 3 H7IEIZEle] 7Y 27|
BY 7721/7722 HFE|IZE|
H|7E[ZE] Hole Dimensions Surface Preparation
Branch Size = A 37| 25 =A “A”
15, 20, 25 38 41 89
1/2,3/4,1 1-1/2 1-5/8 3-1/2
32,40 51* 54* 102
1-1/4, 1-1/2 2 2-1/8 4
50 64 67 114
2 2-1/2 2-5/8 4-1/2
65 70 73 121
2-1/2 2-3/4 2-718 4-3/4
80 89 92 140
3 3-1/2 3-5/8 5-1/2
100 114 118 165
4 4-1/2 4-5/8 6-1/2
*oo) FHL 3-bE FZ
Table 3-b ol 7
" = =
Digl;é}ETZ;Ell Hole Dimensions Surface Preparation
=3 x x|z £ 43| 2|18 =iA ‘A"
50%32 / 50x40 45 47 102
2x11/4 | 2X11/2 1-3/4 1-7/8 4

= =
=
M7t =g J2iell SoZ ZOtLY Z:0{0F St

Table 4
23 723 MS3
B8 SS-723 HI7IE|ZE|
H|7tEZE] Al Duzielss Surface Preparation
Branch Size E A 37| 5|2 XA “pr
15, 20, 25 30 32 89
1/2, 3/4,1 1-3/16 1-1/4 3-1/2

SHURJOINT®

S7=l0{o} 30
A S0l JHSELICE MRSt U0l Wt B2 BF E= Y%S SXEH
S5l 12 HyRo| FBATE S0| BoiIN YES



ROLL GROOVE SPECIFICATIONS B sHURjOINT®

KS/JIS 7I12AE MOIE HEZ E JFE J3Xs

-

L
— -

wd

T

F G 0.D.

L )

C=nG
1 2 3 4 5 6 7 8

- ooz 9F 7tA3 azs JdRE HE G Iz o/ = |5l
; g 7| &E Tolerance %%I?GL Ii|0H|7\gV 7 & _:%g(}) mCm JEEd = JE:EIL2I§
25A 34.0 +0.33 -0.33 16.00 7.10 30.40 -0.38 95.5 -??.1 1.80 35.5
32A 42.7 +0.41 -0.41 16.00 7.10 39.10 -0.38 122.8 -30.1 1.80 44.2
40A 48.6 +0.48 -0.48 16.00 7.10 45.00 -0.38 141.4 _;1 1.80 50.1
50A 60.5 +0.61 -0.61 16.00 8.70 56.90 -0.38 178.8 -39.1 1.80 62.0
65A 76.3 +0.74 -0.74 16.00 8.70 72.20 -0.46 226.8 -C;).l 2.05 77.8
80A 89.1 +0.89 -0.79 16.00 8.70 84.90 -0.46 266.7 _30'1 2.10 90.6
100A 114.3 +1.14 -0.79 16.00 8.70 110.10 -0.51 345.9 -??.l 2.10 116.8
125A 139.8 +1.42 -0.79 16.00 8.70 135.50 -0.56 425.7 -C;).l 2.15 142.3
150A 165.2 +1.60 -0.79 16.00 8.70 160.80 -0.56 505.2 _3?1 2.20 167.7
200A 216.3 +1.60 -0.79 19.00 11.90 211.60 -0.64 664.8 -3?.1 2.35 219.8
250A 267.4 +1.60 -0.79 19.00 11.90 262.60 -0.69 825.0 -I;).l 2.40 270.9
300A 318.5 +1.60 -0.79 19.00 11.90 312.90 -0.76 983.0 _30'1 2.80 322.0
350A 355.6 +1.60 -0.79 23.83 11.01 350.04 -0.76 1099.6 —??.l 2,77 358.1
400A 406.4 +1.60 -0.79 23.83 1101 400.84 -0.76 1257.0 _:;).1 2.77 408.9
450A 457.2 +1.60 -0.79 25.40 1191 451.64 -0.76 1418.7 _3?1 2.77 461.3
500A 508.0 +1.60 -0.79 25.40 11.91 502.44 -0.76 1578.6 -3?.1 2.77 512.1
550A 558.8 +1.60 -0.79 25.40 12.70 550.06 -0.76 1727.9 _:;).1 4.37 563.9
600A 609.6 +1.60 -0.79 25.40 12.70 600.86 -0.76 1887.8 _:'1 4.37 614.7

SHURJOINT®



CSO (Combined Sewer Overflow)
Tunnel, WA, USA

Westside Regional Wastewater
Treatment Plant, BC, Canada

SHURJOINT®



PROJECT REFERENCE B SHURJOINT®

Incheon International Airport, Korea

Expansion project - Dubai Airport, UAE

SHURJOINT®



Edipower 800 — Power Plant, Italy

Fire protection line - Festival City, Dubai, UAE

SHURJOINT®



Model No. Page No.
49 e 24
55 oo, 36
(21 47
723 i, 42
726 oo 46
o o o N 32
o 0 A 35
(o 0 C T 35
7043 o 23
7A10/7B10 - 27
7TA11/7B11 ... 27
TA70/7B70....... 27
7A60/7B60 - 27
7TA20/7B20 ... 27
TA21/7B21....... 27
7A50/7B50.. 27
7A51/7B51........ 27

Model No.

Page No.

5 SHURJOINT®

Model No. Page No.

Model No. Page No.




M 1099UU0

i

Shurjoint Piping Products
4601 E. Cheyenne Ave., #105
Las Vegas, Nevada 89115

USA

Tel: 702-644-4492

Fax: 702-644-1091

Toll Free: 1-877-GROOVED
1-877-476-6833

E-mail: world@shurjoint.com

J

Shurjoint Piping Products

1380 Beverage Drive, Ste. P
Stone Mountain, GA 30083
USA

Tel: 770-817-0444

Fax: 770-817-0443

Toll Free: 1-877-880-6600

Shurjoint Piping Products
3 Ober Strasse ( P.O. Box 1038 )
Snoqualmie Pass, WA 98068
USA

Tel: 425-434-0080

Fax: 425-434-0081

Toll Free: 1-888-227-9695

L]

Shurjoint Piping Products
3F 130 Xinhu 3rd Rd. (Neihu)
Taipei, Taiwan

Tel: 886-2-279-279-29

Fax: 886-2-279-251-59

189g Y3 |3

Shurjoint Korea Co., Ltd.
251-1 Sangjeok-dong, Sujeong-gu
Sungnam-si, Gyeonggi-do

South Korea

Tel: 82-2-549-4446

Fax: 82-2-549-4406

N

Tel :(02)549-4446
Fax:(02)549-4406

www.shurjoint.co.kr

x 2 7I01230] 28 U 2 CIRRIS A ofzglo] WA 4 Usict

©Copyright 2008 Shurjoint

msssmmssse=sssss SHURJOINT PIPING PRODUCTS www.shurjoint.com



	11-shurjoint-TC-1.080518.PDF
	12-shurjoint-TC-1.000136.PDF
	13-20-shurjoint-TC-1.081345.PDF
	21-30shurjoint-TC-1.082950.PDF
	31-40-shurjoint-TC-1.085340.PDF
	41-shurjoint-TC-1.092518.PDF



